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IDENTIFICATION
PRODUCT CODE? MAINDEC=11=DFKACw=A=D
PRODUCT NAME: 11734 EIS INSTRUCTION TESTS
DATE CREATEDS DECEMBER 22, 1975
MAINTAINER: DIAGNOSTIC GROUP
AUTHOR: GLENN JOHNSON

COPYRIGHT (C) 1975
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASS,

THIS SOFTWARE IS FURNISHED UNDER A LICENSE FOR USE ONLY

ON A SINGLE COMPUTER SYSTEM AND MAY BE 'COPIED ONLY WITH
THE INCLUSION OF THE ABOVE COPYRIGHT NOTICE, THIS
SOFTWARE, OR ANY OTHER COPIES THEREOF, MAY NOT BE PROVIDED
OR OTHERWISE MADE AVAILABLE TO ANY OTHER PERSON EXCEPT

FOR USE ON SUCH SYSTEM AND TO ONE WHO AGREES TO THESE
LICENSE TERMS, TITLE TO AND OWNERSHIP OF THE SOFTWARE
SHALL AT ALL TIMES REMAIN IN DEC,

THE INFORMATION IN.THIS DOCUMENT IS SUBJECT TO CHANGE
WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED As A COMMITe
MENT BY DIGITAL EQUIPMENT CORPORTATION,

DEC ASSUMES N0 RESPONSIBILITY FOR THE USE OR RELIABILITY
OF ITS SOFTWARE ON EQUIPMENT WHICH Is NOT SUPPLIED BY
DEC, B
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163 1, ABSTRACT

124

125 THIS PROGRAM TESTS THE 11/34 EXTENDED INSTRUCTION SET
166 <ASH, ASHC, MpL, AND DIV> USING REGISTERS 0#=5 ATe
147 LEAST ONCE WITH EACH INSTRUCTION,

148 THE PROGRAM SHOULD BE RUN FOR

109 AT LEAST 2 PASSES wlTH ALL SWITCHES LOW, THE PROGRAM I§
110 DESIGMED TO RUN UNDER APT, AND ACT, SYSTEMS,

111 THIS PROGRAM IS A MODIFTCATION OF THE LSl-11 EIS TEST,
112 IT HAS BEEN MODTFTED TO ACCOUNT FOR ANY LSI=iy = 11/34 DIFFERENCES,
113

114

i1s

116

117

118 2, REQUIREMENTS

119

129

121

122 2,1 EQUIPMENT

123

124 11734 STANDARD COMPUTER

125 AND 4K OF MEMORY

126

127

128

129 2.2 STORAGE

i32

i31 PROGRAM STORAGE = THE ROUTINES USE MEMORY © = 17500
132

133

i34

i35 2,3 PRELIMINARY PROGRAMS

136

137 NONE

138

1339

140

141 3, LOADING PROCEDURE

142

143 USE STANDARD PROCEDURE FOR ABS TAPES,

144

145

146

147 4, STARTING PROCEDURE

148

149

154

151 4,1 CONTROL SWITCH SETTINGS

152

153 SEE 5,1 (ALL LOW FOR WORST CASE TESTING)

154

155

156

157 4,2 STARTING ADDRESS

158




DFKACA MACY11 3p(1246) @24=AUG=77 14399 PAGE ¢

DFKACA ,SRC 18=NOV=75 @3:00
159 AFTER LOADING THE PROGRAM IT SHOULD ALWAYS BE STARTED AT 209,
169 IF IT IS DESIRED TO SAVE THE PASS COUNTER THEN THE PROGRAM
iot SHOULD BE RESTARTED AT LOCATION RESTRT [I.,E, 222) OTHERWISE THE
162 PROGRAM CAN BE RESTARTED AT 200
163
164
165
166 4,3 PROGKAM AND/OR OPERATOR ACTION
167
168
169 4,3,1 STAND ALONE
170
171 1) LOAD PROGRAM INTO MEMORY USING ABS LOADER,
172 2) SET SWITCHES (SEE SEC 5,1) ALL LOW FOR WORST CASE,
173 3) STAFRT AT 2009,
174 4) THE PROGRAM WILL LOOP AND "END PASS"™ WILL BE TYPED AFTER
175 COMPLETION OF FIRST PASS AND EVERY 4TH PASS, HOWEVER TYPE
176 OUT WILL BE SUPPRESSED IF BIT 5 OF LOCATION SENVM IS HIGH
177 5) A MINIMUM OF TWO PASSES SHOULD ALWAYS BE RUN,
178
179 4,3,2 UNDER APT
189
181 LOAD THE PROGRAM AND START AFTER SETTING THE DESIRED SWITCHES
182 (SEE SEC, 5,1),
183
184
185 5, OPERATING PROCEDURE
i86
187
188
189 5S¢l SWITCH SETTINGS
19#
191 IF NO HARDWARE SWITCH REGISTER IS AVAILABLE, THE PROGRAM
192 AUTOMATICALLY USES THE CONTENTS OF LOC, 176 As THE SOFTIWARE
193 SWITCH PEGISTER, THE USER SHOULD SET THIS LOCATION BEFORE
194 STARTING THE PROGRAM,
195
196
197 BIT # OCTAL VALUE FUNCTION
198
199 15 10000% ¢ enso0ss0oae HALT ON ERROR
290 13 22000%, coepvvoncee INHIBIT PRINTOUT
201
202 AN 8 BIT BYTE SENVM [I.E, LOCATION 421) HAS BEEN USED TO DEFINE
263 THE OPERATING MODE, ALL TYPEOUTS CAN BE SUPPRESSED BY MAKING
204% BIT 5 OF BYTE $FENVM HIGH, IN OTHER WORDS BY PLCING A 20608 IN

205 . LOCATION 420
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296 5.2 SUBROUTINE ABSTRACTS
297
298
249
217 5.,2,1 HALT ROUTINE
211
212 THIS ROUTINE CALLED VIA JSR INSTRUCTION I§ USED EACH TIME
213 AN ERROR IS SEEN AND AN ERROR MESSAGE OF THE FORMAT GIVEN
214 IN SEC, 6,1 Is TYPED OUT UNLESS SUPRESSED BY THE SwITCHES
215 DEFINED IN SEC, 5,1
216
217
213 5,2,2 TRAP CATCHER
219
224 B " +2" = "HALT" SEQUENCE IS REPEATED FROM ¢=776 TO CATCH
221 ANY UNEXPECTED TRAPS, THUS ANY UNEXPECTED TRAPS OK
222 INTERRUPTS WILL HALT AT THE VECTOR +2,
223
224
225
226 0, ERRORS
227
228
229
239 6,1 ERROR PRINTOUT
231
232 THE FORMAT IS As FOLLOWS:
233
234 ADR ERRNM
235
236 WHERE ¢
237
238 ADR = ADDRESS OF ERROR
239 ERRNM = ERROR NUMBER
240 IN MOST CAsSEs THE COMMENT BESIDE THE CALL FOR HALT SUBROUTINE
2414 TELLS WHAT WAs REING CHECKED AND WHAT WAS EXPECTED, ALL
242 PRINTOUTS WILL BE SUPPRESSED WHEN BIT 5 OF LOCATION
243 $ENVM IS HIGH, WHILE RUNNING UNDER APT THE DIAGNOSTIC
244 WILL NOT SUPPORT SPOOLING OF CONSOLE OUTPUTS,
245
246
247
248 6,2 ERKROR RECOVERY
249
259 RESTART AT 200 OR 222 (SEE SEC 4,2)
251
252
253
254 Te RESTRICTIONS
255
256 NONE
257
258
259
269 8, MISCELLANEOUS
261
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262
263
264
265
266
267
268
269
279
271
272
273
274
275
276
277
278
279
282
281
282
283
284
285
286
287
288
289
292
291
292
293
294
295
296
297
298
299
300
E1731
392
343
304
3¢5
396
397
3v8
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EXECUTION TIME

NORMALLY FIRST "END PASS" WILL BE TYPED WITHIN i1 SECOND AND
WITHIN {p SECONDS FOR EVERY CONSECUTIVE 409 PASSES

STACK POINTER

STACK 1S INITTALLY SET TO €99

PASS COUNT

A 16 BIT LOCATION “SPASS" (I,E, LOCATION 496) IS USED TO KEEP
PASS COUNT, IT CAN BE CLEARED BY RESTARTING THE PROGRAM AT 200

TEST NUMBER

h 16 BIT LOCATION "STESTN®" (I,E, LOCATION 494) IS USED TO KEEP TRACK
OF THE TEST NyMBER, UPPER BYTE OF THIS LOCATION GIVES THE ITERATION
NUMBER AND THE LOWER BYTE THE TEST THAT WAS BEING EXECUTED

POWER FAIL

THE DIAGNOSTI¢ CAN BE POWER FAILED WITH NO ERRORS, TO USEs
START THE TEST AS USUAL AND POWER DOWN THEN Up AT ANY TIME,
THE PROGRAM SHOULD RESTART FROM TEST 9 AFTER TYPING v"pPOWERW®
wITH NO ERKRORS, HOWEVER IF THE PROGRAM Is STORED IN A MOS
MEMORY THAT CaN NOT HOLD DATA WITH POWER DOWN THEN THE PROGRAM
WILL NOT RECOVER FROM A POWER FAIL

PROGRAM DESCRIPTION

THIS PROGRAM TESTS ALL THE EIS INSTRUCTIONS OF THE 11/34

FOR ASH AND AsHC INSTRUCTIONS EVERY EVEN PASS IS EXECUTED
WITH DESTINATION MODE ¢ FOR ALL REGISTERS AND EVERY ODD PASS
WITH DESTINATION MQDE. OF §7, THE DIAGNOSTIC DOES NOT MAKE A
PASS WITH T BIT SET,
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310
It
312
313
14
315
316
"7
8
319
320
321
322
323
324
325
326
kY2l
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3289
329
330
33
332
333
334
335
336
337
338
339
340
341
342
343
344
345
346
347
348
349
350
L4 151
352
353
354
355
356
B 357
358
359
IEN
361
362
363

200046

£00052

290920
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000

301000
200846
©16356
202052
9900070
tA1992

8223004
200081
700051
030176
enaoel
[ Il
e1o701
g1a701
¢107p3
BA10pd
£92009
PY400d
#1000
poecos

200020
216624
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2ABS

«NLIST MD,MC,CND

WLIST ME

+TITLE DFKACA

3#COPYRIGHT (C) DECEMBER 1975

3#DIGITAL EQUIPMENT CORP,

J#MAYNARD, MASS, 91754

1A

3 #PROGRAM BY GLENN JOHNSON

A

3#THIS PROGRAM WAS ASSEMBLED USING THE PDPe1y MAINDEC SYSMAC
7#PACKAGE (MAINDEC={1«DZQAC=B1),AUG 29,1975,

113

$TNs1

$5WRm160000 3 JHALT ON EKRROR, LOOP ON TEST, INHIBIT ERROR TYPOUT

14389 PAGE 9

IAA 22 A SRR A e 2 L A R L I e eI R T2 sz szsey
250 $TRAP CATCHER ¢ = 776

JUBHB R U BB BRU RSB B R B U SRR R LR PR RN R R BB BBBIDEBRRRRE R BRI RS L DRRRR RSB
FREB AP E BB R BB R BB RGBS RSB R BB R R RB R BB R B RR RS FBBR BB PR R DRV DR F RN

«SBTTL, ACT11 HOOKS
yHOOKS REQUIRED BY ACTi1

68VPC=, ;s SAVE PC
846
;ENDAD 331)SET LOC,46 TOo ADDRESS OF SENDAD IN ,SEQP
0352
2 WORD ] 332)SET LOC,52 To ZERO
«388VPC ;3 RESTORE PC

DUMMY= @

ERRNMz 1

Fz 51

Nz 176

PCz %7

SPz %6

SCOPEz 147a1
SCOPE{= {0701
SCOPE3= 10703
S5Wo9= 1000

SWinz 2000
SWigs 4000
SWi2= 10000
TYPE=z 10T

»320
8TYPE
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364
365
366
367
368
369
37e
371
372
373
374
375
376
377
378
379
384
381
382
383
384
385
386
387
388
389
399
391
392
393
394
395
336
397
398
399
400
401
4v2
4923
404
425
406
407
408
409
419
411
412
413
414
415
416
4117
418
419

DFKACA
DFKACA

429
421
422
423
424
425
426
4217
428
429
430
431
432
433
434
435
436
437
438
439
440
441
442
443
444
445
446
447
448
449
4592
451
452
453
454
455
456
457
458
459
460
461
462
463
464
465

+SRC

200400
TTETT
nUG4N2
B00404
600406
BI0410
ROA412
Y0414
900416
0042y
©00420
£aRa21
200422
@A0424
008426

»AY430

yoev24

#o004d

»AN438
560439
ed0432
¥49434
3580436
232440
630442
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#490439
“83432
#00434
ededl6
999449
330442

800444
330446
%90459
700451
030452
2204514
V00456
300462
@30462
20R464
800466
227479
500472
000474
20416
»I0S0R
320502
200504
800506
990519
PODS512
Bo0514
2900522
60AS530
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fep4ne

(1Ll
[:LL14 14
690009
©A3300
200002
(Ll T1-1]
(Lo
300092

299
ap9o
608009
GBORYY
GoP0Bd

DI LD
8a0n24
229200
EILE]
PRB43D
300439

paoevo
»A84092
p200803
LL.I-DI'E]
p206200
©#opa14d

Eb2430

ACT1i HOOKS

=400
JHPEBREEARBLRERY

BHRRGH BRI R I RN I BRI BRI R BB R R R R R R SRR BB R BB RN

¢«SBTTL APT MAILBOX=ETABLE

JEVEN
SMAIL:
$MSGTY: ,WORD
SFATAL: ,WORD
STESTN: ,WORD
$PASS; ,WORD
8DEVCT: ,WORD
SUNIT; ,WORD
§MSGAD: ,WORD
§MSGLG3 ,WORD
$ETABLE;
SENVY  ,BYTE
SENVM; ,BYTE
§SWREG3 ,WORD
SUSWR; ,WORD
§CPUOP: ,WORD

SMEXIT

JHEEEBUNBRERRIAR

$3APT MAILBOX
AMSGTY j3MESSAGE TYPE CODE
AFATAL 33FATAL ERROR NUMBER
ATESTN 33 TEST NUMBER
APASS 3 1PASS COUNT
ADEVCT 33DEVICE COUNT
AUNIT 33170 UNIT NUMBER
AMSGAD ;;MESSAGE ADDRESS
AMSGLG ; tMESSAGE LENGTH
3 3APT ENVIRONMENT TABLE
AENV 3 JENVIRONMENT BYTE
AENVM 3 JENVIRONMENT MODE BITS
ASWREG j3;APT SWITCH REGISTER
AUSWR 3 jUSER SWITCHES
ACPUOP ;3CPU TYPE,OPTIONS
BITS 15=11sCPU TYPE
11/04201,11/05202,11/20203,11/40=04,11/45305
11/70=06,PD0=07,0%10
BIT 10=REAL TIME CLOCK
BIT 9=FLOATING POINT PROCESSOR
BIT 8=MEMORY MANAGEMENT

BEOH RGP R B RN BB R GE RO RN DGR P B RN PR B R B R PR R RS H BB BRI NN

«SBTTL APT PARAMETER BLOCK

$SET LOCATIONS 2
FEHBBA B HBER B
28X=,
%24

20v

244
$AFTHDR
o=e8X

4 AND 44 AS REQUIRED FOR APT
SERPP PP BB R RBR B RRB BRI PR R N BN W N RR
$3SAVE CURRENT LOCATION

$3SET POWER FAIL TO POINT TO START OF PROGRAM
$3FOR APT START UP

$3POINT TO APT INDIRECT ADDRESS PNTR,

$3POINT TO APT HEADER BLOCK

: JRESET LOCATION COUNTER

R R et e L s T e
;SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=PDP1i DIAGNOSTIC

; INTERFACE SPEC,

SAPTHD$

SHIBTS: ,WORD
§MBADR; ,WORD
§TSTM; ,WORD
§PASTM; ,WORD
SUNITM; ,WORD

+38APTHD

24=AUG=77 143149 PAGE 11
APT PARARMETER BLOCK
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noB432
?22434
¥ne436
#2044
PUR4s?

300444
c00009
$000eA

000

[-1'1)
290007
177771
099454
177772
177777
840922
000464
240000
177776
290002
080474
$po000n2
177570
1775790
090064
177566
177564
005015
pR6412
ane122

020040 ©00V4D
247520 942527

0 $3TWO HIGH BITS OF 18 BIT MAILBOX ADDR,
SMAIL ;3 ADDRESS OF APT MAILBOX (BITS 0=15)
3 $3RUN TIM OF LONGEST TEST
5 $3RUN TIME IN SECS, OF 1ST PASS ON § UNIT (QUICK VERIFY)
33 ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
SETEND=§MAIL/2 ;;LENGTH MAILBOX-ETABLE(WORDS)

COUNTg

.@COUNT+2
PSWORD:

»8PSWORD¢2
TEMPY s

sBTEMP1+42
TEMP2:

L2TEMP242
TEMP3s

2ETEMP3+2
TEMP4

+2TEMP4+2

TEMPS3 ,WORD
TEMPG: ,WORD
TYPCNT: ,BYTE
STPCNT: ,BYTE

5013 7

513 L)
523 st
S3: =6
S4: -
55¢ 40000
S6% 55
572 40000
s8¢ =2
593 2
5103 89
S113 2
SWR3 1775790
DISPLAY}
TTYOUT: 64

§TPB: 177566
§TPS; 177564
§CRLF; ,ASCIZ
POWER: ,ASCIZ

177570

<15><12>/ /
<12><15>/POWER/
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466 LLIXTE] 25200
467 00200 012737 016418 peeA24 MoV #SPWRDN, @#24 ;PREPARE TO SERVICE POWER DOWN ROUTINE
468 200206 P12720 00p4le MOV ¥8DEVCT,RA ;PREPARE TO INITIALIZE THE STACK
469 @e2212 HAS04R 283 CLR =(R@)
472 pad214 D22700 PRQR40Q cMP ¥SMAIL, RO
471 200220 61374 BNE 28
472 G3v222 240167 900352 RESTRTt JMP BEGIN
473
474 w2649 23600
475
476 20600 (12705 000404 BEGIN: MOV ¥8TESTN, RS ;MAKE RS POINT TO THE LOCATION $TESTN
477 000604  QRSA3T 600430 CLR @#COUNT sCLEAR THE COUNTER
478 209612 212715 p0REAL MOV #1,(R5) sINITIALIZE TEST NUMBER
419 30614 p12706 ©00600 mov #BEGIN, SP ;## STACK AT BEGIN ww
480 122629 p13746 Q00A04 MOV @#4,=(SP) ;3SAVE ERROR VECTOR
481 300624 p13746 00VV06 MoV @46, (SP)
482 942639 512767 @00644 177146 MOV #16,4 :3SET UP TIME QUT VECTOR
483 ndv636 WuS777 177640 TST RSWR ;3TRY TO REFERENCE HARDWARE SWR
484 $00642 pansn? BR 38 ;3BRANCH IF NO TIMEOUT TRAP OCCURS
485  vap644 12767 900176 177630 183 MoV #SWREG, SWR ;3POINT TO SOFTWARE SWR
486 w0652 612767 000174 177624 MoV #DISPREG,DISPLAY ;yPOINT TO SOFTWARE DISPLAY REG
487 ;2066D 022626 cMp (SP)+,(SP)+ ; tRESTORE STACK

L 488 230662 #12637 000206 383 MoV (SP)+,886 ; sRESTORE ERROR VECTOR
499 900666 012637 P00004 MOV (SP)+,R44
499 ¢AR672 196427 n0POH0Q MTPS 2 ;PLACE #0 IN PSW
491 wov676 132737 @N0PV1  GOP4E20 BITB #1,R8SENY sARE WE UNDER APT ?
192 240704 p91423 BEQ 28 ;IF NOT THEN GO TO 28§
493 4avp706 212767 29P422 177566 MoV #$SWREG, SWR ;USE APT SWITCH REGISTER

- 494 208714 $12737 002081 020434 283 MoV #1,04TEMPY ; TEMP1=1
495 900722 $a5037 w0436 CLR e#TEMP2 EMP2z0
196 230726 12737 090001 PABI4Y MOV #1,0#TEMP3 ; TEMP3=)
497 ©aw134  av5237 povdd2 CLR @#TEMDY ; TEMP4=0
438
499
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DFKACA,SRC 18=N0OVeT75 ¥3:100 ASH INSTRUCTION TESTS
Sed
591 JRUBB PRGN BUR R BB BBB S BB R BB BB PR BY
592 ] ASH INSTRUCTION TESTS
503 P L e e e s 2 e T
504
5905
506
597
508 IETI2 22222123
599 3 TESTS 1=36
519 FUBNBBRBRBNNR
511
512
513 pud749 618701 START: SCOPE1
514 990742 13790 00434 MoV @¥TEMPY, %0 ;LOAD R@ WITH THE CONTENTS OF TEMP{
515 #42746 632737 09001 BUQ406 BIT #1,R#¢PASS ;IS IT AN EVEN PASS ?
516 540754 pA1004 BNE 28 F NOT THEN GO TO 2%
517 232756 013791 000436 MOV @#TEMP2,R1 ;OTHERWISE EXECUTE THE INSTRUCTION
518 ;IN MODE @ USING Ri
519 300762 72001 ASH R1,R0O
520 w9Al64 (PG4Q2 BR 48
521 490766 N72067 177444 283 ASH TEMP2,%0 ;SHIFT R¢ BY THE NUMBER SPECIFIED BY TEMP2
7 522 (198772 106737 90432 4se MFPS @¥PSWORD ;SAVE PS
523 24776 123737 n0v442 090432 cMpPB @#TEMP4,@#PSWORD; IS THE PS = TEMP4 ?
524 @81404 (91423 BEQ a+10
525 @31006 nd4767 15426 JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
526 ;THE PS IS NOT EQUAL TO @
527 $01912 209001 1
p 528 441014 ¢85237 p0e43a INC @H¥COUNT 3 INCREMENT THE COUNTER
- 529 £a1020 023702 p0ed4s CMP @#TEMP3,%0 ;I8 THE RESULT IN R¢ EQUAL TO TEMP3?
530 ¢d1024 01403 BEQ 2410
531 901026 681
532 M91026 pB4767 15406 JSR PCoSHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
533 sEITHER INCORRECT R¢ OR INCORRECT SEQUENCE
534 1221932 992002 2
535 291034 221537 400430 CMP (R5),@#COUNT ;IS THE TEST NUMBER EQUAL TO THE
536 ;COUNTER?
537 po1e40 901372 BNE 68 ;IF NOT GO TO THE HLT ABOVE
538 (01842 poS215 INC (R5)
539 01044 310701 SCOPE1
542 21046 021527 00037 cMp (R5),#37 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT
5414 sBY 14, AND RIGHT BY 14,7
542 201952 992011 BGE 8s
543 81054 Be5237 000436 INC @#TEMP2
544 @01060 PP6367 177354 ASL TEMP3 ;SHIFT TEMP3 LEFT,
545 021064 821527 000020 CcMP (RS),#20 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14,?
546 291070 901004 BNE REGH
547 @31072 p22167 V0764 JMp NEGAT ;IF S0 GO TO NEGAT AND INITIATE RIGHT SHIFT
548 291976 pO4767 PO10V6 881 JSR PC,TST37 ;sIF SO GO AND CONTINUE THE REST OF THE PROGRAM
549 201102 618703 REG13 SCOPE3
550 81104 p13701 0220434 MOV @8TEMPY, %1 3;LOAD R1 WITH THE CONTENTS OF TEMP}
551 901112 932737 000001 @70406 BIT #1,048PASS ;I8 1T AN EVEN PASS ?
552 001116 pa10g4é BNE 28 ;IF NOT THEN GO TO 2
553 221120 513792 000436 MOV @#TEMP2,R2 ;OTHERWISE EXECUTE ASH INSTRUCTION IN MODE g
554 @91124 872192 ASH R2,R} 3USING Ry

555 981126 200492 BR 4s
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6ul
602
603
694
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606
607
628
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619
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612
613
614
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617
618
619
629
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624
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626
6217
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629
634
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201132
801134
601142
831146
9011350

Do1154
Vo1156
821162
Pa1166
201179
ao1170

991174
991176
081202
£91204
391206
©01210

091214
701216
©01222
£a1226
831232
221234
©31240
£21244
vv1246
”N1252
co1262
321262
201266
#01270
791272
¥31276
@01322
291310
301312

791316
991320
$31324
201330
ne1332
£91332

¥wo1336
#1340
691344
91346
91354
¥21352

w1356
#91360

MACY1Y
oSRC

801364
n31372
$91374
921376
za1402
221406
441412
201414
#91422
$21424
291430
%41432
991434
091140
»H1444
39014352
a01454

£01460
321462
#1466
001472
#1474
nY1474

691500
801592
MA1506
»o1510
fd1512
701514

201520
PA1522
01526
na1532
001536
731540
01542
w1546
791550
pO1554
001556
#01564
0801566
»A1572
031574
"e1576
Po1602
001606
001614
po1616

”91622
#01624
PA1630
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972167
106737
1123737
891403
ne4767

290023
p¥5237
0823701
vo1403

824767

#oR0O4
»21537
pe1372
385215
310703
©v21527

ga2011
205237
996367
221527
221004
009167
wh4eTe7
10701
$13792
532737
501004
¢13763
n72203
82402
$72267
1067317
123737
$91403
pd4767

340095
#a5237
423702
pa1de3

¥o4767

rUG0Y6
©¥21537
221372
¥o5215
slaTot
221527

072811
005237

3(1046)
18=NQVeT5

©¥06367
621527
Be14n4
2008167
¥a4767
31271
$13793
©¥32737
001304
$13724
272304
820402
872367
126737
123737
901423
gd4767

ooovR7
pa5237
823703
291403

204767

500010
21537
601372
pas215
g1a701
621527

0622010
¥d5237
006367
221527
201003
po9550
204767
210723
013724
10501
232737
901004
g13705
072405
pon402
072467
106737
123737
pn1403
po4767

00011
p05237
g23704

@4=AUG=77 143199 PAGE 14
20100 ASH INSTRUCTION TESTS
177302 283 ASH TEMP2, %1 §SHIFT R1 BY THE NUMBER SPECIFIED BY TEMP2
peedd2 481 MFPS @#PSWORD $SAVE PS
000442 000432 CMPB @#TEMP4,@¥PSWORD;15 THE PS = TEMP4 ?
BEGQ 2 +10
915264 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
sTHE PS IS NOT EQUAL T0 ¢
3
290430 INC @#COUNT ; INCREMENT THE COUNTER
P0B440 CcMp @#TEMP3, %1 315 THE RESULT IN RI EQUAL TO TEMP3?
BEQ W +10
681
¢15244 JSR PCySHLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
sEITHER INCORRECT R1 OR INCORRECT SEQUENCE
4
Vo430 CcMP (R5),R#COUNT ;1S THE TEST NUMBER EQUAL TO THE COUNTER?
BNE 68 ;IF NOT GO TO THE HLT ABOVE
INC (RS)
8COPE3
"0eB37 cMp (RS),#37 ;HAS THE CONTENTs OF REGISTERS BEEN SHIFTED LEFT
;BY 14, AND RIGHT BY 14,7
BGE 8s
790436 INC @H#TEMP2
177212 ASL TEMP3 ;SHIFT TEMP3 LEFT
©¥ANe20 cMp (R5),420 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14,7
BNE REG2
009622 JMP NEGAT ;IF 50 GO TO NEGAT AND INITIATE RIGHT SHIFT
299644 881 JSR PC,TST37 sIF SO GO AND CONTINUE THE REST OF THE PROGRAM
REG23  SCOPE}
090434 MOV @¥TEMP1,%2 ;LOAD R2 WITH THE CONTENTS OF TEMP1
920081 0PR3A6 BIT #1,PEgPASS ;IS 1T AN EVEN PASS ?
BNE 28 ;IF NOT THEN GO TO 28
#08436 MOV @#TEMP2,R3 ;OTHERWISE EXECUTE ASH INSTRUCTION IN MODE o
ASH R3,R2 sUSING R2
BR 48
177140 281 ASH TEMP2, %2 ;SHIFT R2 BY THE NUMBER SPECIFIED BY TEMP2
@nn432 481 MFPS 2#PSWORD
090442 000432 CMPB @R#TEMP4,R@¥pPSWORD;IS THE PS = TEMP4 ?
BEQ o410
015122 JSR PC, $HLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
sTHE PS IS NOT EQUAL TO o
5
020439 INC RECOUNT
200440 CcMp R4TEMP3, 32 ;1S THE RESULT IN R2 EQUAL TO TEMP3?
BEG 410
681
6151062 JSR PCySHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;EITHER INCORRECT R2 OR INCORRECT SEQUENCE
6
¥90Y439 CMP (R5),a#COUNT ;18 THE TEST NUMBER EQUAL TO THE COUNTER?
BNE 68 ;IF NOT GO TO THE HLT ABOVE
INC (R5)
SCOPE1
220037 cMp (RS),#37 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
;LEFT BY 14, AND RIGHT BY 14,7
BGE 88
790436 INC @3 TEMP2
24°AUG=77 14199 PAGE 15
00100 ASH INSTRUCTION TESTS
177050 ASL TEMP3 ;SHIFTED TEMP3 LEFT
nee029 cMP (RS), 420 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14,7
BNE REG3
AN0460 Jmup NEGAT ;IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
000502 881 JSR PC,TST37 ;IF SO GO AND CONTINUE THE REST OF THE PROGRAM
REG33 SCOPEY ’
000434 MOV @#TEMP1,%3 ;LOAD R3 WITH THE CONTENTS OF TEMP1
000021 PR0V406 BIT #1,9#8PASS sIS IT AN EVEN PASS ?
BNE 28 ;IF NOT THEN GO TO 28
000436 MoV e#TEMP2,R4 ;OTHERWISE EXECUTE ASH INSTRUCTION IN MODE o
ASH R4,R3 ;USING R3
BR 48
176776 281 ASH TEMP2,%3 sSHIFT R3 BY THE NUMBER SPECIFIED BY TEMP2
020432 461 MFPS e4#PSWORD ;SAVE PS
000442 ¢0VO432 cMPB @4#TEMP4,B8#PSWORD;IS THE PS = TEMP4 ?
BEQ o +10
714760 JSR PC, SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
sTHE PS 1S NOT EQUAL TO @,
7
000430 INC @#COUNT
¥oe 440 CMpP @#TEMP3, %3 315 THE RESULT IN R3 EQUAL TO TEMP3?
BEQ o +10
683
V14749 JSR PCy $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
sEITHER INCORRECT R3 OR INCORRECT SEQUENCE
10
0909430 CMP (R5),@#COUNT ;1S THE TEST NUMBER EQUAL TO THE COUNTER?
BNE 68 sIF NOT GO TO THE HLT ABOVE
INC (RS)
SCOPE1
000037 CcMpP (R5),437 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
;LEFT BY 14, AND RIGHT BY 14,7
BGE 88
000436 INC @#TEMP2
176706 ASL TEMP3 ;SHIFT TEMP3 LEFT?
#ne020 CMP (RS),#20 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14,7
BNE REG4
BR NEGAT 3IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
00342 881 JSR PC,T8T37 ;IF SO GO AND CONTINUE THE REST OF THE PROGRAM
REG43 SCOPE3
#00434 MOV @¥TEMP1,%4 ;LOAD R4 WITH THE CONTENTS OF TEMPi
MOV RS,R1 3SAVE RS
@00001 pOP406 BIT #1,A88PASS 318 IT AN EVEN PASS ?
BNE 28 sIF NOT THEN GC TO 28
000436 MoV @#TEMP2,RS ;OTHERWISE EXECUTE ASH INSTRUCTION IN MODE o
ASH RS, R4 sUSING R4
BR 45
176634 281 ASH TEMP2, %4 $SHIFT R4 BY THE NUMBER SPECIFIED BY TEMP2
000432 483 MFPS @4#PSWORD ;SAVE PS
P00442 002432 CMPB @#TEMP4,@4PSWORD; IS PS = TEMP4 ?
BEQ o410
©14616 JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
$THE PS IS NOT EQUAL TO ¢
11
000430 INC @#COUNT
000440 cMp 84 TEMPI, %4 ;158 THE RESULT IN R4 EQUAL TO TEMP3?




DFRACA MACY{1 3P(1046) 04=AUG=77 14199 PAGE 16

DFKACA,SRC 18=NOV=T75 00100 ASH INSTRUCTION TESTS
668 201634 po1403 BEQ o410
669 901636 683
674 6ui636 NO4767 014576 JSR PCy $HLT 3SEEN AN ERROR; GO TO TH HALT ROUTINE
671 sEITHER INCORRECT R4 OR INCORRECT SEQUENCE
672 #31642 popo12 12
673 ©31644 710103 MOV Ri,RS JRESTORE RS
674 (21646 P21537 p0A43Y cMp (R5),8#COUNT 318 THE TEST NUMBER EQUAL TO THE COUNTER?
675 ©91652 201371 BNE 68 j1F NOT GO TO THE HLT ABOVE
676 ©01654 925215 INC (RS)
677 221636 p1a703 8COPE!
678 01660 p21527 00Q037 cHp (RS, 437 ;HAS THE CONTENTS OF REGISTERS BEEN
679 sSHIFTED LEFT BY 14, AND RIGHT BY 34,7
682 301664 po2010 BGE 8s
681 21666 085237 000436 INC @#TEMP2
682 931672 pA6367 176542 ASL TEMP) $SHIFT TEMP3 LEFT
683 31676 021527 (@0RB20 CMp (R§), %20 $HAS THE CONTENTS OF REGISTER BEEN SHIFTED BY 14,7
684 ©241702 901033 BNE REGS
68% 9u1704 202466 BR NEGAT sIF 80 GO TO NEGAT AND INITIATE RIGHT SBHIFT
686 231706 004767 000176 881 JSR PC,T8T37 sIF 50 GO AND CONTINUE THE REST OF THE PROGRAM
687 021712 p1aten REGSs SCOPE}
688 91714 2310501 MOV RS, R{ 3 BAVE RS
689 ©91716 13795 000434 MOV @F#TEMPL, %5 ;LOAD RS WITH THE CONTENTS OF TEMPi
- 690 ¢81722 p32737 00001 PVB4A6 BIT #1,PH#gPASS 318 IT AN EVEN PASS ?
691 201732 po1004 BNE 28 ;IF NOT THEN GO TO 28
692 321732 013700 @0W436 MoV @#TEMP2,R0 3JOTHERWISE EXECUTE ASH INSTRUCTION IN MODE ¢
633 291736 p72%509 ASH R@,RS $USING RS
694 £0174a 290402 BR 48
695 201742 72567 176470 281 ASH TEMP2, 48 ;8HIFT RS BY THE NUMBER SPECIFIED BY TEMP2
. 696 wd1746 106737 ©00432 [12] MFP§S @4PSWORD 3 SAVE PS
697 921752 123737 000442 pY0432 CMPB @#TEMP4,0#PSWORD; 15 PS B TEMP4 ?
698 201760 001443 BEQ o +10
699 £231762 pD4767 114452 JSR PC, SHLT §SEEN AN ERROR, GO TO TH HALT ROUTINE
790 $THE PS 18 NOT EQUAL TO 0,
701 291766 DPURYY3 13
702 021770 p¥5237 A0@43e INC @#COUNT
703 891774 ©237p5 pop4sde cup @4TEMP3, %5 318 THE RESULT IN R5 EQUAL TO TEMP3?
o 784 02000 Po1403 BEQ L+10
: 705 292022 681
746 (342002 0NP4767 914432 JSR PCySHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
7417 sEITHER INCORRECT RS OR INCORRECT SEQUENCE
T98 242006 pPded14d 14
709 ©02010 n21137 »ee430 cMP (R1),a#COUNT ;18 THE TEST NUMBER EQUAL TO THE COUNTER?
718 222014 081372 BNE 68 sIF NOT GO TO THE HLT ABOVE
711 22016 19105 MOV R1,R5 $RESTORE RS
712 022020 pa5215 INC (RS)
713 122022 @12701 SCOPEYL
714 242024 421527 v0eu37 cMp (R5),#37 yHAS THE CONTENTS OF REGISTERS BEEN SHIFTED
715 $LEFT BY 14, AND RIGHT BY 14,?
716 ©82030 pA2012 BGE 88 sIF 80 GO AND CONTINUE THE REST OF THE PROGRAM
717 £42032 2385237 000436 INC @$TEMP2
718  ¢ov2036 046367 176376 ASL TEMP) ;SHIFT TEMP3 LEFT
719 992442 p21527 pRAPA29 cMp (RS), 820 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14,7
728 392046  @d1495 BEQ NEGAT 3IF S0 GO TO NEGAT AND INITIATE RIGHT SHIFT
721 722950 ¢dndn2 BR 108
722 #22052 9904767 p0PO32 883 JSR PC,TST37
723 922056 AI0167 176656 1083 JMP START GO BACK TO START

DFKACA MACY11 33(1046) 94-AUG=77 14109 PAGE 17

DFKACA,SRC 18=NOV=75 AA120 ASH INSTRUCTION TESTS

729 982062 912737 040002 00@434 NEGAT: MOV #40000,98TEMP1 ;TEMP1340000
725 982070 @12737 177762 Re436 MOV ¥177762,04TENP2 ;TEMP28177762
726 382076 12737 40RVA1 AOR44N MOV ¥1,@8TEMP3 ;TEMP3ay
721 £32104 ¢00167 176630 JMp START
728 £22110 p21527 ©00037 TST37: CMP (RS),#37 318 IT TEST 377
729 AB2114 pa101d BNE TST40 sIF NOT THEN TRY TEST 40
739 0902116 025237 000434 CLR @#TEMPY ;0
731 302122 #12737 000020 000436 MOV ¥16,/A¥TEMP2 ;SHIFTED BY 16
732 902138 935037 000449 CLR @HTEMP3 ;1830
733 $22134 912737 @000R4 000442 MOV 14,R4TEMP4 ;AND PSm4
734 0082142 0802207 RTS PC
735 #02144 021527 ¢0004P TST40: CMP (R5), 240 ;I8 IT TEST 407
736 ©92158 05310083 BNE TST41 sIF NOT THEN TRY TEST 41
737 ©92152 $9%5037 #00436 CLR @#TEMP2 30 SHIFTED BY @m@ AND PS=4
738 202156 £0A207 RTS PC
739 ¢92160 21527 @00041 TST41s CMP (RS), 441 ;I8 IT TEST 417
744 wP2164 BA1004 BNE TST42 sIF NOT THEN TRY TEST 42
741 002166 1812737 177760 900436 MOV #=16,,04TEMP2 ;0 SHIFTED BY 16,30 AND PSm4
742 $42174 ph2207 RTS pC
743 po2176 121527 #0042 TST421 CMP (R5), 442 ;18 IT TEST 427
744 92202 pa1013 BNE TST43 ;IF NOT THEN TRY TEST 43
745 192204 ©12737 100000 002434 MOV #100000, @ TEMP] ;100000

» 746 142212 05237 900436 INC @H#TEMP2 3SHIFTED BY «15
747 #092216 95337 020440 DEC P#TEMP3 ;18mey
748 ©©2222 912737 000018 000442 MOV #10,9¢TEMP4 $AND PSm10
749 0082230 999207 RTS pC
750 382232 521527 @00043 TST43: CMP (RS), #43 ;I8 IT TEST 437
751 992236 ©@U1012 BNE TST44 s IF NOT THEN IF NOT THEN TRY TEST 44
752 ©92240 12737 125252 0Ap434 MoV #125252,04TEMPY ;125252

- 753 @v2246 912737 177777 000436 MOV $+1,04TENP? $SHIFTED BY =f
754 702254 012737 152525 000440 MOV 4152525, 04 TEMP3 ;152182525 AND Pssio
755 92262 pCe207 RTS PC
756 502264 21527 000044 TST441 CMP (R5),#44 s18 IT TEST 447
7157 02273 001012 BNE T8T4S ;IF NOT THEN TRY TEST 45
758 ©32272 012737 00001 PUB436 MoV #1, Q8 TEMP2 3125252 SHIFTED BY g
759 @02302 12737 52524 000440 MoV ¥52524,0#TEMP3 ;15252524
760 6023056 912737 #0003 000442 MOV #3,0#TEMP4 ;AND P8=3
761 002314 pup207 RTS PC
762 0d2316 921527 000045 TST453 CMP (R5), #45 ;18 IT TEST 457
763 082322 ©0A1012 BNE TST46 3IF NOT THEN TRY TEST 46
764 ©02324 912737 177776 000436 MoV #22,08TEMP2 3125252 SHIFTED BY =2
765 102332 212737 165252 000440 MoV 1165252, @4 TEMP3 ;183165252
766 992340 0812737 000v11 000442 MOV #11,08TEMPS4 $AND PS=iq
767 ¢d2346 308207 RTS PC
768 292350 921527 ¢00046 TST463 CMP (RS), 346 316 IT TEST 467
769 2023%4 @P1014 BNE TST47 $IF NOT THEN TRY TEST 47
770 02356 812737 177777 099434 MOV #=1,04TEMPY =1
771 @92364 912737 000020 0OB436 MOV $16,/04 TEMP2 ;SHIFTED BY 18,
772 922372 985037 00p440 CLR #TEMPI ;1830
7173 292376 212737 080807 V00442 MOV #7,04TEMP4 $AND PS=7
774 002404 0AB287 RTS PC
775 282406 21527 000047 TST47; CMP (RS), 447 ;158 1T TEST 477
776 292412 po1011 BNE TST50 $1F NOT THEN TRY TEST 50
777 902414 985337 000436 DEC P#TEMP2 s=1 SHIFTED BY 15
778  £02420 812737 100002 0AY440Q MOV $#100000,99TEMP3 ;152100000

7719 ©32426 012737 900011 POO442 MOV #11,04TEMP4 3sAND PS=iy



DFKACA MACY1d§
DFKACA;SRC
780 902434
781 202436
782 @92442
783 902444
784 p92452
785 @92460
786 9232462
787 #02466
788  @02470
789
798 832474
791
792 022476
793 £02500@
794 302504
795 @22510
DFKACA MACY11
DFKACA ,SRC
796
797
798
799
829 32514
841 §22516
802 02522
863 902526
B4 392532
825 892549
896 ©¥22542
807
898 @02546
809 82552
810 ©22554
811 B22556
812 292356
813
814 092562
815 ©£22564
816 802570
817 902372
818
819
820
821
822
823
824
825 ©02574
A26 22576
827 992602
828 pB2606
829 002612
832 902620
831 02622
832
833 02626
834 892630
835 502634
836 302636
837 ©02636
838
839 5092642
840 002644
841 pY26502
842 202652
843
844

845

PC

(RS),#50
ENTS1
#137777,087
#13,R4TEMPY
PC

(R5),451
o410

PC, $HLT

(SP)+

#7,%4
#51,%2
#52,%3

;1S 1T TEST 50
;IF NOT THEN TRY TEST 51

EMP1 ;137777 SHIFTED BY 15, 152100000
;AND PSz13

;IS IT ENTERING TEST 517
s SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST NUMBER GOOFED

;RESTORE STACK POINTER

IAAA SRR AR 22 2 2 R R R R R E L e g e e R s e Ity

ASH

125252 SHIFTED BY #5 = 52500 PS = 3

PE AR RS PR PRSP R BB P BB S B E B RS BRRRD DD B R R R BB SRR BB RN R RRE B R BB RN R R0

#125252,%1
#5,%1
Q#PSWORD
#3,08#PSWORD
2410

PC, SHLT

152500, %1
2410

PCySHLT

(R5), 451
18
(RS)

#LOAD R1 WITH 125252
$SHIFT Ry BY #5
:SAVE PS

;1S THE PS 37

;SEEN AN ERROR, GO TO TH HALT ROUTINE
sTHE PS IS NOT EQUAL TO 3

31S THE RESULT 525017
;SEEN AN ERROR, GO TO TH HALT ROUTINE
;R1 IS NOT EQUAL TO 52500 OR INCORRECT SEQUENCE

;15 STESTN = #51
;IF NOT THEN GO TO HLT ABOVE

FRHAUBBR DR AR R RN R B SR U R D R R R R IR RN R BB BB R RN R BB RR R BB RS R U AR R R BB NS

A8y

125252 SHIFTED BY @82 = 177525 PS = @

PR RN RN R R SRR R RS R R SRR R RN TR R RSB R IR R B R B BB R BB BB PR R P B RBERH R R BB RR RS

#125252,%0
852,%0
@4PSWORD

;LOAD R@ WITH 125252
;SHIFT Rp BY @52
$SAVE PS

#10,@4PSWORD 3Is THE PS 107

o410
PC, 8HLT

#177525,%0
++10

PCsSHLT

(RS),#52
18

39(1046) ©04=AUG=77 14199 PAGE 18
18=NOVeT5 003100 ASH INSTRUCTION TESTS
p00207 RTS
21527 00Y050 TST50: CMP
291007 BNE
812737 137777 000434 MoV
12737 000013 0pp442 MOV
600207 RTS
821527 000051 ENTSy; CMP
801403 BEQ
894767 013744 JSR
990015 15
poS5726 TST
#12794 177771 MoV
#12782 000454 MOV
P12723  AYY456 MoV
33(1046) 04=AUG=77 14199 PAGE 19
18=N0V=75 po300 ASH INSTRUCTION TESTS
3JTEST51 11734
219701 TST51: SCOPE1
912701 125252 MoV
872127 000005 ASH
126737 A0p432 MFPS
122737 499003 900432 cMpB
01403 BEQ
824767 013672 JSR
290016 16
622701 52500 cMP
BY1403 BEQ
182
024767 013656 JSR
200017 17
821527 00EO51 cMP
801372 BNE
905215 INC
;TEST:52 11734
plo701 TST52: SCOPEl
912790 125252 MOV
872077 175659 ASH
196737 900432 MFPS
122737 @0001n ©@00A432 CMPB
801403 BEQ
904767 013612 JSR
8009020 20
822700 177525 cMP
01403 BEQ
183
pe4767 013576 JSR
200021 21
921527 000052 CMP
p01372 BNE
pA5215 INC

(RS)

3SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 10

sIS THE RESULT 1775257
38EEN AN ERROR, GO TO TH HALT ROUTINE
sRp 18 NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

3IS STESTN = #52
3IF NOT THEN GO TO HLT ABOVE




DFKACA
DFKACA

846
847
848
r49
859
851
A52
853
854
RSS
856
857
A58
859
860
861
862
863
864
865
666
867
668
869
879
871
R72
873
874
ATS
876
817
B8
R79
A8y
set
882
883
se4
485
RE6
8817
888
RE9
f92
891
892
893
894
895

5
:

DFKACA
DFKACA

A96
897
R98
899
9ud
991
902
993
924
995
226
907
908
999
910
911t
912
913
914
915
916
917
918
919
922
921
922
923
924
925
926
927
928
929
939
931
932
933
934
935
936
937
938
939
949
941
942
943
944
945

MACY11
«SRC

$32654
#02656
332662
B22666
#32672
892700
092702

ne2726
$02719
302714
Q92716
¥yi2716

292722
ca2724
0232730
402732

¢o2734
ua2736
3927472
»d2744
2482759
»32756
n32760

©42764
£82766
2321772
$#22774
122774

303000
893092
©A30p6
%9331

MACY11
+SRC

@083v12
$93014
3930820
083022
$03026
23034
$#93936

393042
193044
203959
©¥a3252
©03452

003056
nI3060
203064
323266

293270
293072
23076
nallea
203104
Vo3112
w3114

893120
993122
V93126
¥o3130
223130

e93134
623136
7903142
003144

3p(1046)
18=N0VeT5

v1o701
p12700
272037
106737
122737
081403
po467

900922
922709
$01493

©¥a4767

890023
p21527
31372
605215

#1271
2812732
p72212
106737
122737
pa1403
994767

0090024
822722
201403

904767

320025
n21527
ga1372
©35215

3a(1246)
18+NOVe?5

p1d701
312700
872022
106737
122737
¥31403
684767

PIN026
©w227p9
pA14p3

pa4ar67

p2027
»21527
01372
005215

g1o701
n2790
p72042
196737
122737
991403
224767

200039
922700
301493

bd4767

600031
¥21527
201372
MBS215

R e R A a s S s is sl

ASH

125252 SHIFTED BY @#S1 = 177525 PS = 10

R e e e L S e e st

#125252,%0 ;LOAD RO WITH 125252

Q151,30 sSHIFT Ry BY @#S51

@#PSWORD $SAVE PS

#10,8%¥PSWORD ;IS8 THE PS 107

+10

5C,3HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 10

#177525,%0 ;18 THE RESULT 1775257

410

PCySHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

(R5),#53
18

(R5)

;R@ IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

3158 STESTN = #53
;IF NOT THEN GO TO HLT ABOVE

R T L e e s L I S 2 e e s itd s

ASH

125252 SHIFTED BY (2) = 177525 PS = 10

THEBEHB R IR R BN R PR R B SRR NGB I I U

#125252,%0 ;LOAD Ro WITH 125252

(2),%0 ;SHIFT RO BY (2)

@4#PSWORD ;SAVE PS

#10,@4PSWORD ;Is THE PS 107?

+10

EC,GHLI ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3THE PS IS NOT EQUAL TO i@

#177525,%0 3IS THE RESULT 17752572

2410

PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;R0 IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

(R5),#54 ;18 STESTN = #54

18 ;TF NOT THEN GO TO HLT ABOVE

(R5)

IR e e e e e IR S el elsd)

ASu

125252 SHIFTED BY (2)+ = 177525 PS = ¥

R R R T e e e T e el ssdsdd

1125252, %0 ;LOAD R@ WITH 125252
(2)+,%0 ;SHIFT RO BY (2)+
##PSHORD $SAVE ps
$10,@4PSHORD ;IS THE PS 107
+10
PC, SHLT ;SEEN AN ERROR, GO IO TH HALT ROUTINE
JTHE PS IS NOT EQUAL 10 10
¥177525,%0 ;1S THE RESULT 1775257
o t10
PC, SHLT }SEEN AN ERROR, GO TO TH HALT ROUTINE
;Ro IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(RS), 455 ;1S STESTN = 455
15 s IF NOT THEN GO TO HLT ABOVE
(RS)

ST A I I W RN RN

ASH

125252 SHIFTED BY =(2) = 177525 PS = 10

SR I 00 003000 0303006 3000 00 300 0 A 060 30 0630000 000 3030 306 00 30 36 30 0 3030 30 00 30 3030 30 00 3030 3 30 00 30 B S MW

#125252,%0
=(2),%0
@#PSWORD

JLOAD Re WITH 125252
;SHIFT Rp BY =(2)
$SAVE PS

#10,@4PSWORD ;18 THE PS 107

o *10
PC, SHLT

#177525,%0
10
PCySHLT

(R5),#56
18

¥4=AUG=T77 143169 PAGE 20
00100 ASH INSTRUCTION .TESTS
JTEST;53 11734
TSTS3: SCOPE1
125252 MOV
098454 ASH
0009432 MFPS
0200104 000432 cMPB
BEQ
913532 JSR
22
177525 CcHMP
BEQ
183
813516 JSR
23
000053 cMP
BNE
INC
;TEST154 11/34
TSTS4: SCOPE1L
125252 MOV
ASH
Pep432 MFPS
B0oa1R  pYwd3d?2 CMPB
BEQ
013454 JSR
24
177525 cMP
BEQ
183
013440 JSR
25
nopese cHMP
BNE
INC
24=AUG=77 14199 PAGE 21
0na300 ASH INSTRUCTION TESTS
$TEST355 11/34
TSTS5: SCOPE1
125252 MoV
ASH
#ov432 MFPS
002010 @20432 CMPB
BEQ
213376 JSR
26
177525 cMP
BEQ
182
213362 JSR
27
#ovNSSs cuMe
BNE
INC
JTEST156  11/34
TST561 SCOPE!
125252 MOV
ASH
700432 MFPS
000010 pPO432 CMPB
BEQ
013320 JSR
30
177525 CMP
BEQ
182
913304 JSR
31
000056 CcMP
BNE
INC

(RS)

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 1@

31S THE RESULT 1775257
$SEEN AN ERROR, GO TO TH HALT ROUTINE
;RO Is NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

IS STESTN 3 #56
3IF NOT THEN GO TO HLT ABOVE



DFKACA MACY11 38(1046)

DFKACA

946
947
948
949
950
951
982
953
954
955
956
957
958
959
960
961
962
963
964
965
966
967
968
969
979
971
972
973
974
975
976
977
978
979
984
9ey
982
983
984
985
986
987
988
989
994
991
992
993
994
995

DFKACA
DFKACA

996

997

998

999
1000
1001
1002
1003
1004
1005
1206
1007
1008
1009
1010
1011
1012
1013
1014
1015
1016
1017
1018
1049
1020
10214
1022
1023
1024
1025
1026
1027
1028
1029
1030
1031
1032
1033
1034
1035
1036
1037
1038
1039
1040
1041
1042
1043
1044
1045

+SRC

903146
003150
903154
pd3160
093164
0863172
203174

BR3200
003202
£03206
203219
803210

0993214
003216
$93222
793224

¥a3226
993230
¥33234
©e3240
R4I3244
#23252
5932954

943260
433262
v93266
603270
223279

an3274
823276
023302
033304

MACY11
«SRC

Ad3306
593319
023314
Bn3316
003322
©¥e3330
933332

493336
©¥03340
803344
303346
233346

803352
233354
223369
£03362

0¥03364
903366
¥93372
p03374
pa3400
n03406
£03410

f03414
©v03416
#3422
093424
803424

£03430
003432
693436
093440

18=NOVaT$

plavel
p12700
872063
106737
1227317
poLénl
pe4767

§o0V032
0¥22790
991403

0P4767

890033
021527
p81372
poO5215

#1879}
v12729
872073
106737
122737
w1463
904767

p20934
v22709
901443

pedte?

292235
021527
p81372
wa5215

33(1040)
18=NOVe75

gi1e701
g12700
n72033
136737
122737
£n1403
604767

poR0306
022709
ev1403

204767

900037
n21527
#1372
60PS215

p10701
812700
p72053
106737
122737
091403
004767

poON40
222700
pA1403

0604767

200041
p21527
921372
po5215

04=AUG=77

00100

128252
p09002
200432
000011

013240

177252

013224

¥ooes?

128252
PLILlT]
000432
geovly

©?13169

177525

013144

LY

94°AUG=T77

nOL00

125252
©¥o0432

2908019
213102
177525

213066

000061

125252
000432

000010
013024
177525

013010

900062

p0e432

0¥e432

00p432

000432

14109 PAGE 2

2
ASH INSTRUCTION TESTS
T TR Y R T Ry Y T R e e e e a2 e e L]
JTEST:157 11734 ASH 125252 BHIFTED BY 2(3) = 177262 PS8 s 1§
L e T e E Ty T T Iy T S T e e

T8T571 SCOPE1
MO

v #125252,%0 sLOAD RO WITH 125252

ASH 2(3),%0 3 SHIFT R) BY 2(3)

MFPS @#PSWORD $SAVE PS

CMPB #11,88PSWORD 318 THE PS 117

BEQ W +10

JSR PC, SHLT 38EEN AN ERROR, GO TO TH HALT ROUTINE
$THE PS 18 NOT EQUAL TO 11

32

CMP $#1772%2,%0 318 THE RESULT 1772527

BEQ W *10

183

J8R PCy$HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
jRe Is NOT EQUAL TO 177252 OR INCORRECT SEQUENCE

33

cMP (R5),#57 115 STESTN = #87

BNE 18 3 IF NOT THEN GO TO HLT ABOVE

INC (RS)

R T L A A T I e i it ed
JTEST160 11/34  ASH 125252 SHIFTED BY 8(3) = 177525 PS 3 10
T T R Y T T Y R e T AT e e g a2 L L

TST60s SCOPE1
MOV

#125252,%0 ;LOAD RP WITH 125252

ASH e(3),3%0 3SHIFT R BY 8(3)

MFPS R¥PSWORD ;SAVE PS

CMPB #10,04PSWORD 318 THE PS 10?

BEQ . +10

JSR PC, $HLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
3JTHE PS 1S NOT EQUAL TO 1@

34

cMP $#177525,%0 318 THE RESBULT 1775257

HEG o +10

183

JSR PCySHLT 3 SEEN AN ERROR, GO TO TH HALT ROUTINE
3RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

38

cuP (RS), %60 3I5 STESTN B 260

BNE 18 sIF NOT THEN GO TO HLT ABOVE

INC (RS)

14309 PAGE 23

ASH INSTRUCTION TESTS

R L e e e e R T T T e e e L L)
JTEST361 11734 ASH 125252 SHIFTED BY A(3)+ = 177525 PS = 19
R e e T e e T T T 2 e

TST61: SCOPE1
M

ov #125252,%0 sLOAD RO WITH 125252
ASH @(3)+,%0 3SHIFT Re BY R(3)+
MFPS @#PSWORD 3SAVE PS
CcMPB #10,8¢PSWORD 318 THE PS 107
BEQ W t10
JSR PC,8HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
sTHE PS 18 NOT EQUAL TO 310
36
CMP #177525,%0 318 THE RESULT 1775257
BEQ oH10
183
JSR PCySHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
3RO IS NOT EQUAL TO 3177525 OR INCORRECT SEQUENCE
37
CMP (R5),#61 31S STESTN 3 4§61
BNE 18 3IF NOT THEN GO TO HLT ABOVE
INC (RS)
FHRBRRBBU RPN B BBBRB SR OB BB * 0003000 00 3000 00 30 9600 90 30 90 90 30 20 90 00
3 TEST162 11734 ASH 125252 SHIFTED BY @=(3) = 177525 PS = 1¢

AL TR AT S A 2 AR a e a2 dd s ad it i il idliialidsdsdsilid)

TST623 SCOPEL
MOV

#125252,%02 sLOAD RO WITH 125252

ASH e=(3),%0 ;SHIFT Rp BY @«(3)

MFPS @¥PSWORD $SAVE PS

CMPB #10,@#PSWORD 315 THE PS 10?

BEQ o410

JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS I8 NOT EQUAL TO 10

40

CMP #177525,%0 ;15 THE RESULT 1775257

BEQ o+10

182

JSR PCoSHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;RO 1S NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

41

cMP (R5),#62 315 STESTN = 462

BNE 18 ;IF NOT THEN GO TO HLT ABOVE

INC (RS)




DFKACA
DFKACA

1046
1047
1648
1049
1050
1951
1052
1053
1054
1055
1056
1057
1088
1059
1060
1061
1062
1063
1064
1065
1066
1067
1068
1069
1079
1e7t
1072
1273
1074
1875
1A76
1017
1478
1079
1e80
1081
1082
10483
1084
1085
1086
1087
1088
1089
1094
1991
1092
1093
1094
1095
1196
1297
1698
1099
1129
1101

DFKACA
DFKBCA

1192
1143
1104
1108
1106
1107
1148
1109
11190
1111
1112
1113
1114
1115
1116
1117
1118
1119
1122
1121
1122
1123
1124
1125
1126
1127
1128
1129
1130
1131
1132
1133
1134
1135
1136
1137
1138
1139
1149
1141
1142
1143
1144
1145
1146
1147
1148
1149
1152
1151
1152
1153
1154
1158
1156
1187

MACYS1
+«8RC

003442
023450
623454
903462
993466
©23472
2903500

©¥93504
203506
203510
203514
#03520
9233522
603530
323532
»e3s36
¥03549
203542
£a3546
983582
£03560
©A3562

203566
%3570
#3574
203639
vwe3692

¢03606
923610
£93614

793616

¥93622
£23624
P03626
03632
3¥3634

©33649
%33642

MACY11
+SRC

©03644
#23659
383652
003656
A236690
343664
3723672
843674
©#33676
233702
no3106
83719
293714
083720
193722
#0373
093732
923736
983740
©¥a3742
Pv3T46
003752
003760
243762

an3l60
#3770
©¥23774
$04000
$04002

024006
204010
©24014

34016

904022
»o4024
824030
004032

P24936
504040
204042
£04046
PN405P
pp4054
624056
$04062
004066
924072
004074
204109
e04104
704106

36(1046)
18=N0V=75

612737
posa37
0212737
8A3037
p05037
»12737
095037

012793
019522
pL3790
8137014
pee241
232737
001004
213705
p730825
500402
u13067
196737
123737
£B1403
%04767

000e42
£05237
$23709
801403
604767

a9PaA43
w2370l
#p1403

no4Te?

PeRG4 4
#10205
921537
nn1403
204767

000045
$95215

3p(16846)
18=N0Ve7s

021527
pO2014
005237
#09241
Be6137
906137
721527
pa1eps
384467
£24767
719721
013702
013703
238241
032737
v31004
#13704
873204
000422
973267
106737
123737
pe14a3
p04767

pApo46
995237
823792
po14e3
B04767

900047
#23703
a01403

004767

220050
©¥21537
601403
Po4T67

802051
P0S215
821527
©¥o2014
895237
200241
906137
po6137
221527
pn1004
po4467
po4767
p1a701
210501

04=AUG=77

003100

000062
000434
©¥0P0V1
#00440
00442
©20001
n00446

[Pl LEE]
w0436

00RO 1
000440
174672
200432
700446
012652
PoV430
0wepa42
012632

v00 444

¥12616

©00432

012600

B4=AUG=77

99100
220160
900449
000444
200442
ne 121

090410
200440

0206434
nVB436

©¢00001
Pov440
174472
800432
PU0446
©¥12452
©¥00430
V00442

0912432

800444

212416

000430

0912402

#0160
200440
800444
900442
2M0121

900212
000242

noR43e

PAV436

AvRe4a

0ep406

[ LTLXY]

0920406

nee4s?

14199 PAGE 24

ASHC INSTRUCTION TESTS

REGO1 3

r1
481

MOV
CLR
MOV
CLR
CLR
MOV
CLR

SCOPE3
MOV
MOV
MOV
CLC
BIT
BNE
MOV
ASHC
BR
ASHC
MFPS
CMpPB
BEQ
JSR

42

INC
cup
BEw
JSR

43
CMP
BEQ

JSR

44

MOV
cHp
REQ
JSR

45
INC

14169 PAGE 25

Ty Ty T T T T Y
] ABHC INSTRUCTION TESTS
JHEHR S RUB BB RN R BRI BB R R DR R DRI B R R SN
PEEEREEIRDBER
JTESTS 63+157
JUBRRES RN RS ES
#62,84COUNT
4 TEMPY ;TEMP1=0
$1,@8TEMP2 3 TEMP28Y
84 TEMDP)3 ;s TEMP3=0
@YTEMP4 ; TEMPa=D
#1,08TEMPS ; TEMPS =Y
RETEMPE ;0 1 SHIFTED BY psp §, PS=0
K5,R2 $SAVE RS
@H#TEMP1,%0 sPLACE THE CONTENTS OF TEMP1 IN REGISTER @
R¥TEMP2,%0]1 sPLACE THE CONTENTS OF TEMP2 IN REGISTER 1
#1,@88PASS 318 IT AN EVEN PASS ?
28 ;IF NOT THEN GO TO 28
@¥TEMP3,R5 ;OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE ¢
RS, RO ;USING Ro
48
TEMP3,%0 ;ASHC REGISTER ¢ BY THE CONTENTS OF TEMP3
@#PSWORD $SAVE PS
@4 TEMPG, @R#PSWORD;COMPARE PS WITH THE CONTENTS OF TEMPe
+10
sc:lHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
7WRONG P§
@#COUNT
e#TEMP4, %0 ;18 THE RESULT IN RO SAME AS TEMP4?
+10
éC,lHLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG RESULT IN RQ
@#TEMP5, %1 318 THE RESULT IN R1 SAME AS TEMPS5?
o410 ;TEMPy TEMP2 SHIFTED BY TEMP3I=TEMP4 TEMPS
;AND PSSTEMPG
PC, SHLT ;SEEN AN ERROR, GU TO TH HALT ROUTINE
;WRONG RESULT IN Ry
R2,R5 ;RESTORE RS
(R5),@#COUNT ;1S TEST NUMBERaCOUNTER?
+10
;C,SNLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
sNO
H
(RS)

ASHC INSTRUCTION TESTS

683
KREG23:

283
483

681
REG45;

CMP
BGE
INC
cLC
ROL
ROL
CMP
BNE
JSR
JSR
SCOPE1
MOV
MoV
CLC
BIT
BNE
MOV
ASHC
BR
ASHC
MFPS
CMPB
BEQ
JSR

46

INC
cMp
BEQ
JSR

47
cMP
BEQ

JSR

50
cMP
BEQ
JSR

51

INC
CMP
BGE
INC
CcLC

ROL
CMP
BNE
JSR
JSR
SCOPEL
MOV

(R5), %160
66
R¥TEMP3

@*TEMPS
@4 TEMP4
(RS),#12%
REG23
R4,RITSH
%7,T8T160

Q#TEMPL, %2
G#TEMP2,%2!1

#1,P#8PASS

28

@#TEMP3, R4

R4,R2

48

TEMP3, %2
e#PSWORD

@4 TEMP6, @4PSWORD
0410

PC, $HULT

@#COUNT
R4TEMP4,%2

o410
PC, SHLT

@#TEMPS, %3
o 10

PC, 8HLT

(RS),a%COUNT
W +10
PC, $HLT

(R5)
(R5),%160

66
@#TEMP3

@#TEMPS
P#TEMP4
(RS),#121
REG4S
R4,RITSH
%7,T8T160

R5,R1

;HAVE THE FIRST 159 TEST BEEN EXECUTED?
;YES

sROTATE TEMPS LEFT BY 1| PLACE
3 INTRODUCE CARRY FROM TEMP4 IN TEMPS
;I8 IT TEST 1217

;IF S0 THEN GO AND INYTIATE RIGHT SHIFT

;PLACE THE CONTENTS OF TEMP{ IN REGISTER 2
;PLACE THE CONTENTS OF TEMP2 IN REGISTER 3

;18 IT AN EVEN PASS ?

;1IF NOT THEN GO TO 28

;OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE ¢
JUSING R2

;ASHC REGISTER 2 BY THE CONTETNS OF TEMP3
$SAVE PS
:COMPARE PS WITH THE CONTENTS OF TEMP6

;SEEN AN ERROR, GO TO TH HALT ROUTINE
$WRONG PS
;15 THE RESULT IN R2 SAME AS TEMP4?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG RESULT IN R2

;18 THE RESULT IN R3 SAME AS TEMP5?
sTEMP1 TEMP2 SHIFTED BY TEMP3®TEMP4 TEMPS
$AND PSE=TEMP6

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG RESULT IN Ry

;15 TEST NUMBERSCOUNTER?
$SEEN AN ERROR, GO TO TH HALT ROUTINE
$NO

sHAVE THE FIRST 359 TEST BEEN EXECUTED?
;YES

JROTATE TEMPS LEFT BY { PLACE
; INTRODUCE CARRY FROM TEMPS IN TEMP4
;15 IT TEST 1217

;IF SO THEN GO AND INITIATE RIGHT SHIFT

;SAVE RS



DFKACA

MACYLY

DFKACA,SRC

1158
1159
1164
11614
1162
1103
1164
1165
1166
1167
1168
1169
1179
1171
1172
1173
1174
1175
1176
1177
1178
1179
1189
1181
1182
1183
1184
1185
1186
1187
1188
1189
1199
1191
1192
1193
1194

DFKACA

904110
po4114
#04120

004122

004130
894132
#4136
004149
#04142
©04146
204132
034160
¥W4162

204166
094179
824174
0904200
804202

024206
»woa219
no4214

234216

04222
304224
804230
204232

24236
004240
34242
804244
ed425@
QY4252

MACY11

DFKACA ,SRC

1195
1196
1197
1198
1199
1200
121
1292
1203
1294
1205
1206
1207
1208
1209
1219
1211
1212
1213
1214
1215
1216
1217
1218
1219
1229
1221
1222
1223
1224
1225
1226
1227
1228
1229

734256
£24260
904264
pas270
924274
004276
9784302
224306
£94312
$24314
904322
034326
924334
#84349
B9Y4344
024346
894352
094354
204360
604364
$04372
#34374
24400
pa4402
P24410
f04412
p24416
0B4420
204426
»04430
PB4434
9044136
004444
f34452
P04456
904464
904470
204472
504476
604500
034506
204512
©$04520
¥04526
904530
904534
P04536
$04544
804552
004554
924560
994562
BB4570
©24576
804602
904604

3p(1@46)
18=N0V=75

813704
813705
890241
832737
01004
p13700
073400
pOR4a2
073467
196737
123737
531403
2804767

pO0O52
805237
923704
po1403
vB4767

poROYS3
023725
pE14a3

824767

poAAS4
821137
991403
033767

2900955
310125
©¥95215
821527
an2e14
aAsS237

3g(1946)
18=NQV=75

830241
pa6137
996137
021527
#01¢24
894467
234767
poB167
822424
212737
905037
212737
225037
pe5237
P00264
821527
pa1012
pose837
#085037
912737
6909207
p21527
po10A4
012737
pa08207
821527
po1en4d
812737
902207
021527
601016
012737
12737
005037
812737
905037
200207
921527
001014
8127317
905337
912737
212737
abn2a7
921527
po1oa?
812737
012737
600207
821527
201011
912737
812737
995237
888207
821827

ASHC INSTRUCTION TESTS

R#TEMPL, %4
R#TEMP2,%4)1

#1,@#8PASS
28
@HTEMP3,Ro
RO,R4

48
TEMP3, %4
@#PSWORD

@#TEMP6, @4 PSWORD

2 t10
PC, §HLT

@#COUNT
@H#TEMP4, %4
2 *10
PC,SHLT

R#TEMP5,%5
o *10

PC, $HLT

(R1),@#COUNT
2410
PC, $HLT

P1,RS
(RS)
(R5), 4160
68
RYTEMP3

ASHC INSTRUCTION TESTS

04=AUG=77 14169 PAGE 26
aa300
900434 MoV
990436 MOV
cLc
990001 000406 BIT
BNE
299440 MOV
ASHC
BR
174272 283 ASHC
000432 481 MFPS
000446 pPAP432 CMPB
BEQ
012252 JSR
52
900430 INC
$00442 CMP
BEQ
912232 JSR
53
90p444 CHMP
BEG
012216 JSR
54
200430 cMP
BEQ
712202 JSR
55
MOV
INC
$¥00169 CMP
BGE
020449 INC
V4=AUG=77 14109 PAGE 27
20309
CLC
000444 ROL
000442 ROL
002121 cMp
BNE
000010 JSR
200040 681 JSK
177172 Bs3 JIMP
RITSH: CHMP
040000 0nO434 HOV
200436 CLR
177742 @00440 MOV
000442 CLR
700444 INC
RTS
A00160 TST16@: CMP
BNE
000434 CLK
000442 CLR
200004 000446 MOV
RTS
900161 TST1618 CMP
BNE
177746 o0R0440 MoV
RTS
000162 TST1628 CMP
BNE
000032 ©00440 MOV
RTS
000163 TST1638 CMP
BNE
752525 000434 MOV
177762 peov44se MOV
090442 CLR
252525 @00444 MOV
000446 CLR
RTS
099164 TST164t CMP
BNE
125252 000434 MOV
0900442 DEC
125252 000444 MOV
000010 nEO446 MOV
RTS
?02165 TST1658 CMP
BNE
177777 000434 MoV
177777 o0epdsd Mov
RTS
@v0166 TST1663 CMP
BNE
100002 Q00434 MOV
177740 000440 MOV
000446 INC
RTS
800167 TST1678 CMP

@#TEMDS
e#TEMPY
(RS),#121

H

R4,RITSH

%7, TST160
REG@1
(R4)+,(R4I+
#40000, @8 TEMP1
Q#TEMP2
#=30,, 04 TEMP3
@#TENP4
@¥TEMPS

R4

(RS),#160
TST161
BETEMP]
@#TEMP4
#4,R@8TEMPE
%7

(R5),#161
TST162
#=32,08TEMP3

%7
(RS),#162
TST163
432,01 TEMP3

37

(R5),#163
TST164

#52525, RE§TEMPY
#°16,,@4TEMP3
BH#TEMP4
#52525, A4 TEMPS
e#TEMPe

37

(RS),#164
T5T165
$125252, @4 TEMP]
@H#TEMP4
#125252, @ TEMPS
$10,@4TEMPe

%7

(R5), 4165
T5T166

$=1,05 TEMPY
#=1,088TEMPS

%7

(R5),#166
TST167
1100000, @4 TEMP]
#=32,,08TEMP3
P#TEMP6

37
(R5), 8167

;PLACE THE CONTENTS OF TEMP1 IN REGISTER 4
;PLACE THE CONTENTS OF TEMP2 IN REGISTER 5

;IS IT AN EVEN PASS ?

;IF NOT THEN GO TO 2§

;OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE ¢
JUSING R4

;ASHC REGISTER 4 BY THE CONTENTS OF TEMP3
$SAVE PS
;COMPARE PS WITH THE CONTENTS OF TEMP6

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG PS

;IS8 THE RESULT IN R4 SAME AS TEMP4?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG RESULT IN R4

;18 THE RESULT IN R5 SAME AS TEMP5?

; TEMP1 TEMP2 SHIFTED BY TEMP3=TEMP4 TEMPS
;AND PSaTEMP6

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG RESULT IN R5

;IS TEST NUMBER=COUNTER?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;NO
H

;RESTORE RS

;HAVE THE FIRST 159 TEST BEEN EXECUTED?
;YES

;ROTATE TEMPS5 LEFT BY 1 PLACE
; INTRODUCE CARRY FROM TEMP5 IN TEMP4
;I8 IT TEST 1217

31F SO THEN GO AND INITIATE RIGHT SHIFT
’

;MAKE R4 POINT TO THE NEXT REG TAG
1 TEMP124000

;s TEMP2=0

;TEMP3z=30

$TEMP4=0

s TEMPS=1

;18 IT TEST 160

sIF NOT THEN TRY TEST 161
;@ @ SHIFTED BY ¢

;IS EQUAL TO @ @

;AND PS=4

sIs IT TEST 161
;@ @ SHIFTED BY =32=¢ ¢, PS=4

;I8 IT TEST 162
;IF NOT THEN TRY TEST 163
;@ @ SHIFTED BY 32=z¢ ¢, PS=4

;18 IT TEST 1637

;IF NOT THEN TRY TEST 164
552525 0

;SHIFTED BY =16,

;18 EQUAL TO o 52525
;AND PS = p

;IS IT TEST 1647
;IF NOT THEN TRY TEST 165
1125252 @ SHIFTED BY =16,

;1S EQUAL TO =1 125252
;AND PS=10

;Is IT TEST 1657

;IF NOT THEN TRY TEST 166

;=1 @ SHIFTED BY =16

;18 EQUAL TO =i =i, AND PSz1p

;18 IT TEST 1667

;IF NOT THEN TRY TEST 167

;100000

;SHIFTED BY =32 IS EQUAL TO =y =f
$AND PS=11

;18 IT TEST 1677
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DFKACA,SRC 18=NOV=75 P@100 ASHC INSTRUCTION TESTS
1251 @94619 001014 BNE TST170 ;1F NOT THEN TRY TEST 170
1252 004612 pB5037 @0B434 CLR RHTEMP1
1253 904616 @B5337 00P436 DEC 8#TEMP2 ;0 =4
1254 224622 012737 000020 000440 MoV #16,¢B#TEMP3 ;SHIFTED BY 16,
1255 ©04630 095037 00P444 CLK @ITEMPS ;18 EQUAL TO =1 ¢
1256 024634 @085237 00P446 INC @4 TEMPG 3AND PS=12
1257 40464D 900207 RTS %7
1258 (04642 21527 006170 TST1703 CMP (R5), 4170 315 IT TEST 1707
1259 @B4646 BP10a7 BNE TST171 :1F NOT THEN TRY TEST 171
1267 024650 p12737 125252 DPOV436 MoV #125252,@4TEMP2 ;0 125252 SHIFTED BY 16
1261 084656 012737 125252 D00442 MOV #125252,8#TEMP4 ;15 EQUAL TO 125252 ©, AND PSa;12
1262 024664 990207 RTS %7
1263 924666 p21527 008171 TST1711 CMP (R5),#171 :18 IT TEST 1717
1264 984672 pU1010 BNE TST172 ;IF NOT THEN TRY TEST 172
1265 ©04674 915337 00p44e DEC @#TEMP3 ;0@ 125252 SHIFTED BY 15
1266 @24700 012737 052525 00A0442 MoV #52525,P#TEMP4 ;IS EQUAL TO 52525 ©
1267 004706 085037 000446 CLR @#TEMP6 ;AND PSmp
1268 004712 p9D207 RTS 57
1269 624714 921527 000172 TST1723% CMP (R5),#172 ;15 IT TEST 1727
1270 224728 p01006 BNE TST173 ;IF NOT THEN TRY TEST 173
1271 0984722 812737 052525 Q00436 MOV #52525,Q#TEMP2 ;0 52525
- 1272 ©04730 995237 000440 INC @#TEMP3 $SHIFTED BY 36, IS EQUAL TO 52525 @, AND PSzg
1273 824734 500207 RTS %7
1274 904736 921527 000173 TST1733 CMP (RS),#173 315 IT TEST 17372
1275 024742 901014 BNE TST174 ;IF NOT THEN TRY TEST 174
1276 ©04744 812737 177777 800436 MOV #=1,04TENP2 ;0 =1
1277 004752 295337 090440 DEC @#TEMP) ;SHIFTED BY 15,
1278 £24756 812737 977777 000442 MOV #77777,R#TEMP4
w 1279 ©24764 12737 100000 009444 MOV #100000,P#TEMPS ;IS EQUAL .TO 77777 100000, AND PS=@
1280 024772 8608207 RTS 87
1281 904774 621527 000174 TST1741 CMP (R5),#174 ;IS IT TEST 1747
1282 005000 @P1013 BNE TST175 ;IF NOT THEN TRY TEST 175
1283 925002 012737 100090 00434 MoV #100000, @4 TENP}
1284 P0501n p85337 (09436 DEC e#TEMP2 ;100000 =2 SHIFTED BY 15,
1285 (05014 pO5037 008444 CLR @#TEMPS ;15 EQUAL TO 77777 ¢
1286 925020 012737 000002 PO0%46 MOV #2,P#TEMPG ;AND PS=2
1287 935026 809207 RTS %7
1288 205030 p21527 pee17sS TST1753 CMP (R5),#175 ;15 IT TEST 17572
1289 @235034 po1015 BNE ENT176 ;IF NOT THEN TRY TEST 176
1294 @@85036 812737 177777 000434 MOV $=1,@4 TEMPY
1291 085444 905037 000436 CLR e4TEMP2 ;=1 @
1292 905250 @085237 00440 INC @#TEMP3 ;SHIFTED BY 16,
1293 085954 pB5€37 000442 CLR @4TEMPY ;15 EQUAL TO 0 @
1294 ©585060 12737 @00NOT A00446 MOV #7,84TEMP6 ;AND PS=z7
1295 605066 280207 RTS 37
1296 905070 g21527 00176 ENT176: CMP (R5),#176 ;15 THE PROGRM ENTERING TEST 1762
1297 005074 @d1403 BEQ 2410
1298 ©235076 184767 011336 JSK PC, $HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1299 ;TEST NUMBER GOOFED
1309 005182 908056 56
1341
1302 905104 pOB5726 TST (SP)+ ;RESTORE STACK POINTER
1303

DFKACA MACY11 3p(1P46) ©4=AUG=77 14129 PAGE 29

DFKACA,SRC 18=N0Ve75 903100 ASHC INSTRUCTION TESTS
1304 P e I L T E S e R e a2 T e e e a2 el
1395 3TEST1176 1 SHIFTED BY 8, = 4090 PS = @
1306 R L e e R R T e e 2 e a2 g 2l d L )
1307
1308 @25106 p10701 TST1761 SCOPE1
1309 05118 912701 000000 MOV #DUMMY, %1 sLOAD R1 WITH DUMMY
1312 05114 212701 @9a001 MOV #1,%1101 sLOAD R1l1 WITH i
1311 905120 pO0241 CLC
1312 @95122 73127 000010 ASHC #8,,%1 3SHIFT R1,R1l1 BY 8,
1313 905126 126737 000432 MFPS @#PSWORD $SAVE PS
1314 225132 122737 000000 000432 CMPB $0,@3PSWORD ;18 THE Ps 0%
1315 90051406 501403 BEQ o+10
1316 025142 004767 011272 JSR PC, §HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1317 sTHE PS IS NOT EQUAL TO o
1318 035146 pO00OS7 57
1319 345182 g22701 00Q409 CMP 4400,%1 315 THE RESULT 4907
1320 005154 po1403 BEQ 5214
1321 905156 pV4767 @11256 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1322 ;R4 I5 NOT EQUAL TO 4900
1323 905162 p2RA60 60
1324 £05164 021527 090176 cMP (R5),2176 3IS STESTN = #1767
1325 B2517¢ po1493 BEQ W« +10 ;IF NOT THEN GO TO HLT
& 1326 985172 po4767 @11242 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1327 ;TEST IS IN WRONG SEQUENCE
1328 935176 p0eN61 61
1329 245200 pB5215 INC (R5)
1339
1331
& 1332 BT 00 0000000 P00 000 00 U NI NI NGB R R B R B RN
1333 3TEST1177 =1 SHIFTED BY 15, = 100000 PS = {1
1334 R T R Y A Ay e Y T e e s L
1335
1336 005202 plo7o0t TST177% SCOPE1
1337 905204 012783 pO0020O MOV #DUMMY, %3 ;LOAD R3 WITH DUMMY
1338 @25218 012723 177777 Mov #=ge%311 ;LOAD R3|1 WITH =i
1339 405214 200241 CLC
1340 225216 73327 po@et7 ASHC #15.043 3SHIFT R3,R3|1 BY 15,
1341 225222 106737 00432 MFPS @#PSWORD 3SAVE PS
1342 905226 122737 ¢@ogei1 @00432 CMPB #11,94#PSWORD 318 THE PS 117
1343 105234 po91403 BEQ o +10
1344 005236 9084767 011176 JSR PC,8HLT 38EEN AN ERROR, GO TO TH HALT ROUTINE
1345 3THE PS I8 NOT EQUAL TO 11
1346 905242 @00062 62
1347 905244 922703 100000 CMP #100000,%3 315 THE RESULT 1000007
1348 925250 001403 BEQ 2410
1349 005252 po4767 0611162 JSR PC,8HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
1350 3R3 I8 NOT EQUAL TO {00000
1351 0905256 pYEG63 63
1352 0085268 021527 0200177 CMP (R5),#177 318 STESTN = 31777
1353 505264 891403 BEQ o+10 3IF NOT THEN GO TO HLT
1354 905266 po4767 011146 J8R PC, 8HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
1355 3TEST IS IN WRONG SEQUENCE
1356 ©05272 pPOO6S 64
1357 905274 pO5215 INC (R3)
1358

1359
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DFKACA , SRC

1360
1361
1362
1363
1364
1365
1366
1367
1368
1369
1370
1371
1372
1373
1374
1375
1376
1377
1378
1379
1380
1381
1382
1383
1384
1385
1386
1387
1388
1389
1390
1391
1392
1393
1394
1398
1396
1397
1398
1399
1400
1401
1492
1493
1404
1405
1426
1407
1408
1429
1412
1411
1412
1413
1414
1415

805276
905300
905302
705306
905312
805314
#05320
»95324
»95332
P05334

805340
#05342
805346
895350

995354
205356
825360
205364
005366

£95372
9063374

©¥05376
wo5400
995404
895410
#O5412
505416
V35422
©25430
¥05432

005436
#a5449
$05444
905446

895452
925454
805460
095462

£05466
225470

18«NQOVe75

p1o701
p1o5et
812705
p12705
890241
073527
106737
122737
801403
po4767

820065
622705
onL403
904767

082066
810105
p21827
801403
994767

020067
#P5215

Bl1o701
812701
#12701
990241
073127
126737
122737
po1403
824767

800079
822721
pB14p3
884767

000071
921527
691403
004767

000072
p05215

DFKACA MACY11 3p(1046)
DFKACA ,SRC

1416
1417

18=N0V=?5

04=AUG=77 14109 PAGE 30
00100 ABHC INSTRUCTION TESTS
T Ty Py T e R e T 1
3 TESTs 200
T8T20@3 S8COPE1
MOV R5,R1
000000 MOV #DUMMY, &5
982528 MOV #52525,%511
CLC
200000 ASHC #0,%5
000432 MFP3 R#PSWORD
000000 0P0P432 cMpB #0,R#PSWORD
BEQ 10
011100 J8R PC,8HLT
63
052525 CMP #52525,%5
BEQ o +10
011064 JSR PC, SHLT
66
MOV Ri,RS
000200 CMp (RS),#200
BEQ o410
011046 JSR PC, $HLT
67
INC (R5)
3TEST201
TST20181 SCOPE1
200000 MOV #DUMMY, §1
p20010 MOV $20010,%111
CLC
177763 ASHC #=13,,%1
000432 MFPS @¥PSWORD
000000 090432 CMPB #0,R4PSWORD
BEQ o*10
011002 JSR PC, $HLT
70
POO101 CcMP #101,%1
BEQ o+10
#12766 JSR PC, 8HLT
"
099201 (4.1 (R5),4201
BEQ 2410
910752 JSR PC, $HLT
72
INC (R5)
04=AUG=77 14199 PAGE 31
90300 ASHC INSTRUCTION TESTS

52525 SHIFTED BY 0 = 52525 PS = @

PRI XTI 2T RIS IS R SRR A 222 SR A 2 2222 L2222 2RSS TR A Al adid il igdd]

;8AVE RS
$LOAD RS WITH DUMMY
sLOAD RS11 WITH 52525

$SHIFT R5,R511 BY 0
$SAVE PS
;18 THE PS 07

3JSEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO o

318 THE RESULT 525257

;SEEN AN ERROR, GO TO TH HALT ROUTINE
RS I8 NOT EQUAL TO 52525

;RESTORE RS
$18 $TESTN = #2007
;IF NOT THEN GO TO HLT
$SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

R Tt T e R it Sbdat bbbttt s it AL TR LA TR TS A S 22222 22 2
20010 SHIFTED BY =13, = 101 PS = 0
FHEBDRRRG BN RE SRR PP R R BRI E BB B R BN R BB NN Y

;LOAD R1 WITH DUMMY
;LOAD R1l1 WITH 20010

sSHIFT R{,R1l1 BY =13,
18AVE PS
;1S THE PS 07

;8EEN AN ERROR, GO TO TH HALT ROUTINE
;THE P8 1S NOT EQUAL T0 @

;1S THE RESULT 1p1?

$SEEN AN ERROR, GO TO TH HALT ROUTINE
;R1 I8 NOT EQUAL TO 101

315 STESTN = #2017
3 IF NOT THEN GO TO HLT
$SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE




DFKACA

MACY14

DFKACA,SRC

1418
1419
1420
1421
1422
1423
1424
1425
1426
1427
1428
1429
1430
1431
1432
1433
1434
1435
1436
1437
1438
1439
1442
1441
1442
1443
1444
1445
1446
1447
1448
1449
1450
1451
1452
1453
1454
1459
1456
1487
1458
1459
1462
1461
1462
1463
1464
1465
1466
1467
1468
1469
1470
1471
1472
1473

DFKACA

905472
005474
925500
895504
205306
#o5512
905516
905524
n85526

#85532
PBS534
005540
205542

805546
A05550
905554
#o5556

205562
905564

PAS566
¢es5570
008572
605576
0056922
805604
PO5610
6935614
0085622
9085624

$05630
095632
995636
205640

805644
305646
005659
005654
$05686

805662
905664

MACY11

DFKACA ,SRC

1474
1475

3p(1046)
18=NOV=7§

919701
p12703
912703
900241
073327
106737
122737
po1403
po4767

0900073
822783
@01403
pe4767

000074
p21527
#01403
024767

800075
pe5215

p10701
e10501
912705
812705
200241
273527
106737
122737
po1403
204767

©¥P0076
0822705
pdi403
004767

800077
910145
921527
001423
804767

000140
805215

30(1046)
18=N0V=75

04=AUG=77 14199 PAGE 32
00100 ASHC INSTRUCTION TESTS
’lVl.D..illli‘!i_ﬁl!i00‘6'"lilD'Iil'l’bl.i0!“'&“.'.n"'.!'.l!l.’!.'
JTEST 202 =y SHIFTED BY {6, = ¢ P8 = {1
l"lli.l'i.“‘.i.l&ii.’.'!il.!l’.!l!'li{&'I‘ii..i!Qi.'hi"b"llnii.ﬂ!
T8T202% SCOPE1L
000000 MOV #DUMMY, %3 $LOAD R3 WITH DUMMY
1777111 MOV #el,8311 sLOAD R3}1 WITH o1
CLC
000020 ASHC #1640,83 J8HIFT R3,R3l1 BY 16,
000432 MFPS @#PSWORD $SAVE P8
000011 00A0432 CMPB #11,88PSWORD ;18 THE P8 1117
BEQ +10
8107066 J8R PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS 18 NOT EQUAL TO 11
73
900000 CMP #0,%3 718 THE RESULT @?
BEQ 2410
10672 J8R PC, $HLT ySEEN AN ERROR, GO TO TH HALT ROUTINE
sR3 IS NOT EQUAL TO @
74
000202 cMP (RS),#202 716 STESTN ® #2027
BEQ o +10 sIF NOT THEN GO TO HLT
010656 J8R PC, gHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST I8 IN WRONG SEQUENCE
7%
INC (RS)
JHEBRBUEBUD B RN 339 3 30 36 36 30 90 * * HHR RS * 112217
) TEST3203 1 SHIFTED BY =1 = 109@U0 PS = |
RZZATEIIRZIRIALA 2222 22 22202 3] (222222222121 ] *
TST203t SCOPE!
MOV RS, R 38AVE RS
000009 MoV #DUMMY, 35 jLOAD RS WITH DUMMY
000001 MoV #1,%511 ;LOAD RS|1 WITH
cLc
17771717 ASHC #=1,%8 3SHIFT R5,R5!1 BY =}
000432 MFPS @ #PSWORD 3 SAVE P8
000001 ©P0432 CMPB #1,@4PSWORD 318 THE PS8 1?
BEQ o410
010610 JSR PC, $HLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS I8 NOT EQUAL TO i
16
100000 cMP #100000,%5 315 THE RESULT 1000007
BEOQ +10
010574 JSR BC, SHLT $BEEN AN ERROR, GO TO TH HALT ROUTINE
3RS I8 NOT EQUAL TO 100000
7
Mov R1,RS ;RESTORE RS
200203 (41 (R8),#203 118 STESTN = #2037
BEQ 2410 ;IF NOT THEN GO TO HLT
010556 JSR PC, SHLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE
100
INC (RS)
04-AUG=77 14109 PAGE 33
00100 ASHC INSTRUCTION TESTS
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DFKACA, 8RC 18=N0V=T75 00100 ASHC INSTRUCTION TESTS
1476 '*'i'!i""**“i*iili.i’iii{iQ**'ﬁl'l”.'lﬂi&ﬁ'ﬁﬂ-ii’i*l'Gi.lﬂi*l!*'.'d
1477 JTEST1204 125252 SHIFTED BY =16, = 125252 PS = 1
1478 L e e g R R A e e e I e e s L g2 s
1479
1480 905666 010701 T8T2041 SCOPE1
1481 9056790 p12791 000000 MOV #DUMMY, %1 jLOAD R1 WITH DUMMY
1482 905674 @12701 125252 MOV #125252,%141 s;LOAD R1l1 WITH 125252
1403 905700 00241 CLC
1484 905702 073127 177760 ASHC #=16,,%1 ;SHIFT Ri,Rill BY »16,
1485 9095706 186737 000432 MFPS @#PSWORD 3 SAVE PS§
1486 905712 122737 00011 000432 CMPB #11,83PSWORD ;168 THE PS 117
1487 005720 001403 BEQ W10
1488 905722 004767 010512 JSR PC,8HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
1489 sTHE PS IS NOT EQUAL TO 11
1490 995726 9001051 104
1491 995730 022781 125252 cmp #125252,%) 318 THE RESULT 1252527
1492 005734 p01403 BEQ 410
1493 905736 pO4767 010476 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1494 ;R1 IS NOT EQUAL TO 125252
1495 095742 poOR1G2 102
1496 paS5744 21527 000204 cMP (R5),#204 31S STESTN = #2047
1497 9235759 001493 BEQ o +10 3IF NOT THEN GO TO HLT
1498 005752 B04767 010462 JSR PC,8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE w
1499 ;TEST IS IN WRONG SEQUENCE
1500 805756 ©0010) 103
1501 PB5760 pPOA5215 INC (RS)
1502
1503
1504 PRERUABUPRBRR S AR S RB BB LSRR SRR BB R B RS S * 1322213 222 %
1505 3 TEST3205 125252 125252 SHIFTED BY 23, = 52500 000000 PS = 3
1506 ;"Ql&l'“lﬁ&ﬂi!ﬁl&i‘llli'iﬂ*‘**'Ql-l“I‘&#l’*&“i‘l"&‘&"l‘&&&ll&“&'lﬂi"
1507
1508 905762 p1o701 TST2051 SCOPE1
1509 ©05764 p12702 125252 MOV #125252,%2 ;LOAD R2 WITH 125252
1519 605778 06127903 125252 MOV #125252,%21 ;LOAD R2}1 WITH 125252
1511 905774 828241 CLC
1512 985776 73227 000025 ASHC #21.0%2 3SHIFT R2,R2}1 BY 21,
1513 986002 106737 @00432 MFPS @¥PSWORD ;SAVE PS
1514 PO6P06, 122737 90PPG3 ©0AB432 CMpPB #3,@4PSWORD ;Is THE PS 3?
1515 9906014 p01403 BEQ o ¥10
1516 £06016 pB4767 010416 JSR PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
1517 ;THE PS IS NOT EQUAL TO 3
1518 096022 pRO1G4 104
1519 006024 022702 52500 CMP #52500,%2 ;18 THE RESULT 52500?
1520 926039 po1403 BEQ o +10
1521 9086032 904767 010402 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1522 ;R2 IS NOT EQUAL TO 52500
1523 @06036 (AD1GS 105
1524 Q06040 p22723 0OV00Q CMP #000000, %211 ;1S THE RESULT ©900000?
1525 ©06044 po1403 BEQ o +10
1526 pA6046 PO4T6T 0610366 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1527 ;R211 IS5 NOT EQUAL TO 000000
1528 p0Y6952 PoOG106 106
1529 006054 21527 000205 CMP (R5),%205 ;I8 STESTN = #2057
1539 996060 pU1493 BEQ o410 3 IF NOT THEN GO TO HLT
1531 906062 904767 010352 JSR PC, $HLT ;SEEN AN ERROR, GO TOQ TH HALT ROUTINE y
)
DFKACA MACY11 38(10846) 04=AUG=77 14109 PAGE 35
DFKACA,SRC 18=N0OV=75 90300 ASHC INSTRUCTION TESTS
1532 ;TEST 1S IN WRONG SEQUENCE
1533 906066 920107 107
1534 506270 905215 INC (R5)
1535
1536
1537
1538 806072 @12702 177771 MOV #=7,%2
1539 @06076 912793 000454 MOV #51,%3
1540 $06102 012704 000456 MOV #52,%4
1541
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DFKACA,SRC 18=N0V=75 90300 ASHC INSTRUCTION TESTS
1542 R Ty T T T T e r e a2 T AL 2
1543 3TEST1206 125252 125252 SHIFTED BY 8§ = 177525 52525 PS = 10
1544 IERZIT IR AR S22 T R 2 A R A R R R e e e A e A R A T 2 T S I ST E 2 )
1545
1546 #96106 p10721 TST2063: SCOPE1
1547 po611a 912790 125252 Mov #125252,%0 3LOAD RO WITH 3125252
1548 996114 p12701 125252 MOV #125252,%0)1 ;LOAD ROI1 WITH 125252
1549 006126 o241 CLC
1550 906122 p73067 172326 ASHC 51,%0 3 SHIFT Rg,RO11 BY 81
1551 906126 106737 000432 MFPS B#PSWORQ $SAVE PS
1552 996132 122737 00210 000432 CMPB #10,@8PSWORD ;I8 THE PSs 107
1553 926140 po1403 BEQ o+10 .
1554 206142 804767 010272 JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
1355 sTHE PS5 IS NOT EQUAL TO 10
1556 @86146 900110 1190
1557 ©26150 ¢22790 177525 CNP #177525,%0 318 THE RESULT 1775257
1558 826154 21493 BEQ W *10
1559 006156 vY04767 010256 JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
1562 sR@ IS NOT EQUAL TO 177525
1561 926162 podi1l 111
1562 026164 922701 052525 CMP #52525,%011 ;IS8 THE RESULT 525257
. 1563 006170 p21403 BEQ o+10
1564 B£06172 153
1565 ©06172 po4767 010242 JSR PCy SHLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
1566 ;ROl1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
1567 306176 090112 112
1568 pa36200 21327 000206 CMP (R5),#206 3158 THE STESTIN = #2067
1569 ©06204 001372 BNE 18 ;IF NOT THEN GO TO HLT ABOVE
£ 1570 086206 PBS5215 INC (R3)
15714
1572
1573 R e L T T T T T e e e ey
1574 3 TEST3207 125252 125252 SHIFTED BY @52 = 177525 52525 PS = 10
1575 - R T T T T T T T T e T
1576
1577 @06219 gla701 TST207% SCOPEY
1578 @06212 p12790 125252 MOV #125252,%0 sLOAD R WITH §25252
1579 @26216 p12701 125252 MOV #125282,%011 ;LOAD R@l1 WITH 125252
1580 106222 poD241 CLC
1581 @06224 ¢73477 172226 ASHC 882,%0 ;SHIFT Ro,ROl1 BY @S2
1582 996230 106737 000432 MFPS @#PSWORD 3 SAVE PS
1583 906234 122737 0060010 Q08432 cMpB #10,@#PSWORD ;16 THE PS 10?7
1584 026242 @01403 BEQ o*10
1585 0906244 @04767 10170 JSR PC,$HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
1586 ;THE PS I8 NOT EQUAL TO 1@
1587 p96250 go0113 113
1588 086252 922709 177525 CMP #177525,%0 318 THE RESULT 1775257
1589 Da6256 pA1403 BEQ ot10
1590 226260 004767 @10154 JSR PC, SHLT 3 SEEN AN ERROR, GO TO TH HALT ROUTINE
1591 3RO I8 NOT EQUAL TO 177525
1592 906264 300114 114
1593 po6266 @22701 052525 CMP #52525,%011 ;1S THE RESULT 52525?
1594 £926272 po1403 BEQ W t10
1595 906274 183
1596 106274 pV4767 010140 JSR PCy SHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
5 1597 ;ROl1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
L
|
DFKACA MACY11 30(1046) ©04=AUG=77 14199 PAGE 37
DFKACA . SRC, 18=N0OV=75 00:00 ASHC INSTRUCTION TESTS
1598 906300 900115 115
1599 006302 p21527 000207 CMP (RS),#207 315 THE §TESTN = #207?
1600 906306 991372 BNE 18 ;IF NOT THEN GO TO HLT ABOVE
1601 906310 pA5215 INC (RS)
1602
1603




DFKACA MACY1i 38(1046)

DFKACA

1604
1608
1606
1607
1608
1609
1640
1611
1612
1613
1614
1615
1616
1617
1618
1619
1620
16214
1622
1623
1624
1625
1626
1627
1628
1629
1630
1631
1632
1633
1634
1635
1636
1637
1638
1639
1640
1644
1642
1643
1644
1645
1646
1647
1648
1649
1650
1651
1652
1653
1654
1655
1656
1657
1658
1659

DFKACA
DFKACA

1660
1661
1662
1663
1664
1665

+8RC

906312
906314
906320
806324
006326
606332
9806336
506344
©96346

796352
906354
806362
$06362

906366
$06370
896374
806376
906376

926402
206404
p96410
006412

206414
806416
206422
¥06426
906430
006432
906436
296444
606446

906452
006454
P96460
806462

096466
206470
906474
806476
$¥26476

MACY11
+SRC

n26502
896504
606510
936512

18oNQVs75

10701
912700
812701
800241
0873037
196737
122737
01403
004767

po0116
922700
#01403
004767

800117
22791
801423

po4te7

€n0129
p21827
ep1372
9058215

10781
812702
212701
000241
673013
106737
122737
001403
nB4767

n29121
#22700
001403
2804767

900122
822701
21403

004767

36(1046)
18=NOV=75

990123
821527
ea1372
895215

[d2]

125252
125252

000454
000432
000010
910066

177525

0190052

252525

010036

000210

125252
125252

200432
200010

007766

177525

en7752

052525

0817736

04=AUG=77

00300

¥A0211

@4=AUG=T77
(-1

PoP432

000432
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ASHC INSTRUCTION TESTS

R L T et ettt bttt Sttt bbbt bbb bbbt d
125252 125252 SHIFTED BY @#381 = 177528 52525 P8 = 19
R T T T L e iyl

JTEST1210

T8T210t% SCOPE!
MOV

MOV
CLC
ASHC
MFPS
cMpPB
BEQ
J8R

116
CMP
BEQ
J8R

117

CMP

BEQ
182

JSR

120
CcMP
BNE
INC

#125252,%0
#125252,%011

0#81,80
@4PSWORD
#10,@38PSHWORD
2410

PC,SHLT
#177525,%0

2 +10
PC, $HLT

$52525,%011
o410

PCySHLT

(R5),#210
18
(RS)

3LOAD RO WITH 125252
3LOAD RoJ1 WITH 125252

;SHIFT RO,ROI1 BY @481
}SAVE P8
;18 THE PS 107

;S8EEN AN ERROR, GO TO TH HALT ROUTINE
3THE PS IS NOT EQUAL TO 10

318 THE RESULT 1775257

3SEEN AN ERROR, GO TO TH HALT ROUTINE
;R® IS NOT EQUAL TO 177525

;18 THE RESBULT 52525?

3SEEN AN ERROR, GO TO TH HALT ROUTINE

;RoOl1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

315 THE 8TESTN = #2107
s IF NOT THEN GO TO HLT ABOVE

R e T e R L T T  tatebotbatebabb bbbl
125252 125252 SHIFTED BY (3) = 177525 52525 PS = 10
R T e R e T d e i ey e ey

3TESTi1211

T58T211t SCOPE1
MOV

MOV
CLC
ASHC
MFPS
CMPB
BEQ
JSR

121
CMP
BEQ
J8R

122

CMP

BEQ
182

JSR

14199 PAGE 39

#125252,%0
¥125252,%011

(3),%0
@#PSWORD
#10,@#PSWORD
o *10

PC,8HLT
#177525,%0

o410
PC, $HLT

#52525,%011
o *10

PC,$HLT

ASHC INSTRUCTION TESTS

123
CMP
BNE
INC

(R5),#211
18
(RS)

sLOAD R@ WITH 125252
sLOAD ROl WITH 125252

;SHIFT Ro,ReI1 BY (3)
;SAVE PS
;15 THE PS 107

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE P§ IS NOT EQUAL TO 10

315 THE RESULT 1775257

$SEEN AN ERROR, GO TO TH HALT ROUTINE
;RO IS NOT EQUAL TO 177525

;15 THE RESULT 525257

;SEEN AN ERROR, GO TO TH HALT ROUTINE

;RE11 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

;IS THE $TESTN = @117
;IF NOT THEN GO TO HLT ABOVE

B




DFKACA MACY11 38(1046) ©04=AUG=77 1431Y9 PAGE 40
DFKACA,8RC 18=NOV=75 90100 ABHC INSTRUCTION TEBTS

1666 FHR R AR BB BRSSP PR DR E B R RRR BB RR R B D BR B BB DR DD R D RR IR B RD R PR B DR R BB BN
1667 1TEST212 125252 125252 SHIFTED BY (3)+ 8 177528 52325 PS8 = 10
1668 [ AL L2 A2 2] PRI 2R 20 FRURBRARD RIS B R R DR
1669
1670 ©06514 @18701 T8T2123 SCOPE1
1671 ©06516 012790 125282 MOV #125252,%0 sLOAD RO WITH 128252
1672 226522 012701 1232852 MOV $#125252,%0)1 jLOAD ROJ1 WITH {23232
1673 P06526 0DPA241 CLC
1674 @06530 p73023 ASHC (3)+,3%0 38HIFT Ro,RO|1 BY (3)+
1675 906332 146737 000432 MFPS B#PSWORD 3SAVE P8
1676 906336 122737 000010 000432 CMPB $10,88PBWORD ;18 THE P8 19?
1677 0206544 p01423 BEQ o*10
1670 ©06546 0D4767 007666 J8R PC, 8HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
1679 ;THE P8 18 NOT EQUAL TO 10
1680 906552 pvo124 124
1681 906554 p22700 1775235 CMP #177825,%0 ;18 THE RESULT 1775257
1682 ©06560 po140) BEQ 2410
1683 226562 p24767 007652 JSR PC, 8HLT $S8EEN AN ERROR, GO TO TH HALT ROUTINE
1684 3R0 I8 NOT EQUAL TO 177528
1685 906566 040125 125
1686 906570 22721 052525 CMP #52525,%011 ;18 THE REBULT 525257
1687 026574 po1493 BEQ 410

L 1688 9206576 181
1689 006576 BR4767 pOT636 JSR PC,y8HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
1690 $RPI1 I8 NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
1691 996692 p0A126 126
1692 pI6604 521527 00p212 CMP (R5),4212 318 THE $TESTN = #2127
1693 §26610 pA1372 BNE 18 3IF NOT THEN GO TO HLT ABOVE

- 1694 BB6612 pY5218 INC (RS)
1695
1696
1697 'i'&!"ihbl'!Q&*G&il#liiii'*'vﬁ’!‘li&OllO0ﬂ"I'0"“'.!!!"*““’0&“&"'*'
1698 JTEST1213 125252 125252 SHIFTED BY =(3) = 177525 52525 PS = 10
1699 ,'l'!ﬁihﬁ!’iﬁﬂ"ﬂl*.ii"“"“‘"-w"“ * I3 122 1327
1700
1791 P06614 p12701 T8T213: SCOPE!
1792 pd6616 12700 125252 MOV #125252,%0 3LOAD R® WITH 125252
1703 006622 p12701 125252 MOV #1252%2,%011 ;LOAD Rply WITH 123252
1704 006626 000241 CcLC
1705 p06630 73043 ASHC =(3),%0 3 8HIFT RO,ROIL BY =(3)
1706 9026632 186737 009432 MFPS @#PSWORD ;SAVE P8
1707 @06636 122737 p0eR1s 000432 CMPB §#10,@8PSWORD ;18 THE PS 1@?
1708 ©J6644 801423 BEQ o410
17909 ©96646 A4767 @07566 JSR PC, SHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
1710 ;THE PS IS NOT EQUAL T0 10
1711 ©06652 pro127 127
1712 926654 p22709 177528 CMP #177525,%0 315 THE RESULT 1775257
1713 326660 po1493 BEQ o +10
1714 pA6662 ©R4767 ©07552 JSR PC, SHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
1715 ;R@ I8 NOT EQUAL TO 177525
1716 (26666 100130 130
1717 @06679 p227e¢1 052525 CMP #52525,%011 ;18 THE RESULT 525257
1718 @06674 21403 BEQ o *10
1719 006676 18t
1720 #06676 ©¢984767 ©07536 JSR PCySHLT $8EEN AN ERROR, GO TO TH HALT ROUTINE
1721 sRol1 15 NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

=1
i
JFKACA MACY11 3p(1046) 04=AUG=77 14199 PAGE 41
IFKACA , SRC 18eNOV=75 093100 ASHC INSTRUCTION TESTS

1722 096792 poo131 131
1723 006704 821527 090213 CcMP (R5),4213 3IS THE $TESTN = #2137
1724 206710 0901372 BNE 18 sIF NOT THEN GO TO HLT ABOVE
1725 906712 @05215 INC (R5)
1726
1727




JFKACA MACY11 3p(1046)
JFKACA, SRC

1728
1729
1730
1731
1732
1733
1734
1735
1736
1737
1738
1739
1740
1741
1742
1743
1744
1745
1746
1747
1748
1749
1750
1751
1752
1753
1754
1755
1756
1757
1758
1759
1760
1761
1762
1763
1764
1765
1766
1767
1768
1769
1770
1771
1772
1773
1774
1775
1776
1777
1778
1779
1780
1781
1782
1783

006714
pO6716
806722
006726
006730
906734
806740
806746
826750

906754
806756
806762
po6764

006770
$06772
B26776
307000
807000

007004
807006
007012
007014

087016
0270620
»37024
907030
837032
0087036
007042
907050
p07052

987056
607060
807064
¥37066

827072
pa1074
807100
897102
807102

18=NQVe75

810701
012700
912701
600241
073064
106737
122737
801493
pe4767

802132
022700
po1403
804767

p0e133
022721
981493

pa4767

B8A0134
821527
#01372
095215

8108791
212722
p12701
009241
©¥73074
106737
122737
po1403
24767

001135
022700
p21403
024767

©¥00136
p22701
vP1403

824767

JFKACA MACY11 38(1046)
IFKACA,SRC

1784
1785
1786
1787
1788
1789

907106
2071190
207114
807116

18=N0V=75

990137
921527
901372
pP5215

04=AUG=T7

001060

125252
125282

000002
690432
900011

007464

177252
0074590

125252

807434

820214

125252
125252

270000
000432
809010

2907362

177525
007346

052525

007332

24=AUG=77

00100

000215

000432

20v432
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ABHC INSTRUCTION TESTS

B3040 30000 00 0040030 000 0000 400 U0 3000 S 00000000 A0 0 00 0D 0 0 000002000
JTEST3214 125252 125252 SHIFTED BY 2(4) 3 177252 125252 PS & 11
AR g L A R A R L T T L e T T T T

TST2143 SCOPE1
MOV

$125252,%0 3LOAD RO WITH 125252

gox #125252,%011 ;LOAD ROI1 WITH 125252

L

ASHC 204)r%0 3SHIFT RO,ROI1 BY 2(4)

MFPS @#PSWORD ;SAVE PS

CMPB #11,@4PSWORD ;IS THE PS 11?

BEQ o+10

JSR PC, SHLT 3SEEN AN EKROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 11

132

CMP #177252,%0 315 THE RESULT 177252?

BEQ o*10

JSR PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
3RO I8 NOT EQUAL TO 177252

133

CMP #125252,%011 315 THE RESULT 1252527

BEQ 2a+10

183

JSR PCySHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3ROL1 IS NOT EQUAL TO 125252 OR INCORRECT SEQUENCE

134

CMP (R5),4214 315 THE $TESTN = #2147

BNE 18 ;IF NOT THEN GO TO HLT ABOVE

INC (R3)

Rt TR TR e T Ty L e T Ty Ty ey
3TEST1215 125252 125252 SHIFTED BY @(4) & 177525 52525 PS =z 10
R L T T e e T Ty T Y e 2

TST2153 SCOPE1
MOV

$125252,%0 ;LOAD R@ WITH 125252

MoV $#125252,%011 ;LOAD Rl WITH 125252

CLC

ASHC 8(4),%0 ;SHIFT Rg,ROI1 BY @(4)

MFPS 84#PSWORD ;SAVE PS

cMpB #10,84PSWORD ;IS8 THE PS 197

BEQ . +10

JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
sTHE PS IS NOT EQUAL TO 10

135

CMP #177525,%0 ;1S THE RESULT 1775257

BEQ 2410

JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;R0 IS NOT EQUAL TO 177525

136

cMP $52525,%011 ;15 THE RESULT 525257

BEQ o410

1812
JSR PCy $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

;ROl1 I8 NOT EQUAL TO 52525 OR INCORRECT SEQUEMCE

14189 PAGE 43

ASHC INSTRUCTION TESTS

137

CMP (R5),#215 31IS THE $TESTN = #2157
BNE 18 ;IF NOT THEN GO TO HLT ABOVE
INC (R5)
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IFKACA (SRC 18=N0V=75 00100 ASHC INSTRUCTION TESTS
1790 R e L e S s ST A T )
1791 1TEST:216 125252 125252 SHIFTED BY @(4)+ = 177525 52525 PS = 10
1792 R T R e R R R R e e e e 2
1793
1794 ©07120 p1o701 TST216% SCOPE1
1795 987122 p12799 125252 MOV #125252,%0 3LOAD RO WITH 125252
1796 ¢07126 p12701 125252 MOV #125252,%011 ;LOAD R@I1 WITH 125252
1797 @07132 9232241 CLC
1798 pB7134 073034 ASHC e(4)+,%0 3SHIFT R@,ROL1 BY @(4)+
1799 §07136 166737 090432 MFPS @#PSWORD 3 SAVE PS
1800 907142 122737 0920010 000432 CMPB 410,84 PSWORD ;1S THE PS 107
1801 87150 pv1403 BEQ 2 %10
1802 07152 p04767 037262 JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
1843 3THE PS IS NOT EQUAL TO 10
1804 007156 £02140 140
189S @p716@ 922700 177525 CMP #177525,%0 ;158 THE RESULT 1775257
1806 @B7164 V1403 BEQ 2+10
1807 (097166 804767 007246 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1808 ;R0 IS NOT EQUAL TO 177525
1809 007172 000141 141
1813 p27174 p22781 052525 CMP #52525,%0114 ;15 THE RESULT 525257
1811 ©27200 p01403 BEQ 10

s 1812 007202 181
1813 997202 004767 907232 JSR PCySHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
1814 ;ROl1 1S NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
1815 007206 pVO142 142
1816 @07210 921527 000216 CMP (R5),4216 315 THE $TESTN = #2167
1817 207214 @01372 BNE 18 ;IF NOT THEN GO TO HLT ABOVE
® 1848 C€07216 ©9S5215 INC (R5)

1819
1820
1821 R I T T T T Tt Y T L T e e T Ty 2 )
1822 3TEST:217 125252 125252 SHIFTED BY @o(4) = 177525 52525 PS = 10
1823 T L Ly T Y e a2
1824
1825 937220 plolol TST2173 SCOPE1
126 937222 12790 125252 MOV #125252,%0 3LOAD R@ WITH 125252
1827 v87226 p12791 125252 MOV #125252,%011 ;LOAD Rely, WITH 125252
1828 907232 ©920241 CLC
1829 27234 ¢€73054 ASHC e=(4),%0 3 SHIFT RopsROLy BY @=(4)
1839 007236 1p6737 00432 MFPS @#PSWORD ;SAVE PS
1831 007242 122737 000810 000432 CMPB #10,@#PSWORD ;18 THE PS 107
1832 @087250 @981403 BEQ 10
1833 967252 04767 Q07162 JSR PC,8HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
1834 ;THE PS I8 NOT EQUAL T0 @
1835 @087256 poB143 143
1836 ©87260 wv22702 177525 CcMP #177525,%9@ ;15 THE RESULT 177525?
1837 ¢¥97264 g014p3 BEQ 2410
1838 07266 pB4767 00BT146 JSR PC,SHLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
1839 ;R IS NOT EQUAL TO 177525
1840 007272 p20144 144
1841 87274 022781 052525 CMP #52525,%011 ;18 THE RESULT 525257
1842 507304 901403 BEQ 10
1843 0v7302 182
1844 007302 @04767 007132 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1845 ;RO!1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

JFKACA MACY11 38(1046) 04=AUG=77 143109 PAGE 45

JFKACA,SRC 18=N0V=75 Q0100 ASHC INSTRUCTION TESTS
1846 187366 ©¥BB145 145
1847 207310 p21527 000217 CMP (R5), 4217 3IS THE gTESTN = #2177
1848 007314 021372 BNE 18 ;IF NOT THEN GO TO HLT ABOVE
1849 307316 005215 INC (RS)
1859
1851
1852
1853
1854
1855
1856
1857
1858




JFKACA MACY11
YFKACA, SRC
1859
1860
1861
1862
1863
1864
1865
1866
1867
1868
1869
1870 007320
1871 2087322
1872 007326
1873 @07332
1874 907336
1875  0A7344
1R76  pB7346
1877
1878 007352
1879 907384
1880 007360
1881 0@7362
1882
1883 007366
1884 po7370
1885 907374
1886 27376
1887 007376
1888
1889 807402
1890 ©27404
1891 27412
1892 #7412
1893
1894
IFKACA  MACY11
IFKACA , SRC
1895
1896
1897
1898
1899 AP7414
1900 927416
1901 027422
1902 #7426
1903 907432
190¢ @0P7440
1905 207442
1906
1907 pO7446
1908 #7450
1909 pB7454
1910 0B7456
1911
1912 90O7462
1913 907464
1914 p@7470
1915 007472
1916 007472
1917
1918 907476
1919 207500
1920 907504
1921 007506
1922
1923

30(1946)
18=NOV=75

p10701
912700
970027
196737
122737
001403
024767

pBO146
922700
881403
08047067

800147
922791
001403

894767

poR150
0215827
pA1372
po5215

38(1046)
18=N0OV=7S

p10701
2127902
870027
106737
122737
pa1403
804767

209151
©22709
§21493
224767

0900152
822701
pe1403

e04767

990153
921527
981372
0985215

04=AUG=T7

00100

000001
000000
900432
n00004

007066

000000
007052

000000

0097036

000220

04=AUG=77

90100

1777117
000001
000432
000010

906772

17771717
006756

1777117

©v06742

009221

200432

PRB432
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MUL INSTRUCTION TESTS

JEHERBDERGHBERRRB BB DRI R BB DG DB R
] MUL INSTRUCTION TEBTS
JRUBB LRI RBR PR R R RSN WA DR BRI

R T L L T T R R T I R e L g it s s il
1TEST3220 MUL 1 # 403090 PS = 4
TR R A e e R T R T S e S S S A S T S L S i s g L]

T5T2201 SCOPE
MOV

#1,%0 ;LOAD MULTIPLICAND WITH i

MUL 10,40 JMULTIPLY 1 # #0

MFPS  @#PSWORD $SAVE P8

CMPB #4,84PSWORD ;15 P65 = 4

BEQ W t10

JSR PC, §HLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
;PS 18 WRONG

146

cMp $0,%0 315 HIGH ORDER = 0

BEQ 10

JSR PC, §HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS WRONG

147

cMP 80,3011 715 LOW ORDER = @

BEQ L4108

181

JSR PCs8HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

150

CMP (RS),#220

BNE 18 ;1F IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS)

14109 PAGE 47

MUL INSTRUCTION TESTS

R T T ey A e e g A e e e e et e
3TESTg221 MUL =1 # #1 3 °f =i PS = 10
P e R Y e e e 2]

T8T221: SCOPE
MOV

t=1,%0 ;LOAD MULTIPLICAND WITH =1

MUL ¥1,%0 TMULTIPLY =1 » #1

MFPS R#PSWORD ;SAVE PS

cMPB #10, @ #PSWORD ;I8 PS 3 10

BEQ ,+10

JSR BC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;P8 15 WRONG

151

cMP t=1,%0 ;1S HIGH ORDER 3 =i

BEW ot10

JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS WRONG

152

cup t=1,%011 ;15 LOW ORDER = =1

BEQ L4109

181

JSR PC)SHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER I8 WRONG OR WRONG SEQUENCE

183

cMP (R5),#221

BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS)




'FKACA MACY11 3B(1046) 04=AUG=77 14109 PAGE 48
'FKACA ;SRC 18eN0V=75 po100 MUL INSTRUCTION TESTS

1924 L e e S A I T e e e e s

1925 JTEST1222 MUL 2 % §2 8 @ 4 P8 s @

1926 R R LT L e A L L e T e R S L

1927

1928 po7510 p1o791 T5T2221 SCOPE

1929 807512 912702 0920002 MoV #2,%2 s LOAD MULTIPLICAND WITH 2

1930 207516 £70227 000002 MUL $2,%2 sMULTIPLY 2 # #2

1931 267522 106737 00432 MFPS B4PSWORD 38AVE PS

1932 ©27526 122737 000000 00432 cMpPB $0,R08PSWORD 11s P8 B 0

1933 87534 01403 BEQ o410

1934 0287536 9094767 006676 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

1935 ;P8 I8 WRONG

1936 297542 pOO154 154

1937 907544 922702 000000 cMP 10,%2 ;18 HIGH ORDER = @

1938 997553 @o140) BEQ 20 +10

1939 ©275%52 @04767 006662 J8R PC,8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

1940 ;HIGH ORDER IS WRONG

1941 007556 RODA155 18§

1942 027560 p22703 000004 CMP #4,%211 ;I8 LOW ORDER = ¢

1943 227564 @o14p3 BEQ 2410

1944 207566 18

1945 ©07566 pY4767 Q06646 JSR PC,8HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
hd 1946 ;LOW ORDER I8 WRONG OR WRONG SEQUENCE

1947 ©907%72 9008156 156

1948 607574 921527 000222 cup (R5),#222

1949 nd7683 0081372 BNE 15 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

195¢ @907602 pd5215 INC (R5)

1951
& 1952

'FKACA MACY11 3p(1046) 04=AUG=77 14309 PAGE 49

WFKACA,SRC 18oN0V=7S 00100 MUL INSTRUCTION TESTS

1953 ,D!i*"!’l&iiﬁiiilﬂil.'I*l&*ihh'i*#"l”{&.i!!*.!ili.i&-&'*“!’d'l'“i"
1954 3TEST1223 MUL 1000 # $200 =2 1 @ PS = 1
1955 FHRGH B R B R RSN PR B RN BB YRR BRI BB RN BB * #* L34 31
1956
1957 067604 pi1p701 TST223: SCOPE
1958 #37606 912501 MOV R5,R1 ;SAVE RS
1959 ©27610 $12794 001000 MoV #1000, %4 ;LOAD MULTIPLICAND WITH 1000
1960 ¢97614 270427 000200 MUL 200, %4 ;MULTIPLY 1000 * #200
1961 927620 196737 009432 MFPS @4PSWORD ;SAVE PS
1962 997624 122737 030801 ©00432 CcMPB #1,R4PSWORD ;1S PS = 1
1963 007632 901493 BEQ W10
1964 027634 pR4767 006600 JSR PCy $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1965 ;PS5 IS WRONG
1966 327640 20157 157
1967 947642 022704 090001 cMP #1,%4 ;IS HIGH ORDER = 1
1968 27646 AB1403 BEQ o+10
1969 407650 084767 006564 JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1970 ;HIGH ORDER IS WRONG
1971 907654 pR0160 160
1972 207656 022705 000900 CMP 10,3411 ;18 LOW ORDER 3 @
1973 0087662 261403 BEQ W +10
1974 907664 1812

» 1975 627664 004767 006550 JSR PCy $HLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
1976 ;LOW ORDER IS WRONG OR WRONG SEQUENCE
1977 007670 pBAO16Y 161 )
1978 007672 021127 000223 CMP (R1),#223 JCHECK THE TEST NUMBER
1979 #27676 gH1372 BNE 18 sIF IN WRONG SEQUENCE GO TO THE HLT ABOVE
1980 £67720 510105 MOV R1,RS sRESTORE RS
1981 £27702 05215 INC (RS)

# 1982

1983




IFKACA MACY11 39(1046)

FKACA , SRC
1984
1985
1996
1987 )
1968 007704
1989 @07706
1990 907712
1991 807716
1992 907722
1993 a71730
1994 887732
1995
1996 907736
1997 #01740
1998 007744
1999 007746
2000
2001 907752
2002 997754
2003 1827769
2004 807762
2005 07762
2006
2007 907766
2008 @071770
2009 837774
2018 927776
2011
2012

JFKACA  MACY11

YFKACA, SRC
2013
2014
2015
2016
2017  @10000
2018 12002
2019 410006
2020 010012
2021 ©10016
2022 910024
2023 210026
2024
2025 ©10032
2026 910034
2027 810040
2028 010042
2029
2030 610046
2031 310050
2032 910054
2033 #19056
2034 109056
2035
2036 910062
2037 910064
2038 #10070
2039 910072
2040

2041

18=N0OVe73

010701
812700
0706027
186737
122737
8901493
804767

800162
022700
pb1403
po4767

p0V163
B22701
201403

804767

800164
021827
201372
295215

30(1046)
18=N0V=7S

210701
812702
870227
106737
122737
901493
884767

892165
822722
¢01403
#o4767

200166
p22703
pP1403

04767

890167
0821527
901372
805215

04=AUG=77

00300

000002
077777
000432
9006001

006502

AnPA0e

©¥R6466

177776

006452

020224

04=AUG=77

00100

007777
000010
000432
2920000

P06406

#000020
026372

©v17778

006356

#00225

200432

270432

143149 PAGE 50

MUL INSTRUCTION TESTS

R e T T T T T
1 TEST224 MUL 2 % 877777 = @ 177776 PS 3 1

FHRB R BB BB DR BB RV RIBRRRN RN LA A AL L) HRBBHGBYRR #* HERESE * #®

T8T2243 SCOPE
MOV

92,%0 ;LOAD MULTIPLICAND WITH 2

MUL $77171,%0 sMULTIPLY 2 # #77777

MFPS @#PSWORD ;SAVE PS

cMPB $1,@#PSWORD ;15 PS = 1

BEQ 410

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
1PS IS WRONG

162

cMP 40,%0 ;I5 HIGH ORDER a @

BEQ . +10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

) ;HIGH ORDER IS WRONG

163

cHMP #177776,%011 ;IS LOW ORDER = 177776

BEQ .+10

151

JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER 15 WRONG OR WRONG SEQUENCE

164

cMP (R5),#224

BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS5)

14199 PAGE 51

MUL INSTRUCTION TESTS
PR e L T T e e T T

1 TEST3225 MUL 77717 * 810 = 8 717770 PS = ¢
PR R R e )

TST2251 SCOPE
MOV

£7777,%2 ;LOAD MULTIPLICAND WITH 7777

MUL 410,%2 sMULTIPLY 7777 # #10

MFPS @#PSWORD ;SAVE PS

cMPB #7,84#PSWORD ;IsPsS = 0

BEQ ,+10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

165

cMP $0,%2 ;1S HIGH ORDER = @

BEQ 410

JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS WRONG

166

3 £77770,%211 ;IS LOW ORDER = 77770

BEQ o+10

183

JSR PC, 6HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER 15 WRONG OR WRONG SEQUENCE

167

CMP (RS),#225

BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS)




)

DFKACA MACYLi
DFKACA, SRC
2042
2043
2044
2045
2046 010274
2047 210076
2058 91019¢0
2049 A10104
2050 210110
2051 910114
2052 010122
2053 10124
2054
2055 910132
2056  §10132
2057 0210136
2058 p10140
20859
2060 #10144
2061 10146
2062 610152
2063 viD154
2064 910154
2065
2066 910169
2067 10162
2068 98190166
2069 212170
2070 9018172
2071
2072
DFKACA MACYI11
DFKACA,SRC
2073
2074
2015
20176
20717 310174
2078 912176
2079 0109202
2080 P12206
2081 610212
2082 10220
2083 810222
2084
2085 210226
2086 210230
2087 519234
2088 210236
2089
2099 910242
2091 910244
2092 510259
2093 910252
2094 010252
2095
2096 010256
2097 210260
2098 010264
2099 #19266
2100
2191

3p(1046)
18eNOV=7S

210701
p10501
812704
B10427
106737
122737
po1403
e04767

809170
922704
e91403
p04767

A80171
22795
201403

084767

90172
n21127
po1372
p10105
695215

3p(1046)
18=N0V=75

610701
212792
a70227
126737
122737
pe14e3
r04767

Bee173
822702
pa1493
094767

pOB174
622723
pa14a3

8904767

800175
©v21527
0o1372
805215

P4=AUG=77 14199 PAGE 52
93100 MUL INSTRUCTION TESTS
IE3 22T 2L 2L BEA R R BN R PR R E RS R R R R R R F R PR BB RS SRR R B R R DR R R I R RRRE
JTEST1226 MUL 77717 % $7717177 = 37777 1 PS = 1
;'iil&illl!ﬁl&ﬂlﬁﬂﬁI#libiiiﬂan;ﬁal*&li*l&iﬂ-l*ﬁﬁ#l!éﬁﬁi&iﬁf!ibiiﬁﬁ“ﬁﬂﬁ
TS§T226% SCOPE
MOV RS, R1 ;SAVE RS
©77771 MoV £777770%4 sLOAD MULTIPLICAND WITH 77777
0877117 MUL #77777,%4 sMULTIPLY 77777 # #77777
0¥0P432 MFPS @4PSWORD ;SAVE PS
000001 ©00V432 CMPB #1,84°5WORD ;15 P8 = 1
BEQ 2410
0906310 JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG
170
037717 cMP #37777,%4 ;1S HIGH ORDER = 37777
BEQ 2410
0p06274 JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER 1S WRONG
171
201001 cMp #1,%411 ;1S LOW ORDER = {
BEQ a+10
1612
B06260 JSR PCy SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE
172
$00226 cMP (R1),#226 ;CHECK THE TEST NUMBER
BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
MOV R1,R5 ;RESTORE RS
INC (RS5)
¥4=AUG~=77 14309 PAGE 53
993100 MUL INSTRUCTION TESTS
}lil.'ll‘i!bﬁl*'i&iil.'ﬁ*ll*‘*i&iI&ll&ﬁGl.iill*i*l&“l'*hb'ﬂli*!'*ﬂ““*
3 TEST3227 MUL =1 ¥ $77777 = =1 100001 pS = 10
,ﬁ'#'bl*iﬂl!&i'I-liilliiﬂ&lhu-lU&ii*‘**l***iﬁ&ﬂi*l**&lli"*i*ﬁh%’i*i***‘
TST227: SCOPE
1777117 MOV #o1,%2 ;LOAD MULTIPLICAND WITH =1
8771717 MUL $77777,%2 sMULTIPLY =1 # #77777
000432 MFPS @#PSWORD ;SAVE PS
000U1n PPp432 CMPB #10,8#PSWORD ;Is PS = 19
BEQ o +10
06212 JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG
173
17717177 CMP #el,%2 ;18 HIGH ORDER 3 =}
BEQ o +10
0A6176 JSR PC, SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS WRONG
174
100901 cMP #100001,%241 ;IS LOW ORDFR = 100001
BEQ W +10
188
006162 JSR PCy6HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE
175
099227 CcMP (R5), 8227
BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
INC (RS)



DFKACA MACY11 39(1046)

DFKACA ,SRC
2102
2103
2104
2105
2106 210270
2197 £10272
2109 610276
2199 $10302
2110 510306
2111 510314
2112 10316
2113
2114 010322
2115 p10324
2116 ©19330
2117 119332
2118
2119 810336
2120 010340
2121 210344
2122 ©19346
2123 210346
2124
2125 ©18352
2126 #10354
2127 510360
2128 910362
2129
2139

DFKACA MACY11

DFKACA, SRC
2131
2132
2133
2134
2135 £10364
2136 12366
2137 919372
2138 910376
2139 p10402
2148 $10416
2141 612412
2142
2143 £10416
2144 910420
2145 210424
2146 610426
2147
2148 010432
2149 010434
2150 212440
2151 R10442
2152 010442
2153
2154  ©10446
2155 910450
2156 010454
2157 018456
2158

2159

18=N0V=TH

p10701
912700
070027
106737
122737
po1403
BO4767

890176
9227046
po1403
234767

200177
©22701
901403

004767

080200
021527
081372
85215

3(1046)
18=N0Va7s

B19701
912792
8702217
186737
122737
po1403
p24767

730201
p22792
381493
$A4767

800202
822703
pa1403

004767

290203
821527
991372
285215

04=AUG=T77

69100

177776
@7171717
nvR432
000011

906116

171771717

vo6102

900002

206066

nve230

¥4=AUG=77

20100

125252
000002
000432
000011

206022

177777

po60B6

052524

005772

000231

@ap432

900432

14129 PAGE 54

MUL INSTRUCTION TEBTS

AR AT AR AL A 2222 AR Rl SIS LTS L)
ML °2 # #77777 = =1 2 P§ & {1
IEAAT T A2 LI AL SRR SRS LA eI sl iRl syl dy

ITEST1230

T8T7230: SCOPE
M

MUL
MFPS
cupB
BEQ
J8R

176
CMP
BEQ
JSR

177
cMP
BEQ

JSR

209
CMP
BNE
INC

14199 PAGE 8%

#e2,%0
#77777.%0
@¥PSWORD
#11,84PSWORD
410

PC,8HLT
#=y,%0

2410
PC,$HLT

#2,%011
1410

PC, $HLT

(R§), #2390
18
(RS)

MUL INSTRUCTION TESTS

JLOAD MULTIPLICAND WITH =2
JMULTIPLY =2 # #77777
18AVE P8

118 P8 = 1

;8EEN AN ERROR, GO TO TH HALT ROUTINE
;P8 1S WRONG

318 HIGH ORDER @ =i

;SEEN AN ERROR, GO TO TH HALT ROUTINE
sHIGH ORDER I§ WRONG

;I5 LOW ORDER & 2

$SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

R T T T e e T s F Y T FRBREEE 3222 )
MUL 125252 # #2 = =1 52524 Ps = 11
PR R R e T T e S A A A T P RS P S Y T e e e e e

JTEST3231

T8T231: SCOPE
Mov

MUL
MFPS
CMPB
BEQ
JSR

204
CMP
BEQ
JSR

202

cMP

BEQ
181

JSR

203
CMP
BNE
INC

#125252,%2
#2,%2
R¥PSWORD
#11,@8#PSWORD
o +10

PC,SHLT

#e1,%2
10
PC,$HLT

#52524,%211
10

PCySHLT

(R8),#231
1$

(RS)

;LOAD MULTIPLICAND WITH $25252
sMULTIPLY 125252 # #2

$SAVE PS

;I8 PS = 11

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS 1S WRONG

;1S HIGH ORDER @ =f

sSEEN AN ERROR, GO TO TH HALT ROUTINE
sHIGH ORDER IS WRONG

;1S LOW ORDER = 52524

3SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE




DFKACA MACY11 36(1046) 04=AUG=77 14109 PAGE 56
DFKACA,SRC 18=N0V<75 po300. MUL INSTRUCTION TEBTS
2160 FRBHG DR BN DR R RSN RD BB RS R AP B R R B RN LB R DR B BB R SRR PR R R DR RN RODDD DR B BB DR R
2161 1TEBT1232 MUL 125252 » #40000 s 165252 100000 P8 = 14
2162 JHR BB R D DEB RN B R RN GO PR BB P PR DR RRRR R D PR RB LB R DR R PR R SRR TR D R R R BRI R RS
2163
2164 P19460 510704 T8T2321 SCOPE
2165 910462 910501 MOV RS,R{ 3 SAVE RS
2166 910464 p12704 125282 MOV #125252,%4 3 LOAD MULTIPLICAND WITH 128252
2167 310470 070427 040000 MUL #40000, %4 FMULTIPLY 125252 % #40000
2168 910474 106737 000432 MFPS @#PSWORD 3SAVE P8
2169 $10500 122737 000011 00AP432 CMPB #11,@#PSWORD 318 P8 = 1y
2170 p10566 01403 BEQ G 10 -
2171 810510 Y4767 Q08724 J8R PC,y BHLT $SEEN. AN ERROR;, GO TO TH HALT ROUTINE
2172 3PS I8 WRONG :
2173 919514 p0O204 204
2174 910516 p22704 168252 cMP #165252,%4 318 HIGH ORDER = 165252
2175 210522 po149l BEQ o+1P
2176 610524 904767 005710 J8R PC, 6HLT 38EEN AN ERROR, GO TO TH HALT ROUTINE
2177 3HIGH ORDER I8 WRONG
2178 610530 pOR20S 205
2179 610532 022705 100000 CMP #100000,%411 ;18 LOW ORDER = §00900
2180 210536 poO1403 BEQ o180
2181 010540 183
# 2182 010540 @04767 vO5674 JSR PCy $HLT 38EEN AN ERROR, GO TO TH HALT ROUTINE
2183 ;LOW ORDER IS WRONG OR WRONG SEQUENCE
2184 p10544 0PO206 206
2185 010546 §21127 000232 CMP (R1),#232 JCHECK THE TEST NUMBER
2186 210552 801372 BNE 18 sIF IN WRONG SEQUENCE GO TO THE HLT ABOVE
2187 810554 10105 MOV R1,RS $RESTORE R5
% 2188 1310556 pO5215 INC (R5)
2189
2190

DFKACA MACY11 3p(1046) ©4=AUG=77 14109 PAGE 57

DFKACA,SRC 18=NOVe7S 23300 MUL INSTRUCTION TESTS

2191 FHBBE SRR DR BE AR RN R BB R R B RERER DR RRRRE RSP E DR BRRRRPD BB R RRRRR R RSB RY

2192 3JTEST:233 MUL 187070 + #107070 = 31222 26100 PS &

2193 R TI IS T I YR T LR R e e L R e e R R A A AT TR T P S T R L

2194

2195 910560 p10741 T5T233: SCOPE

2196 910562 p12790 107070 MOV #107070,%0 ;LOAD MULTIPLICAND WITH §@7070

2197 19566 070027 107870 MUL #107070, %@ JMULTIPLY 107070 * #107070

2198 310572 106737 000432 MFPS @4#PSWORD 3SAVE PS

2199 910576 122737 ¢000081 @90432 CMPR #1,94PSWORD ;IS P8 = |

72200 P12604 PO149) BEQ W +10

_201 010686 (P4767 PR5626 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2202 ;PS5 IS WRONG

2203 910612 pP0e207 207

2204 (126314 22798 031222 CMP $31222,%0 ;18 HIGH ORDER = 31222

2205 #10620 pé14ed BEQ o t10

2206 912622 Y4767 005612 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2207 ;HIGH ORDER 18 WRONG

2208 810626 pPO210 210

2209 010632 $227p91 026100 cMP $26100,%011 ;18 LOW ORDER ® 26109

2210 ©¢10634 p¥1403 BEQ 10

2211 210636 182

2212 010636 04767 005576 JSR PCySHLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
" 2213 ;LOW ORDER IS WRONG OR WRONG SEQUENCE

2214 9210642 p00211 ! 211

2215 610644 21527 000233 CMP (R5),%233

2216 910650 901372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

2217 010652 03215 INC (R5)

2218

2219




DFKACA MACY11 39(1046)
DFKACA , SRC

2220
2221
2222
2223
2224
2225
2226
2227
2228
2229
2230
2231
2232
2233
2234
2235
2236
2237
2238
2239
2240
2241
2242
2243
2244
2245
2246
2247
2248

DFKACA

P10654
810656
910662
910666
910672
$10700
910702

10706
010710
910714
0190716

910722
210724
810730
#10732
$10732

V10736
010740
010744
010746

MACY11

DFKACA ,SRC

2249
2250
2251
2252

210750
810752
810756
w108762
210766
910774
210776

811002
811004
811010
911012

911016
211020
911024
811026
911026

v11032
811034
811040
#11042

18oN0V=75

B10701
912701
p70127
106737
122737
po1403
p84767

pO0212
022791
201403
994767

609213
922701
8914903

#04767

900214
021527
#81372
pB5215

3p(1046)
18=NOV=75S

pi1o7o1
12793
8703217
186737
122737
po1493
904767

000215
822793
981403
pPo4767

900216
222703
201493

904767

900217
621527
001372
905215

A4=AUG=77

00100

1777117
2008001
009432
200019

905532

177777
005516

1777117

905502

000234

04=AUG=77

00100

17771717
0¥00000
000432
890004

#05436

0000060
0805422

#Ne000

205406

000235

000432

8930432

143199 PAGE

58
MUL INSTRUCTION TESTS
Al atadaddsddd AE T ZET T T TE 2 AT L T e T e
1TEST3234 MuL =1 # #1 8 =] =i PS = 19
AR A E T e T T E T T T T T Ty T 2

TST2348% SCOPE
Mov

#el,%1 ;LOAD MULTIPLICAND WITH =1

MUL 91,81 FMULTIPLY =i # #1

MFPS @#PSWORD 7SAVE PS

CHPB #10,@4PSWORD ;18 PS = 10

BEQ 10

JSR PC, SHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS5 IS WRONG

212

cMP #o1,%1 318 HIGH ORDER = ef

BEQ 410

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
sHIGH ORDER IS WRONG

213

CMP Be1,%111 715 LOW ORDER 3 of

BEQ W10

181

JSR PC,SHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

214

cMp (RS),#234

BNE 1% ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS)

14199 PAGE 59

MUL INSTRUCTION TESTS

[ bbbidadaat it A2 2EZIET LS TR I 2L e d T T T T R R T T
JTEST:235 MUL =1 # 40 =2 0 0 PS = &

AR AR TR 2 A AR I e e e T T T e R T T T e 2 X

TS8T235t SCOPE
MOV

¥o1,%3 ;LOAD MULTIPLICAND WITH =f

MUL ¥0,%3 sMULTIPLY =1 # #9

MFPS @4PSWORD $5AVE PS

CMPB #4,04PSWORD ;18 PS5 = 4

BEQ ,+10

JSR PC, $HLT sSEEN AN ERROR, GO TO TH HALT ROUTINE

3PS IS WRONG

215

CMP 40,33 315 HIGH ORDER = ©

BEQ L+10

JSR PC, SHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE

sHIGH ORDER IS WRONG

216

cMp ¥0,%311 ;18 LOW ORDER = @

BEQ .10

181

JSR PC, SHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
~;LOW ORDER IS WRONG OR WRONG SEQUENCE

217 ’

cMpP (RS5), 4235

BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS)

9

W




DFKACA MACY11 3p(1046) 04=AUG=77 14109 PAGE 60

DFKACA,SRC 18«NOVe75 90100 MUL INSTRUCTION TESTS
2278 CHBSBGR R RN R RR RSP GR R DR PR RN DR D B R RN
2279 JTEST1236 MUL 77717 % #100000 = 1900009 100000 P5 ® 1}
2280 IRAZETT 2T 2RI TS 22222 RS2SR RS2 22 TS TR TSRS TRL S RS2 LS 222 L2 2 2
2281
2282 611944 plo701 TST2363 SCOPE
22083 811046 128501 MOV R5,R1 $SAVE RS
2284 @11050 812785 077777 MOV #77777,%5 ;LOAD MULTIPLICAND WITH 77777
2285 011054 70527 100000 MUL 4100000,%5 sMULTIPLY 77777 » #100000
2286 911060 186737 000432 MFPS @#PSWORD 3SAVE PS
2287 811064 122737 000811 000432 CMPB #11,@4PSWORD ;18 PS = 14
2288 511272 01403 BEQ o +10
2289 @11074 0804767 005340 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2290 ;PS5 I8 WRONG
2291 ©11100 pB8220 220
2292 11102 822705 100000 CMP #100000, %5 ;IS HIGH ORDER = 1000090
2293 ©11106 pO1403 BEQ o*10
2294 ©11110 pO4767 005324 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2295 $HIGH ORDER IS WRONG
2296 211114 p00221 221
2297 911116 922795 100000 CMP #100000,%511 ;15 LOW ORDER = 100000
2298 911122 1403 BEQ W +10
* 2299 #11124 181
2300 B11124 pO4767 AP5310 JSR PC,8HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
2301 ;LOW ORDER IS WRONG OR WRONG SEQUENCE
2302 €11130 p208222 222
2383 211132 »21127 000236 CMP (R1),#236 JCHECK THE TEST NUMBER
2304 ©11136 401372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
" 2305 011140 p109105 MoV R1,RS ;RESTORE RS
2306 211142 605215 INC (R5)
2307
2308

DFKACA MACY11 35(1046) 04<AUG=77 14109 PAGE 61

DFKACA, SRC 18=N0V=75 ¢0:00 MUL INSTRUCTION TESTS

2309 SEF G000 00300000 0 300000000 0 00200 S0 0 I3 00 00 A0 00 0300 00 00 00 00 00 20 30 0 00 B0 00000090 0 0

2310 3TEST1237 MUL =1 % 877777 = 100001 100V01 PS = 10

2311 IRAZE T IR 2T A IR X2 X 22 s e R YR IR I T AL R O LA A A AT Y T

2312 .

2313 ¢11144 10701 TST237: SCOPE

2314 11146 812721 177777 Mov #=1,%1 ;LOAD MULTIPLICAND WITH =1

2315 611152 70127 077777 MUL #77777.%1 sMULTIPLY =1 # #77777

2316 9211156 106737 000432 MFPS @4#PSWORD 3 SAVE PS

2317 #11162 122737 000010 00P432 CMPB #10,@4PSWORD ;15 PS = 10

2318 @A11170 PO1403 BEQ o410

2319 811172 104767 005242 JSR PC,8HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE

2320 3PS IS WRONG

2321 e11176 982223 223

2322 11200 5227901 100001 CMP #100001,%1 ;I8 HIGH ORDER = 100001

2323 911204 poO1423 BEQ o109

2324 611206 04767 005226 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2325 ;HIGH ORDER IS WRONG

2326 $11212 00224 224

2327 ©11214 522791 100001 cMP #100001,%111 ;18 LOW ORDER = 100001

2328 £11220 pé1423 BEQ 10

2329 911222 182

2330 w11222 pO4767 905212 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
@ 2331 ;LOW ORDER IS WRONG OR WRONG SEQUENCE

2332 0611226 000225 225

2333 911239 021527 000237 cMP (R5), 4237

2334 811234 po1372 BNE 18 s IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

2335 £11236 985215 INC (R5) '

2336

- T2




DFKACA MACY1] 39(1046)
DFKACA,8RC

2338
2339
2340
23481
2342
2343
2344
2345
2346
2347
2348
2349
2350
2334
2352
2353
2354
2355
2356
2157
2358
2359
2360

DFKACA

911240
611242
611246
611252
211256
911264
811266

911272
811274
911309
911302

911306
p11310
v11334
211316
911316

511322
#11324
@11330
811332

MACY11

DFKACA,SRC

2367
2368
2369
2370
231
2372
2373
2374
2375
2376
2377
2378
2379
2389
2381
2382
2383
23684
2385
2386
2387
2388
2389
2390
2391
2392
2393
2394
2395
2396
2397

¢11334
$11336
9113492
711344
811350
811354
911362
911364

¥11370
011372
011376
©w11400

pi1404
011406
v11412
11414
911414

?11420
©v11422
911426
$11430
911432

18=N0V=75

p1a701
912703
870327
106737
1227317
$¥e1403
294767

900226
©22793
po1403
#04767

909227
922723
vo1403

984767

900230
921527
pv1372
pus215

3p(1046)
18=NOVe75

310701
212591
012705
8708527
106737
122737
pe14e3
Bo4aT67

pd2231
822705
821403
804767

9008232
922705
601493

564767

000233
621127
891372
p10105
005215

A4=AUG=77

00100

877717
217111
000432
200001

9065146

000001
88132

000001

0895116

000240

04-AUG=77

#0100

¥00002
200002
©¥R0432
900009

005050

000004
PO5034

0opN04

295020

200241

000432

000432

14109 PAGE 62

MUL INSTRUCTION TESTS

B0 000000 00 U0 00 0 00 0D 000 00 30 0 0 S
}TEST240 HUL 77777 % #777717 = {1 o P8 = 1

R T Ty e A A L T A R A e T T e e T R R a2

T5T2401 SCOPE
MoV

$77777+%3 ;LOAD MULTIPLICAND WITH 77777

MUL #777717,%3 $MULTIPLY 77777 # 7771717

MFP8 @#PSWORD 1SAVE PS

cMpB #1,24PSWORD ;18 PS B

BEQ 0 %10

J8R PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;P8 I8 WRONG

226

CMP #1,%3 315 HIGH ORDER = 1

BEQ a*10

J8R PC, 8HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
3HIGH ORDER 18 WRONG

2217

CMP #1,%311 ;18 LOW ORDER =

BEQ W10

183

JSR PCySHLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER 18 WRONG OR WRONG SEQUENCE

230

CMP (R5), 4240

BNE 18 3IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS)

14109 PAGE 63

MUL INSTRUCTION TESTS

T T L R A T A R et e a s
1TEST3241 MUL 2% 42 =44 PS z ¢

R e P R T e e R R T a2 e e a gl

T8T2411 SCOPE
MOV

RS,R1 ;SAVE RS

MOV $2,%5 ;LOAD MULTIPLICAND WITH 2

MUL 82,35 sMULTIPLY 2 # #2

MFPS @#PSWORD ;SAVE PS

cMPB #0,@4PSWORD ;IsPs = @

BEQ 2410

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS 15 WRONG

231

cMP 84,35 ;15 HIGH ORDER = 4

BEQ o +10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
jHIGH ORDER 1S WRONG

232

cMP 84,3511 ;18 LOW ORDER = 4

BEQ 410

182

JSR PC,8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

233

cMP (R1),#241 $CHECK THE TEST NUMBER

BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

MOV R1,RS ;RESTORE RS

INC (R5)




DFKACA HMACY11 3p(1846) 04=AUG=77 14109 PAGE 64

DFKACA,SRC 18=N0V=75 60100 HUL INSTRUCTION TESTS
2398 H11434 512702 040000 MOV $40000,%2
2399 011440 012703 000464 MOV #85,%3
24006 911444 p12704 000466 nov #56,%4
2401
2492 RS AT RS2 S TR 2222 A2 d TR LAt A e e sl Iasigitldialetidislely
24v3 JITEST1242 MUL 125252 # 55 = 165252 100000 PsS = 14
2404 IR AT 22222422 IS R A a RS a2 2L e R a2 e i teled i illiiled)
2405
2406 911450 pl1o701 T8T2423 8COPE
24907 011452 912790 125252 MoV $125232,%0 sLOAD MULTIPLICAND WITH 125252
2498 ©11456 70067 167002 MUL 58,%0° jMULTIPLY 125252 » 8§
2409 911462 106737 000432 MFPS R#PSWORD 31 SAVE PS
2419 P11466 122737 p0R0l1 000432 CMPB #11,@8PSWORD 118 P8 = {1
2411 G11474 po1403 BEQ a*10
2412 »11476 pR4767 pO4736 JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
2413 3P8 I8 WRONG
2414 011502 pPR234 234
2415 @11504 922700 165252 CHP #168252,%0 318 HIGH ORDER 3 165252
2416 011510 601403 BEQ o410
2417 011512 @P4767 004722 JSR PC, 8HLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
2418 jHIGH ORDER I8 WRONG
2419 $11516 pOP23S 235

L 2420 $11520 £22701 100000 CMP #100000,%011 318 LOW ORDER = 140000
2421 911524 o143 BEQ %10
2422 11526 183
2423 811526 004767 004706 JSR PC,8HLT $8BEEN AN ERROR, GO TO TH HALT ROUTINE
2424 3LOW ORDER 15 WRONG OR WRONG SEQUENCE
2425 #11532 000236 236
L] 2426 #11534 p21527 000242 CMP (R5),8242

2427 @11540 po1372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
2428 211542 903215 INC (RS)
2429
2439

DFKACA MACY11 32(1046) 04=AUG=77 14199 PAGE 65

DFKACR,SRC 18=N0OV=75 p0O300 MUL INSTRUCTION TESTS

2431 IR TTTTIT TR AR T E AT 2T L 2 22 X oY * # 132322 # L3 il

2432 3TEST1243 MUL 125252 # @56 = 165252 100000 PS = 11}

2433 D T T e T T T T T T T T T T Y F R Y T T Y T

2434

2435 11544 ptolel TST243% SCOPE

2436 911546 p12700 125252 MOV $#125252,%0 ;LOAD MULTIPLICAND WITH 125252

2437 11552 9798877 166710 MUL @56,%0 sMULTIPLY 125252 # @86

2438 11556 106737 000432 MFFS @#PSWORD ;SAVE PS

2439 ©11562 122737 000011 980432 cupB #11,88PSWORD ;IS P8 = 11

2442 611570 0pv1403 BEQ o *10

2441 911572 304767 004642 JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2442 ;PS8 1S WRONG

2443 ©11576 0237 237

2444 511600 922700 165252 CMP #165252,%0 ;I8 HIGH ORDER = 165252

2445 11604 po1493 BEQ o410

2446 11606 pB4767 4626 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2447 sHIGH ORDER I8 WRONG

2448 911612 00240 240

2449 311614 22761 100000 cMp #100000,%0{1 ;15 LOW ORDER = 1090020

2450 #11620 @v1403 BEQ at10

2451 911622 183

2452 #11622 pP4767 004612 JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
@ 2453 ;LOW ORDER 15 WRONG OR WRONG SEQUENCE

2454 211626 pBo241 244

2455 11630 p21527 00243 CMP (R5),#243

2456 11634 pe1372 BNE 18 3 IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

2457 811636 905215 INC (R3)

2458

2459




DFKACA MACY11 3p(1046) 04°AUG=77 14109 PAGE 66

DFKACA,SRC 18=N0V<75 @031090 MUL INSTRUCTION TESTS
2460 RS AR T2 2 A2 22 S22 2R SR 2R AR e e I I A2z R ITL LT L)
2461 JTEST1244 MUL 125252 # @#55 ® 165252 100000 PS ® 14
2462 JERBH R R R BRI HRE R R BB BRI NG * LAA 4 #* 8 3 & ®
2463
2464 911640 p10701 TST2441 SCOPE
2465 P11642 p12790 125252 MOV #125252,%0 sLOAD MULTIPLICAND WITH 125252
2466 911646 p70037 000464 MUL 485,30 sMULTIPLY 125252 # @485
2467 £11652 106737 000432 MFPS @#PSWORD $SAVE PS
2468 11656 122737 000011 000432 CMPB #11,@4#PSWORD ;I8 PS = 14
2469 211664 po140) BEQ o410
2470 11666 ©04767 004546 JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2471 ;P8 IS WRONG
2472 911672 000242 242
2473 911674 922700 165252 cMP #165252,%0 ;IS HIGH ORDER ® 165252
2474 811700 01403 BEQ o +10
2475 811702 024767 004532 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2476 sHIGH ORDER 15 WRONG
2477 911706 POO243 243
2478 211710 922701 100000 cMP #100000,%011 315 LOW ORDER = 140000
2479 211714 901493 BEQ o +10
2480 911716 183
2481 811716 004767 004516 JSR PCySHLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
2482 ;LOW ORDER IS5 WRONG OR WRONG SEQUENCE -
2463 911722 00244 244
2484 011724 921527 000244 CMP (R5),#244
2465 211730 801372 BNE 18 sIF IN WRONG SEQUENCE GO TO THE HLT ABOVE
2486 811732 905215 INC (RS)
2487
2488 -

DFKACA MACY11 35(1246) 04=AUG=77 14199 PAGE 67

DFKACA,SRC 18=NOV=75 20100 MUL INSTRUCTION TESTS
2489 R T e T T Ty Y T 2
2490 3TEST1245 MUL 125252 # %2 = 165252 100000 PsS = 114
2491 JHEBE G RN BB U BB R R RPN S BB R DB R BB R BB DR B R BB R BB R R BN BN B DB R BB RR B BE RSN DE Y
2492
2493 011734 10701 TST2453 SCOPE
2494 11736 12792 125252 MOV #125252,%0 ;LOAD MULTIPLICAND WITH $125252
2495 011742 p70002 MUL %2,%0 sWULTIPLY 125252 » %2
2496 011744 106737 90D432 MFPS @#PSWORD ;SAVE PS
2497 911750 122737 000011 000432 CMpPB #11,@2PSWORD ;18 Ps = 11
2498 11756 @01403 BEQ o*10
2499 11760 004767 004454 JSR PC,$HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
2500 ;P8 IS WRONG
2501 ®11764 p0OO245 245
2502 B11766 022790 165252 CMP #165252,%0 3IS HIGH ORDER = 165252
2503 9011772 01403 BEQ 2410
2504 11774 004767 004440 JSR PCy$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2505 jHIGH ORDER IS WRONG
2596 912000 DB00246 246
2507 912002 p22781 100000 cMP #100000,%011 315 LOW ORDER = {vQvve
2508 912006 01493 BEQ 2*10
2509 p12019 183
2510 ©12010 pP4767 pO4424 JSR PCySHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
2511 ;LOW ORDER IS WRONG OR WRONG SEQUENCE "
2512 Q12014 900247 247
2513 ©12016 21527 Q0P245 CMP (R5), #4245
2514 ©12022 pB1372 BNE 18 3IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
2515 812024 905215 INC (RS)
2516
2517 Y




DFKACA MACY11 38(1046) 24=AUG=77 143109 PAGE 68

DFKACA ,SRC 18=N0V<7S 00300 MUL INSTRUCTION TESTS
2518 R T T T s T T T T e e Y e T L)
2519 JTEST3246 MUL 125252 # (3)+ = 165252 100000 PS = 1t
2520 R T Y T T T 1
2521
2522 912026 10701 T5T246% SCOPE
2523 212030 12700 125252 MoV #125252,%0 ;LOAD MULTIPLICAND WITH 125252
2524 12034 70023 MUL (3)+,%0 sMULTIPLY 325252 ¥ (3)+
2525 12036 106737 600432 MFPS @#PSWORD ;SAVE PS
2526 912042 122737 000011 000432 CcMPB #11,@4PSWORD ;IS PS = 11
2527 912050 901403 BEQ o+10
2528 912052 004767 004362 JSR PC,8HLT 3;SEEN AN ERROR, GO TO TH HALT ROUTINE
2529 1P8 IS WRONG
2530 912056 900250 250
2531 012060 p22792 165252 CMP #165252,%0 3158 HIGH ORDER = 165252
2532 912064 pO1423 . BEQ o*+10
2533 P12066 04767 004346 JSR PC,SHLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
2534 . $HIGH ORDER IS WRONG
2535 912072 0008251 251
2536 912074 022731 100000 CMP #100000,%011 315 LOW ORDER = 100000
2537 012100 vV1493 BEQ o +10
2538 12102 183
% 2539 J12192 pe4767 nA4332 JSR PC,y8HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
2540 ;LOW ORDER IS WRONG OR WRONG SEQUENCE
2541 912106 980252 252
2542 212110 921527 000246 CMP (R5), 8246
2543 812114 po1372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
2544 912116 695215 INC (RS)
2545
# 2546

DFKACA MACY11 36(1646) 04-AUG=77 14109 PAGE 69

DFKACA,SRC 18=N0V=75 00300 MUL INSTRUCTION TESTS

2547 R Ty g e T A Ty T e

2548 JTEST3247 MUL 125252 # =(3) = 165252 100v00 PS 3 1}

2549 PRI TR R X T e Y I R R e R A R R e R T A A T e TR T 1)

2550

2551 o©1212¢ pt1o701 TST247t SCOPE

2552 912122 12720 125252 MoV $#125252,%0 3LOAD MULTIPLICAND WITH 125252

2553 912126 @78c43 MUL =(3))%0 sMULTIPLY 125252 * =(3)

2554 $12139 106737 000432 MFPS @#PSWORD ;SAVE PS

2555 912134 122737 020011 000432 CMPB #11,88PSWORD ;18 PS = 11

2556 12142 pO1403 BEQ o +10

2557 912144 pO4T67 004270 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2558 3PS IS WRONG

2559 612150 220253 253

2560 v12152 22700 165252 CcMP #165252,%0 ;IS HIGH ORDER = 165252

2561 012156 1423 BEQ 10

2562 £12160 pJ4767 004254 JSR PC,8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2563 ;HIGH ORDER IS WRONG

2564 £12164 0200254 254

2565 212166 ©22731 120000 CMP #100000,%01 15 LOW ORDER = 100000

2566 ©12172 71403 BEQ 10

2567 12174 183

2568 012174 004767 004240 JSR PCySHLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
- 2569 ;LOW ORDER IS WRONG OR WRONG SEQUENCE

2570 P12200 PB0255 255

2571 912202 921527 ©90p247 CMP (RS), %247

2572 ©512206 901372 BNE 18 sIF IN WRONG SEQUENCE GO TO THE HLT ABOVE

2573 ©12210 95215 INC (RS)

2574

. 2575




DFKACA MACY1! 3p(1046)
DFKACA,SRC

2576
2577
2578
2579
25680
2581
2582
2583
2584

DFKACA

912212

612214
812220
912224
012239
912236
012240

0912244
912246
912252
012254

512260
7912262
vw12266
012270
©¥12270

v12274
012276
012302
012304

MACYL1

DFKACA, SRC

2605
2606
2607
2608
2609
2610
2€11
2612
2613
2614
2645
2616
2617
2618
2619
2620
2621
2622
2623
2624
2625
2626
2627
2628
2629
2630
2631
2632
2633

412306
@12340
212314
912329
©v12324
612332
612334

8123409
912342
712346
512350

$12354
@12356
912362
012364
912364

912370
»12372
912376
0124090

18=NOV=75

p107a1
012729
70064
106737
122737
Y1403
04767

280256
0922700
poid4al
004767

ove257
822701
pB1423

004767

00260
0921527
po1372
98215

39(1046)
18=NOVe75

p1e7et
612700
p70074
196737
122737
vo1403
904767

900261
?22700
po1403
004767

098262
022701
po1423

204767

000263
821527
p01372
005215

P4=AUG=T7

00109

125252
000092
000432
000011

004174

165252
904160

100000

A04144

000250

34=AUG=77

00190

125252
009000
000432
000011

904100

165252
004064

100000

704050

000251

000432

000432

14109 PAGE 70

MUL INSTRUCTION TESTS

R I T e T T LYy Y e et st a st A A e T e A a2 L]
JTEST280 MUL 125252 # 2(4) = 165252 100000 P8 = 11
T L T T R T T E R A s A e At el

7872501 8COPE
HOV

$125252,%0 3 LOAD MULTIPLICAND WITH 125252

MUL 2(4),%0 sMULTIPLY 125252 ¢ 2(4)

MFP8 @48PSWORD 38AVE P8

CMPB #11,84PSWORD ;16 P8 = 1}

BEQ W *10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3PS I8 WRONG

256

CMP #165252,%0 318 HIGH ORDER = 165252

BEQ o +10

J8R PC, 8HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER I8 WRONG

257

(4.1 #100000,%0)1 318 LOW ORDER ® 109000

BEQ s *10

168

JSR PC,8HLT $SEEN AN ERROR; GO TO TH HALT ROUTINE
;LOW ORDER 18 WRONG OR WRONG SEQUENCE

260

CHP (R5), 4250

BNE 18 $1F IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS)

14199 PAGE 7

1
MUL INSTRUCTION TESTS
FAE 0000 00006 000000000015 6000 00000 0 0030 000 00 0300000 030 00 03U N
3 TEST3251 MUL 125252 # @(4) = 165252 100000 Ps = 11
R IR e T I R R L e R I S T 2 e S L Al L

TST254t SCOPE
MOV

¥125252,%0 ;LOAD MULTIPLICAND WITH 125252

MUL 804),40 sMULTIPLY 125252 * (4)

MFPS @¢PSWORD :SAVE PS

CMPB  #11,0#PSWORD ;IS5 PS = 11

BEQ ,+10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3PS 1S WRONG

261 .

cup $165252,%0 ;15 HIGH ORDER = 165252

BEQ o410

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
sHIGH ORDER 1S WRONG

262

cMp #100000,%011 ;18 LOW ORDER = 100009

BEQ o410

183

J8R PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

263

cMP (R5),#251

BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS)




DFKACA MACY1§
DFKACA,8RC
2634
2635
2636
2637
2638 g124@2
2639 $12404
2640 B12410
2641 91324312
2642 g12416
2643 2812424
2644 112426
2645
2646 ©§2432
2647 £12434
2648 12440
2649 912442
2650
2651 €£12446
2652 212450
2653 ©12454
2654 12456
2655 12456
2656
2657 912462
2658 512464
2659 912470
2660 £12472
2661
2662
DFKACA MACY11
DFKACA, SRC
2663
2664
2665
2666
2667 212474
2668 12476
2669 12502
2670 312504
2671 912510
2672 ¥12516
2673 ©12520
2674
2675 912524
2676 w12526
2677 ©12532
2678 912534
2679
2660 912542
2681 912542
2682 912546
2683 @12550
2604 125350
2685
2686 12554
2687 012556
2668  $12562
2689 ¢12564
26990

2691

Ip(10946)
18«NOV=75

818761
012700
70034
196737
122737
6914083
#4767

peo264
922700
pet4el
804767

000265
p22701
pN1493

94767

090266
821527
pe13r2
P95215

3gt1046)
18=N0V=75

018701
w12700
072054
196737
122737
©¥o1403
294767

680267
922704
po1403
@o4767

690270
822701
p91403

©é4767

690271
821527
881372
805215

04=AUG=T7

20100

125252

000432
[-LLT2Y}
294006

165232
203772

1200000

993756

900252

24=AUG=77

290300

125252

n0e432
000011
603714

165252

203700

100000

003664

000253

PoB432

enpe32

14199 PAGE 72

MUL INSTRUCTION TESTS

L LTy e T T Y T A T T Ty ey ey
3 TESTE252 MUL 125252 # #(4)+ = 165252 100000 PS & 11

CPURRRRARP AR R R RN R BB R AR R B SRR R R R RN R R DO R RN AR RGP RO R RN R B RN R R RR RN

7872523 SCOPE
MOV

#125252,%0 ;LOAD MULTIPLICAND WITH 125252

MUL 8(4)+,%0 JMULTIPLY 125252 # @(4)+

MFPS  @¥PSWORD JSAVE P8

CMPB  #11,@4PSWORD ;I8 P8 ® 1}

BEQ +10

JSR PC, $HLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
;P8 1S WRONG

264

cHP $165252,%0 ;15 HIGH ORDER ® 165252

BEQ ,+10

ISR PC, SHLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
JHIGH ORDER IS WRONG

265

cup #100000,%011 715 LOW ORDER & 100009

BEQ o 10

181 .

JSR PCyHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

266 ;

CcMP (RS), #2532

BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS) ’

14199 PAGE 73

MUL INSTRUCTION TESTS

FHUB SRR BRI BN B RN BN BRI B BERBBER HERNBBEY #
JTEST;253 MUL 125252 # @=(4) = 165252 100000 Ps 3 {1
R T R R L L s Ty ey T e T

T5T253% SCOPE
HOV

$125252,%0 ;LOAD MULTIPLICAND WITH 125252

MUL 8=(43,%0 JMULTIPLY 125252 # @w(4)

MFPS  @W#PSWORD $SAVE PS

CMPB #11,@#PSHORD ;15 P8 = 11

BEQ L +10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;P5 IS WRONG

267

cHP $165252,%0 ;1S HIGH ORDER = 165252

BEQ L4109

JSR PC, $HLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS WRONG

270

cMP 9100000,%011 $1S LOW ORDER = 100000

BEQ o410

181

JSR PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

271

cup (RS), 4253

BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

INC (RS)




DFKACA MACY11 38(1046) 04=AUG=77 141¢9 PAGE 74

DFKACA,8RC 18=N0Ve?5 00100 DIV INSTRUCTION TESTS
2692 ‘ §OF RO G000 000000 0000 000 U0 0 000 000 0 O 0 0
2693 H DIV INSTRUCTION TESTS
2694 R T T T e e E e T e
2695
2696
2697
2698 PR T e L L a2 T e d i iR i i gt
2699 JTEST1254 DIV ? 4/ 42z 2 REM 3 ¢ P8 & 0
27090 FHRB BB RN R BB BB R R R RN BB R B RN RN RN B R RRNRBRR RN BN
2701
2702 ©12566 p10701 T8T2541 SCOPE
2703 912570 12700 1¥0OQV0OQ MOV #0,%0 sLOAD HIGH ORDER WITH @
2704 912574 212701 000004 MOV #4,%0+1 3LOAD LOW ORDER WITH 4
2765 ©12600 p71027 P0PVO2 DIV #2,%0 ;DIVIDE BY #2
2706 012604 106737 V00432 MFPS @#PSWORD 3 SAVE PS
2797
2708 12610 122737 000000 QVO432 CMPB #0,84#PSWORD ;I8 PS s 0
2799 612616 pU1493 BEQ o+10
2710 ©12620 Q04767 003614 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2711 3PS 1S WRONG
2712 912624 990272 272
2713 *
2714 912626 ©22700 000002 CMP 12,%0 ;1S QUOTIENT = 2
2715 912632 921423 BEQ «+10
2716 12634 p0O4767 003600 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2717 ;QUOTIENT IS WRONG
2718 0126423 0273 273
2719 -
2720 912642 222701 000000 CMP #0,%0+1 318 REMAINDER = @
2721 612646 291423 BEQ o ¥10
2722 912650 04767 003564 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2723 ;WRONG REMAINDER
2724 912654 pOD274 274
2725 ©#12656 21527 000254 CMP (R5),#254
2726 912662 21423 BEQ o*10 ;IF IN WRONG SEQUENCE GO TO THE HLT
2727 812664 pPo4767 003550 JSR PC, 8HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
2728 3TEST IS IN WRONG SEQUENCE
2729 ©12678 pO027S 275
2730 »12672 pP9¥S5215 INC (R5)
2731

DFKACA MACY11 38(1946) 0Q4=AUG=77 14109 PAGE 75

DFKACA ,SRC 18=NOV=75 20100 DIV INSTRUCTION TESTS
2732 B30 363500 0 0 0 0006 00 00 0 000 00 00 030
2733 3TEST12585 DIV el «9, / $3 3 o3 REM 3 0 Ps = 10
2734 FREBH SRS BRRBB R BB R RN E BERB BB * * BRBREY
2735
2736 12674 plo7e1 TST255% SCOPE
2737 ©12676 812702 177777 MOV #=1,%2 ;LOAD HIGH ORDER WITH =i
2738 12702 12793 177767 MOV $29,,%2¢1 ;LOAD LOW ORDER WITH =9,
2739 012706 71227 000003 DIV #3,%2 ;5IVIDE BY #3
2740 212712 106737 000432 MFPS @#PSWORD ;SAVE PS
2744
2742 ©12716 122737 000010 000432 CMPB #10,@4#PSWORD ;18 PS = 10
2743 9012724 01403 BEQ 2410
2744 912726 24767 003506 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2745 3PS 1§ WRONG
2746 912732 9080276 276
2747
2748 212734 922702 177775 CMP $=3,%2 ;IS QUOTIENT 3 =3
2749 012740 901403 BEQ o*10
2750 012742 24767 003472 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2751 ;QUOTIENT IS WRONG
2752 w12746 906277 2717
2753
2754 912750 @22703 000000 CMP #0,%2+1 -3 18 REMAINDEK = @ R
2755 012754 02014233 BEQ W *10
2756 912756 @04767 003456 JSR PC,$HLT ;SEEN AN ERROR, GU TO TH HALT ROUTINE
27517 3 WRONG REMAINDER
2758 912762 800300 300
2759 912764 221527 000255 CMP (R5),#255
2760 912770 081443 BEQ 2410 ;IF IN WRONG SEQUENCE GO TO THE HLT »
2761 912772 204767 p03442 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2762 sTEST I8 IN WRONG SEQUENCE
2763 912776 900301 301
2764 913000 805215 INC (RS)




JFKACA MACY11 38(1046) 04<AUG=77 14199 PAGE 76

JFKACA,SRC 18=N0V=75 00100 DIV INSTRUCTION TESTS

2766 ’"iili"ﬂi"'i‘ﬂldD"DGO.I’ﬁ"i"l‘i‘.lﬁ‘il'“iﬂ&ii*.lilli*ﬂi.l'&“ﬁ‘l“‘*
2761 3} TEST31256 DIV A9, / #2 s 4 REM = 1 PS & 0
2768 R T T T
2769
2770 013002 pl1o701 T8T2568 SCOPE
2771 9313004 12501 Mov RS,R1 ;s SAVE RS
2772 013006 12704 006000 Hov 8#0,%4 ;LOAD HIGH ORDER WITH @
2773 013012 912705 020011 MoV #9,,%441 ;LOAD LOW ORDER WITH 9,
2774 13916 p71427 000002 D1V #2,%4 ;DIVIDE BY #2
2775 913022 106737 000432 MFPS @#PSWORD 3SAVE PS8
2776
2777 #13026 122737 000000 000432 CMPB $0,@#PSWORD ;IS PSs 3 0
2778 13034 poO1403 BEQ «t10
2779 613036 094767 103376 JSR PC, SHLT s SEEN AN ERROR, GO TO TH HALT ROUTINE
2780 ;PS 1S WRONG
2781 ©13042 000392 302
2782
2783 213044 922704 000004 CMP #4,%4 ;1S QUOTLENT = 4
2784 @©13050 po1403 BEQ o+10
2785 13052 pA4T67 003362 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2786 ;QUOTIENT IS WRONG
2787 ©13056 pVYR3I03 3e3

* 2768
2789 e1306n 22795 0VVOAL CcMP #1,%441 315 REMAINDER =
2790 913064 @v1403 BEQ o +10
2791 13066 4767 083346 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2792 ;WRONG REMAINDER
2793 13072 00304 304

L 2794 013074 p10125 MOV Ri,R5 $RESTORE RS
2795 913076 821827 000256 CcMP (RS),#256
2796 v13102 o143 BEQ o410 ;IF IN WRONG SEQUENCE GO TO THE HLT
2797 13194 pR4767 0@3330 JSk PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2798 ;TEST IS IN WRONG SEQUENCE
2799 £13110 peOILS ans
2800 913112 95215 INC (RS)
2801

JFKACA MACY11 3p(1046) 0@4=AUG=77 14199 PAGE 77

WFKACA,SRC 18=N0OV=75 @a:190Q DIV INSTRUCTION TESTS
2802 AT YT TS T T e Y s T T R I T Y 2 Y PR T T T T T Y 2 Y
2803 3TEST3257 DIV el =9, / #2 = =4 REM 3 =} PS = 10
2804 FHBUBBRWBBI IR BB BI040 00 0 00 30 S0 0 30 36 300 3 6
2805
2806 013114 @10701 TST257% SCOPE
2897 213116 012700 177777 MOV i=1,%0 ;LOAD HIGH ORDER WITH =g
2808 913122 p12701 177767 MOV $29,,%0+1 ;LOAD LOW ORDER WITH =9,
2809 ©13126 @71027 000002 DIV #2,%0 ;DIVIDE BY #2
2819 913132 106737 909432 MFPS B#PSWORD ;SAVE PS
2811
2812 ©13136 122737 000010 000432 CMPB $#10,@3PSWORD $11S PS = 10
2813 w13144 021403 BEQ o410
2814 213146 pA4767 003266 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2815 3PS IS WRONG
2816 ©13152 22306 306
2817
2618 013154 @22700 177774 CMP #o4,%0 315 QUOTIENT = =4
2819 913169 pO1403 BEQ o +10
2820 213162 pO4T67 033252 JSR PC, $HLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
2821 . ;QUOTIENT 1S WRONG
2822 913166 909307 307
2823
* 2024 @13170 922701 177777 CMP #=1,%0+1 ;I8 REMAINDER = =1
2825 13174 ev14a) BEQ 2710
2826 Ww13176 pO4767 003236 JSK PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2827 ;WRONG REMAINDER
2828 613202 pPO319 310
2829 w13204 21527 000257 CMP (RS),#257
2830 132190 001403 BEQ o +10 ;IF IN WRONG SEQUENCE GO TO THE HLT
® 2831 613212 po4767 003222 JSK PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
2832 sTEST IS IN WRONG SEQUENCE
2833 ¢13216 popdtl 311
2834 913222 05215 INC (R5)

2835




WWKACA MACYS1 3p(1040)
\FKACA,8RC

2836
2837
2838
2839
2040
28414
2842
2843
2844
20845
2846
2047
2048
2049
2850
2851
2852
2853
2854
2855
2856
2857
2858
2859
2860
2861
2862
20863
2864
2865
2866
2867
2868
2869

FKACA

913222
913224
013230
913234
913240

913244
913252
913254

©¥13260

913262
913266
913279

913274

813276
913302
v13304

n13310
013312
©¥13316
913320

rf13324
813326

MACY1)

FKACA,SRC

2870
2671
2872
2873
2874
2875
2876
2877
2878
2879
2889
2881
2682
2083
2684
288%
2886
2887
2888
2889
2890
2891
2892
2893
2694
2895
2896
2897
2898
2899
2900
2901
2902
29903
2904
2905

913330
013332
v13334
913340
813344
713350

213354
913362
913364

©13370

813372
¥13376
613400

¢13404

#13406
913412
913414

213420
n13422
$13424
#13430
913432

913436
913440

18=NQVeTS

210701
wi2702
912703
271227
106737

122737
¥o1403
po4767

pBe312

0822792
pA1403
8904767

90313

922703
po1403
904767

[TT X3
p21527
po1403
04767

pa0315
pu5215

3p(1046)
18=NOV=75

810701
p12a521
612704
812705
071427
106737

122737
8v1493
824767

800316

822704
V01403
®04767

pve3t7

622705
pd1403
004767

900320
810105
221527
oP1403
904767

209321
pa5215

04=AUG=77

00309

000000
090002
177778
000432
o004

203160

800000
003144

000002

pB3130

000260
003114

04=AUG=77

09100

1777717
177776
#ovo03
900432
000004

09023050

“00000

803034

177776

003020

000261

003002

009432

000432

14199 PAGE 78

DIV INSTRUCTION TE3TS
JUR SRR BB R SRR R B P R NP R R BN R RN DR RIRE BB RPN IR SR E R R RN RPN D B BB R RN R

JTEST1260 124 02/ #=3 = 0 REM = 2 P8 = 4
A T Ty Y T e T e T R e e T R A e e R e TR T e 2T

T8T260t 8COPE
MOV

80,3%2 JLOAD HIGH ORDER WITH @

MOV 12,8241 sLOAD LOW ORDER WITH 2

DIV #e3,%2 ;DIVIDE BY #e3

MFPS @4PSWORD 7SAVE P8

CHPB #4,8#PBWORD ;18 PS = 4

BEQ o +10

JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
7PS 18 WRONG

312

cuP $0,%2 $15 QUOTIENT = 0

BEQ o410

JSR PC, SHLT $BEEN AN ERROR, GO TO TH HALT ROUTINE
JQUOTIENT 18 WRONG

313

cup $2,%2+1 718 REMAINDER ® 2

BEQ W10

ISR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

314

CMP (R5), #4260

BEQ . +10 sIF IN WRONG SEQUENCE GO TO THE HLT

JSK PC, §HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST 15 IN WRONG SEQUENCE

315

INC (RS)

14199 PAGE 79

DIV INSTRUCTION TESTS

P Ry e T e T A e e a2 e des
sTEST1261 DIV =1 =2 / #3 = 0 REM & =2 PS = 4
B0 00 000000 A 000 20 00 U 0000 00 000 00 00000 00 A0 00 00 B0 00 00 300 003000 00 I

T8T2613 SCOPE
MOV RS,R1 ;SAVE RS

MOV $e1,%4 ;LOAD HIGH ORDER WITH ={

MOV ¥e2,8441 ;LOAD LOW ORDER WITH =2

DIV #3,%4 ;DIVIDE BY #3

MFPS @#PSWORD ;SAVE PS

cMPB #4,0#PSHORD ;15 PS = 4

BEQ W+18

JSK PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS 1S WRONG

316

cuP 40,%4 ;1S QUOTIENT = 0

BEQ o +10

JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
JQUOTIENT IS WRONG

317

cMP $2,%441 715 REMAINDER = =2

BEQ 410

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

320

MOV R1,RS ;RESTORE RS

cMP (R5),#261

BEQ W +10 ;IF IN WRONG SEQUENCE GO TO THE HLT

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
$TEST IS IN WRONG SEQUENCE

321

INC (RS)

i
%

/%iza




FKACA

MACYLL

FKACA,8RC

2906
2907
2908
2999
2910
2911
2912
2913
2914
2915
2916
2917
2918
2919
2920
2924
2922
2923
2924
2925
2926
2927
2928
2929
2930
2931
2932
2933
293¢
2935
2936
2937
2938
2939

FKACA

#13442
B13444
813430
#13434
p13460

13464
413472
¥13474

513500

013502
013506
013519

213314

©13516
©v13522
913524

713530
#13532
813536
213540

813544
#13546

MACY11

FKACA,SRC

2940
2941
2942
2943
2944
2945
2946
2947
2948
2949
2950
2951
2952
2953
2954
2955
2956
2957
2958
2959
2960
2961
2962
2963
2964
2965
2966
2967
2968
2969
2970
2971
2972
2973

#13550
¥13552
913556
213562
913566

v13572
©¥13600
013622

213606

¢13610
r13614
#13616

¥w13622

913624
w13630
$13632

¢13636
013640
v13644
013646

913652
513654

3p(1046)
18aN0VsTS

516781
pi12700
p12761
671027
106737

122737
901403
004767

pB8322

0922700
81403
994767

BY0323

n22701
ve1493
894767

000324
921527
po1403
504767

590325
$¥a5215

3p(1046)
18«NOVe7S

016701
“12720
812701
v71027
106737

122737
@yo1403
004767

#0p326

0822700
po1403
po4767

600327

¢22701
1403
804767

£v0330
821527
po1403
804767

pBP33L
985215

04=AUG=77

80300

177717
177777
920001
000432
000040

802740

17171717
¥02724

200000

@02710

0908262

002674

24=AUG=T77

00300

400000
¥oYVYd
90001
000432
000004

202632

000000
002616

LI Ll
002602

200263

902566

900432

P00432

14109 PAGE 80

DIV INSTRUCTION TESTS

BRI A2 P L Rt R e E R AL T AT A2 TR TS 2 L L)
1TEST1262 D1v =1 =1 / #1 w =f REM = 9 P8 = 10
R T I T A R a e T L T A A A T e 2 L L

T8T2621 SCOPE
MOV

$e1,%0 JLOAD HIGH ORDER WITH =

MOV $o1,%0¢1 JLOAD LOW ORDER WITH ef

DIV ¥1,%0 ;DIVIDE BY #3

MFPS  @HPSWORD }8AVE PS

CMPB 410, 8#PSHORD ;18 P8 = 10

BEQ s +10

J8R PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;P8 18 WRONG

322

cMpP t=1,%0 118 QUOTIENT 3 =y

BEQ W10

JSR PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
JQUOTIENT I8 WRONG

323

cup 40,8041 ;15 REMAINDER = @

BEQ S 410

JSR PC, $HLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

324

cHP (R5), 9262

BEQ W10 ;IF IN WRONG SEQUENCE GO TO THE HLT

JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

325

ING (RS)

14199 PAGE 81

DIV INSTRUCTION TESTS

T e AR ey e e a s i e e el el
JTEST1263 DIV 20/ #1590 REM = 9 Ps = 4

R T ey e 2 e e R e e

TST263% SCOPE
MoV

#0,%0 ;LOAD HIGH ORDER WITH @

MoV 10,3041 ;LOAD LOW ORDER WITH g

DIV ¥1,%0 ;DIVIDE BY #1

MFPS @#PSWORD ;SAVE PS

cMPB ¥4,@#PSWORD ;15 P8 = 4

BEQ ,+10

JSK PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS5 18 WRONG

326

cmp 10,%0 ;I8 QUOTIENT = ©

BEQ 410

JSR BC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

327

cMP 80,3041 ;15 REMAINDER = ¢

BEQ ,+10

JSR PC, §HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

330

cMpP (RS),#263

BEQ ,+10 ;IF IN WRONG SEQUENCE GO TO THE HLT

JSR PC, $HLT ;SEEN AN.ERROR, GO TO TH HALT ROUTINE
;TEST 15 IN WRONG SEQUENCE

331

NG (RS)




FKACA MACY11 39(1946)
FKACA(SRC

2974
2975
2976
2977
2978
2979
2960
2981
2982
2983
2984
2985
2986
2987
2968
2989
2990
2991
2992
2993
2994
2995
2996
2997
2999
2999
3000
3ol
3002
3003
3004
3005
3006
3007

FKACA

913656
213660
013664
913670
913674

913700
813706
p13710

v13714

p13716
613722
313724

213730

©813732
813736
013740

¥13744
613746
©13752
©13754

613760
913762

MACY11

FKACR,SRC

3008
3009
3019
3011
3012
3013
3014
3015
3016
3017
3018
3019
3020
3021
3022
3023
3024
3025
3026
3027
328
3029
3030
3031
3032
3033
3034
3035
3036
3037
3038
3039
3040
3041
3042
3p43

P13764
213766
813770
613774
914000
814004

714010
014016
214929

914024

214026
©¥14032
914034

p14040

214042
£14046
214050

P14054
©14056
$14060
214064
914066

014072
914074

18=NOV=75

910701
812702
812703
071227
106737

122737
891493
804767

998332

22702
pY1403
024767

000333

022703
0901403
024767

9908334
021527
pv1403
4767

pBO335
805215

3p(1046)
18=NOV=75

810721
p18501
912704
012705
871427
106737

122737
wv1403
po4767

900336

922704
8A1403
pv4767

900337

022705
001403
004767

890340
p10105
921527
po1403
204767

800341
805215

04=AUG=T77

00100

177777
125252
©¥00002
000432
P00010

002524

152525
902510

000000

0902474

©¥0oY264

002460

#4«AUG=T7

20300

177717
1777717
1777717
906432
000000

002414

000001
002400

000000
902364

000265

902346

000432

000432

143199 PAGE 82

DIV INSTRUCTION TESTS

R T T e a a Ty T  aaa it at 2 ST LS E L L e St
JTEST1264 DIV =1 125252 / #2 3 152525 REM = @ PS 3 19
R T s e e T e T S e R i e e it

T8T2643 SCOPE
MOV

#°1,%2 7LOAD HIGH ORDER WITH =1

MOV #125252,%2+1 ;LOAD LOW ORDER WITH 125252

DIV #2,%2 ;DIVIDE BY #2

MFPS @#PSWORD ;SAVE PS

CMPB #10,@4PSWORD ;1S PS = 10

BEQ o +10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3PS I8 WRONG

332

CMP #152525,%2 ;IS QUOTIENT = 152528

BEQ o +10

JSR PC,8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
sQUOTIENT IS WRONG

333

CMP #0,32+1 ;15 REMAINDER = @ ®

BEQ W t10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

334

CMP (RS),#264

BEQ o410 ;IF IN WRONG SEQUENCE GO TO THE HLT -

JSR PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

335

INC (RS)

14399 PAGE 83

DIV INSTRUCTION TESTS

R s T T it a2 22 ST T TR 22 L
3TEST:265 DIV =1 o1 / #=1 = 1 REM = ¢ PS =0
R T L R e R R R e e 2 ey

TST2658 SCOPE
MOV

RS, R1 ;SAVE RS
MOV pei,%4 yLOAD HIGH ORDER WITH i
OV 1e1,%441 LOAD LOW ORDER WITH =1
DIV 1e1,%4 iDIVIDE BY #=1
MFPS  B8PSWORD iSAVE BS
CMPB  #0,R#PSWORD ;16 PS = @
BEQ 410
JsR BC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG
336
cMp $1,%4 ;15 QUOTIENT = 1
BEQ 410
Jsk BC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG
Y
cHp 10,8441 ;15 REMAINDER = © "
BEQ 410
JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT KOUTINE
$WRONG REMAINDER
340
Hov R1,R5 $sRESTORE RS
CMP (R5),#265 #
BEQ 410 ;IF IN WRONG SEQUENCE GO TO THE HLT
JSR BC, SHLT 1SEEN AN ERROR, GO TO TH HALT ROUTINE
{TEST IS IN WRONG SEQUENCE
341
INC (RS)



FKACA MACY11 38(1046) 04=AUG=77 14199 PAGE 84

FKACA 8RC 18=NOV=75 903100" DIV INSTRUCTION TESTS
3044 PR AR R G R R P R R RS R RN SRR RN PR R BN R RN B R RN DR BB R E R RN PSP PR DR R B RN B R R DR BB
3045 JITEST3266 DIV 25253 1 / #125252 = 1p00@Q REM = 1 Ps = 10
3046 PR Ty g T S 2 T 2 )
3047
3048 614076 p10701 TST2663 SCOPE
3049 614100 912700 025253 MOV #25253,%0 ;LOAD HIGH ORDER WITH 25253
3nS0 ©14104 912701 Q020001 MOV #1,%0+1 ;LOAD LOW ORDER WITH 1
3051 214110 p71027 125252 DIV #125252,%0 ;DIVIDE BY #125252
;052 $14114 106737 @0e432 MFPS @#PSWORD 3 SAVE PS
053
3054 c©14120 122737 000010 0R0432 CMPB #10,84PSWORD ;1S PS = {0
3055 514126 p61403 BEQ 10
3056 w14130 0V4767 002304 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3057 ;PS5 IS WRONG
3058 @14134 000342 342
3059
3060 ©14136 22700 100000 CMP #100000,%0 ;15 QUOTIENT = 190900
3061 914142 po1423 BEQ 2410
3062 w©14144 004767 002270 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3063 sQUOTIENT 1S WRONG
3064 914150 P90343 343
3065
® 3666 14152 022721 002001 CMP #1,%0+1 ;IS REMAINDER = 1}
3067 @14156 p¥1403 BEQ %10
3068 214160 004767 022254 JSR PC, 8HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
3069 ;WRONG REMAINDER
30780 014164 po0344 344
3071 ¥14166 0821527 v00266 CMP (R5),#266
a 3072 e14172 91433 BEQ 210 ;IF IN WRONG SEQUENCE GO TO THE HLT
3073 ©14174 094767 002240 JSR PC, §HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
307¢ 3TEST 18 IN WRONG SEQUENCE
3075 §14200 922345 345
3076 ¥14202 pPO5215 INC (RS)
3077

'FKACA MACY11 3p(1046) 04=AUG=77 14199 PAGE 85

'FKACA , SRC 18=NOV=TS 00300 DIV INSTRUCTION TESTS
3078 FO U U A0 U TR0 0 00 00 000 0 3 0 26 35 00 0 00 00 06 30 90 30 90 30 36 3 00 30 40 30 0 00 3 9 0 0 00
3079 JTEST1267 DIV 37777 77777 / #171771 = 11317 REM = 77776 PS = 0
3080 IRAZ AT T 2 A2 2 AL 2 2L R RS XA 22T 22 LIS IS ST I LIILT LT LA L L
3081
3082 ©14204 010701 TST267: SCOPE
3083 914206 012792 837777 MOV $37777,%2 ;LOAD HIGH ORDER WITH 37777
3084 914212 912703 877777 MOV #77777,%2+1 ;LOAD LOW ORDER WITH 77777
3085 14216 071227 077777 DIV £77777,%2 ;DIVIDE BY #77777
3086 914222 106737 p0R432 MFPS  @#PSWORD ;SAVE PS
3087
3088 914226 122737 000000 @00432 cuPB 40, @#PSWORD ;18 PS = @
3089 £1423¢ 901403 BEQ o410
3090 (14236 pv4T67 002176 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3091 ;P8 IS WRONG
3092 @14242 POBI46 346
3093
3094 914244 522702 077777 cmp $77777,%2 ;I8 QUOTIENT 3 77777
3095 914250 91493 BEQ L+10
3096 14252 V4767 002162 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3097 JQUOTIENT IS WRONG
3098 914256 08347 347
3999
. 3160 014260 922703 977776 cup £77776,%2¢1 ;15 REMAINDER = 77776
3101 ©14264 pu1403 BEQ o+l
3102 P14266 PR4T6T Q02146 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3103 $WRONG REMAINDER
3104 814272 00350 350
3105 014274 021527 006267 cMP (RS),#267
3106 014300 pO1403 BEQ o410 ;IF IN WRONG SEQUENCE GO TO THE HLT
w 3107 614302 24767 902132 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3108 $TEST IS IN WRONG SEQUENCE
3109 014306 009351 351
3110 914310 p95215 INC (RS)
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JFKACA 4 SRC 18oN0OVeT5 00500 DIV INSTRUCTION TESTS
3112 ,."iiii‘llh*"ihl"iiﬁ"'ﬁli‘*ﬂi'lil‘".il*Gll'&*""l*i*ii‘ll"““”’
3113 JTEST1270 p1V ® 100000 / $2 = 40000 REM = 8 PS @ 0
3114 PR RN R PR PR R R R SR L URE PRI R R R R AR BB R R BR DR R DS B B R R R DD B PR R R DB B RN U
3115
3116 p14312 p1pTatl TST2761 SCOPE
3117 p14314 piesel MOV RS, R 7SAVE RS
3118 014316 912704 000000 MOV #0,%4 7LOAD HIGH ORDER WITH @
3119 14322 12705 100000 MoV $100000, %451 ;LOAD LOW ORDER WITH 100009
3120 p14326 071427 000002 DIV 42,84 jDIVIDE BY #2
3121 014332 106737 000432 MFPS3 @4PSWORD 18AVE P8
3122
3123 914336 122737 00QN00 00432 CMPB #2, @#PSWORD ;18 PS = @
3124 514344 91403 BEQ W +10
3125 914346 04767 002066 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3126 ;P8 18 WRONG
3127 ©14352 800352 382
3128
3129 p14354 22784 040000 cMP 540000, %4 ;IS QUOTIENT = 40000
3130 914360 po14ald BEQ W10
3131 B14362 004767 002052 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3132 ;QUOTIENT IS WRONG
3133 014366 99a3S3 353
3134
3135 914370 22705 000000 cMP $0,%441 ;15 REMAINDER = 0 #
3136 p14374 51403 3EQ +10
3137 214376 04767 202036 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3138 ;WRONG REMAINDER
3139 214402 00354 354
3140 wi4404 p1pies MOV R1,RS ;RESTORE RS
3141 914406 21527 00270 cMP (RS),#270 -
3142 016412 pR1423 BEQ W10 ;IF IN WRONG SEQUENCE GO TO THE HLT
3143 914414 24767 202020 JSR PC, $HLT EEN AN ERROR, GO TO TH HALT ROUTINE
3144 ;TEST IS IN WRONG SEQUENCE
3145 614420 pOL3ISS 355
3146 014422 25215 INC (RS)
3147

DFKACA MACY11 33(1046) @4=AUG=77 14i99 PAGE 87

DFKACA,SRC 18=N0V=75 90100 DIV INSTRUCTION TESTS
3148 L T Yy e e F e e e e e 2 T 1 2
3149 3TEST:271 DIV 177777 77777 7 177176 = 40090 REM = 177777 PS = 0
3159 PR R RER BB R R R E BB SRR R B RN PR RSB R IR R R R R RN R R AR RERRR SR F RS
3151
3152 €14424 pip701% TST271% SCOPE
3153 14426 912720 177777 MOV #1771777,%0 s LOAD HIGH ORDER WITH 177777
3154 514432 p12701 077777 MoV #77777,%0+4 ;LOAD LOW ORDER WITH 77777
3155 ©£14436 871027 177776 DIV #177776,%0 sDIVIDE BY #177776
3156 ©14442 106737 000432 MFPS @#PSWORD ;SAVE PS
3157
3158 £14446 122737 p0APOAOA 000432 CMPB #0,9#PSWORD ;IS PS 3 0
3159 P14454 po1403 BEQ 2410
3160 14456 pR4767 BO1756 “JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3161 ;PS5 15 WRONG
3162 0614462 pOR3S6 356
3163
3164 p14464 922790 940009 CMP #40000, %0 ;15 QUOTIENT = 40000
3165 #14470 pP1403 BEQ 2410
3166 wv14472 234767 801742 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3167 ;QUOTIENT IS WRONG
3168 B14476 o357 357
3169
3170 p14520 g22761 177777 CMP #177777,%0+1 ;1S REMAINDER = 177777
3171 914504 p@1493 BEQ 10 Al
3172 514506 604767 001726 JSR PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
3173 ;WRONG REMAINDER
3174 914512 p0AD3I6O 369
3175 p14514 921527 090271 CMP (R5), 4271
3176 214520 po1493 BEQ ot10 ;IF IN WRONG SEQUENCE GO TO THE HLT
3177 214522 94767 001712 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE ®
3178 ;TEST IS IN WRONG SEQUENCE
3179 @14526 pep3I6L 361
3180 @14530 po5215 INC (RS)

3181
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DFKACA . SRC 18=N0V=75 00100 DIV INSTRUCTION TESTS
3181 ’ﬂ"illl'l!li’bﬁbllblu‘llli‘l’“l"!ll.l‘l’!nliﬁl'ii.l&&hiﬂlﬂ..l&!l.i.
3nes 3TEST1272 D1V @ 52525 / #52525 = 1 REM & 0 PS = D
3]8‘ )l!li'h&!li’&ﬂ’billi0'!&&&.ii&lli’&".lbhill.&lll'lliili'li.l.&&'ﬁ.‘i
3188
3186 ©14532 p1o701 TST272¢ SCOPE
3187 ©14534 12792 00000A MOV $0,%2 ;LOAD HIGH ORDER WITH @

3188 014540 P12743 52525 HOV $52525,%2+1 ;LOAD LOW ORDER WLTH 52525
3189 914544 P71227 052525 DIV $52525,%2 jDIVIDE BY #52525
3190 614550 106737 008432 MFPS @#PSWORD ;SAVE P8
3191 ,
3192 814554 122737 Q00000 070432 CMPB #0,R#PSWORD ;IS PS ® @
3193 514562 201403 BEQ o410
3194 514564 924767 001650 JSR PC, $HLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
3195 }P8 I8 WRONG
3196 614570 800362 362
3197
3198 414572 922792 000001 CHP #1,%2 ;IS QUOTIENT = 1§
3199 ©14%76 991403 BEOQ L +10
3200 ©14600 004767 001634 JSR PC, SHLT s8EEN AN ERROR, GO TO TH HALT ROUTINE
3201 ;QUOTIENT IS WRONG
3202 @14604 900363 363
3203

® 3204 214606 ©22783 000000 cHP #0,%2+1 715 REMAINDER = @
3205 wi14612 pu1ddd BEQ o190
3206 P14614 9O4767 001620 JSR PC,8HLT ;s SEEN AN ERROR, GO TO TH HALT ROUTINE
3207 3WRONG REMAINDER
3208 014620 PAOD364 364
3209 ©14622 821527 000272 cMP (RS5),#272

- 3210 214626 091423 BEQ o+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
3211 014630 ne4To7 01604 JSR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3212 ;TEST IS5 IN WRONG SEQUENCE
3213 914634 800365 365
3214 514636 pv5215 INC (R5)
3215
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DFKACA,SRC 18=NOV=75 pO100 DIV INSTRUCTION TESTS

3216 ,ib.ﬂuIli&‘iilﬂlllilllii'G"lliﬁhii‘ﬂd"!.iili'ﬁiin’il"!'!lll!b‘.“i
3217 JTEST1273 DIV @ 77777 / %0 = DUMMY REM = DUMMY PS = 3
3218 |".lii!i'!l!ll’illll.hl!‘Gi'liﬂ!‘llbb'!&'i*“l&b'!l#ull.'iii..&.“l"
3219
3220 014640 p1o701 TST273t SCOPE
3221 14642 102501 MOV R5,PR1 ;s SAVE R5
3222 ©14644 212704 000000 MOV +0,%4 ;LOAD HIGH ORDER WITH 9
3223 14650 w12785 077777 MOV #777770%4+1 3;LOAD LOw ORDER WITH 77777
3224 w14654 71427 000000 DIV #0,%4 ;DIVIDE BY #9
3225 114662 106737 0200432 MFPS @#PSWORD ;SAVE PS

rd 3226 914664 P42737 000014 Q00432 BIC #14,@4PSWORD

4 3221
3228 ¢¥14672 122737 Q00003 POV432 CMPB #3,8¥PSWORD 316 P8 8 3
3229 014700 po1403 BEQ o +10
3232 #14792 24767 001532 JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3231 ;P8 15 WRONG
3232 014706 020366 366
3233
3234 414712 1005 MOV R1,RS ;RESTORE RS
3235 ©14712 821527 000273 CMP (R5),#273
3236 14716 ©21493 BEQ o +10 ;IF IN WRONG SEQUENCE GO TO THE HLT
3237 214720 904767 001514 J8R PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE

, 3238 ;TEST 1S IN WRONG SEQUENCE

3239 #14724 poede?l 367
3242 ©14726 905215 INC (RS)
3241
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DFKACA, SRC

3242
3243
3244
3245
3246
3247
3248
3249
3250
3251
3252
3253
3254
3255
3256
3257
3258

DFKACA

914730
614732
914736
914742
£14746
914752

814760
014766
B14770
614774
214776
215002
915004

815010
015012

MACY11

DFKACA.SRC

3266
3267
3268
3269
3279
32N
3272
3273
3274
3275
3276
3277
3278
3279
32080
3201
3282
3283
3204
3285
3286
3287

215014
p15020
815024

f15030
215032
915036
915042
915046

$15052
815060
P15062

015066

915070
915074
8150676

615102

$15104
e15110
915112

915116
915120
915124
915126

615132
$15134

18=NOV=75

p1o701
912700
812701
971027
106737
042737

122737
901403
804767

0903790

p21527
po1403
594767

990371
885215

38(1046)
18=NOV<7S

812702
912703
p12704

p1a701
912700
g12701
871067
196737

122737
po1493
904767

800372

8227090
po1403
904767

890373

822791
991403
904767

0980374
821527
991403
0904767

9B0O375
995215

00108

077717
177717
200002
000432
200014
008002

901444

000274

901439

04«=AUG=77

00100
000002

000474
000476

000000
252525
163426
000432
900200

901352

925252
901336

9000091

901322

000275
001306

#0p432
200432

200432

DIV INSTRUCTION TESTS

IR TTT IR AT T 2R P2 ER T PR IR SRS S S S22 222 2 L ad bt id Al S b g il il il it

ITEST1274 DIV 71777 177777 / #2 = DUMMY REM = DUMMY
JUBBUR RN BSFRRRE R SRS BR SRR G BB BRI wH L2423 4 ¥ * #
TST2741 SCOPE

MOV #77777,%0 ;LOAD HIGH ORDER WITH 77777

MOV #177717,%0+1 ;LOAD LOW ORDER WITH 177777

DIV 42,39 sDIVIDE BY #2

MFPS @#PSWORD 7SAVE PS

BIC $14,@4PSWORD

cMPB #2,@#PSWORD ;15 P§ = 2

BEQ 0410

JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

;P8 IS WRONG

370

cMp (R5), 8274

BEQ ;IF IN WRONG SEQUENCE GO TO THE HLT

o +10
JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE
371
INC (RS)

14199 PAGE 91

DIV INSTRUCTION TESTS

MOV #2,%2
MOV $89,%3
MOV #510,%4

R T L L bttt IS TR LS IR SRR SR L L L]
JTEST1275 DIV @ 52525 / 89 = 25252 REM = { PSS = 0
R Ty s e T e a2 e e i

T8T2751 SCOPE
MOV

10,%0 ;LOAD HIGH ORDER WITH ¢

MOV #52525,%0+1 ;LOAD LOW ORDER WITH 52525

DIV 59,30 ;DIVIDE BY §9

MFPS #8PSWORD 3SAVE PS

cMPB $0,a¥PSWORD ;IS PS = @

BEQ o+10

JSR PC, §HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

372

cup $25252,%0 ;18 QUOTIENT = 25252

BEQ o +10

JSR PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

373

cHP #1,%0+1 ;18 REMAINDER = 1

BEQ o +10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

374

CMP (R5), 4275

BEQ . +10 ;IF IN WRONG SEQUENCE GO TO THE HLT

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

375

INC (RS)

PS = 2




DFKACA

MACY11

DFKACA ,SRC

3304
3305
3306
3307
3308
3309
3310
3311
3312
3313
3314
3315
3316
3317
3318
3319
3320
3321
3322
3323
3324
3325
3326
3327
3328
3329
3330
3331
3332
3333
3334
3335
3336
3337

715136
015140
#15144
215150
v15154

£15160
515166
815170

915174

915176
515202
©15204

£15210

15212
w15216
©»15220

#15224
015226
§15232
w15234

©15240
©15242

3Ip(1046)
18=N0V=75

010701
912700
812701
871077
106737

122737
081403
@84767

poO376

P22709
Pv1423
P04767

000377

g22701
ep1403
004767

9oP400
821527
901403
084767

2230401
pv5215

DFKACA MACY1! 3p(1046)
DFKACA,SRC

3338
3339
3340
3344
3342
3343
3344
3345
3346
3347
3348
3349
3350
3351
3352
3353
3354
3355
3356
3357
3358
3359
3360
3361
3362
3363
3364
3365
3366
3367
3368
3369
3370
3371

615244
615246
815252
015256
©$15262

¥15266
515274
615276

815302

p15304
¥15319
$15312

£15316

©15320
015324
215326

#15332
915334
$15340
915342

215346
215350

18eN0Ve7S

s10701
$12709
B12701
671037
106737

122737
801493
pO4767

890402

922700
801403
pP4767

poP403

822701
801493
824767

po0G404
821527
901403
904767

pB0405
ves5215

¥4=AUG=T7

09100

000000
052525
163322
900432
000000

001244

0925252
001230

000001

921214

800276

001209

#A4=AUG=T7
4

90300

000900
952525
000474
900432
200000

091136

025252

001122

200001

291106

200277

291072

0009432

000432

14199 PAGE 92

DIV INSTRUCTION TESTS

SOOI 0000000000000 00000 00000 0000
JTEST1276 DIV @ 52525 / 8510 = 25252 REM = 1 PS =
R R L T T A T R 2 2 2]

T5T2763 SCOPE
MOV

40,30 ;LOAD HIGH ORDER WITH @

MOV #52525,%0+1 ;LOAD LOW ORDER WITH 52525

DIV #510,%0 3DIVIDE BY 8510

MFPS @#PSWORD 7SAVE PS

cMPB #0, @#PSWORD ;18 PS 5 @

BEQ o +10

JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;P8 15 WRONG

376

cMP $25252,%0 ;18 QUOTIENT = 25252

BEQ S +10

JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

377

cMP 11,3041 ;15 REMAINDER = 1

BEQ 2410

JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

400

cMp (R5), #276

BEQ S+10 ;IF IN WRONG SEQUENCE GO TO THE HLT

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

401

INC (RS)

14109 PAGE 93

DIV INSTRUCTION TESTS

e s Y A T I At e A T I 2 T e R T L)
ITEST1277 DIV @ 52525 / @#sS9 = 25252 REM = | Ps =
AR A T A R R e s a2 e e e e

TST2773 SCOPE
MoV

40,30 ;LOAD HIGH ORDER WITH 9

MOV $52525,%0+1 ;LOAD LOW ORDER WITH 52525

DIV 8459,30 ;DIVIDE BY @#S9

MFPS @#PSWORD 7SAVE PS

CMPB #0,@4PSWORD ;IS PS = 0

BEQ W +10

JSR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTIME
;PS5 1S WRONG

402

cHP $25252,%0 $1S QUOTIENT = 25252

BEQ J+10

JSR PC, $HLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

403

cHP $1,%0+1 ;1S REMAINDER = {

BEQ o410

JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
sWRONG REMAINDER

404

CMP (R5),#277

BEQ W +10 ;IF IN WRONG SEQUENCE GO TO THE HLT

JSR PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
3TEST 1S IN WRONG SEQUENCE

405

INC (RS)

]



DFKACA

MACYL1

DFKACA,8RC

3372
3373
3374
3375
3376
3317
3378
3379
3380
3381
3302

DFKACA

815352
515354
#15360
015364
915366

615372
815400
$#15402

815406
pis54i0

915414
515416

| 915422

015424
815430
015432

915436
w15440
P15444
315446

615452
¥15454

MACYL1

DFKACA, SRC

3406
3407
3408
3409
3410
3411
3412
3413
3414
3415
3416
3417
3418
3419
3420
3421
3422
3423
3424
3425
3426
3427
3428
3429
3430
3431
3432
3433
3434
3435
3436
3437
3438
3439

915456
215460
815464
015470
915472

815476
815504
#15506

©15512

615514
615520
¥15522

$15526

015530
#15534
915536

215542
815344
915550
915552

915556
915560

3g(1046)
18=N0VsT7S

p1e701
012790
p12701
871002
1667317

122737
941403
804767

800496

922702
501403
0994767

800407

922701
po1403
024767

POO410
821527
po1493
004767

po0411
085215

3901046)
18=NOVeT5

12721
#1272
©12791
671023
126737

122737
©V1403
pB4767

900412

022709
901443
po4T67

pOD413

922701
pY1403
804767

pP0414
821527
#91493
pB4767

90415
905215

04=AUG=77

60100

000000
052528

000432
009000
001032

025252
001016

LI 133

801002

000300

900766

24=AUG=77

00300

800000
052525

900432
200000
200726

925252

900712
©¥0Pe001
000676

000301

090662

900432

000432

14199 PAGE 94

DIV INSTRUCTION TESTS

R eI T e T R T e L Ry ey e e e S et i ]
1 TEST300 DIV 0 52525 / %2 = 25252 REM ® | PS =z @
T T T T R e L T T T T T A T S A T R S LA T L

T8T3001 SCOPE
MOV

80,40 jLOAD HIGH ORDER WITH ©

MOV $52525,%0+41 JLOAD LOW ORDER WITH §2525

DIV 52,40 sDIVIDE BY %2

MFP8  @WPBWORD JSAVE PS

CMPB  #0,8#PSWORD 118 P8 = 0

BEQ o410

JBR PC, $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;P8 I8 WRONG

406

cMP #25252,%0 318 QUOTIENT = 25252

BEQ 10

JSR PC, SHLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
JQUOTIENT IS WRONG

407

cMP #1,3041 $15 REMAINDER = 1§

BEQ o410

JSR PC, $HLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

410

CcMP (R5), 4300

BEQ ,+10 ;IF IN WRONG SEQUENCE GO TO THE HLT

JSR BC, gHLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
$TEST I8 IN WRONG SEQUENCE

411

NG (RS)

14109 PAGE 9

5
DIV INSTRUCTION TESTS
R s L T et 2 AT T R 2L a2l it
3TEST3304 DIV @ 52525 / (3)+ = 25252 REM = | PS =
Ry R R R e A A T e i aa e il

T5T3013 SCOPE
MOV

19,30 ;LOAD HIGH ORDER WITH @

MOV #52525,%0+1 ;LOAD LOW ORDER WLTH 52525

DIV (3)+,%0 ;DIVIDE BY (3)+

MFPS 2#PSWORD ;SAVE PS

cMPB $0, 88 PSWORD ;1S PS 5 @

BEQ o +10

JSR PC, 8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;P5 IS WRONG

412

CMP #25252/ %0 ;15 QUOTIENT = 25252

BEQ .+10

JSR PC, HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

413

cMP #1,%0+1 ;1S REMAINDER =

BEQ +10

JSR PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

414

CMP (R5),#301

BEQ o410 ;IF IN WRONG SEQUENCE GO TO THE HLT

JSR PC, HLT 7SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

413

INC (RS5)




DFKACA MACY1i 3p(1046)
DFKACA,SRC

3440
3441
3a42
3443
3444
3445
3446
3447
3448
3449
3450
3451
3452
3453
3454
3465
3456
3457
3458
3459
3460
3461
3462
3463
3464
3465
3466
3467
3468
3469
3470
3471
3472
3473

DFKACA

¥15562
915564
215570
815574
015576

©15692
©15610
915612

015616

£15620
915624
v15626

#13632

#15634
#15640
915642

€15646
©¢15650
915654
915656

615662
©15664

MACY11

DFKACA,SRC

3474
3475
3476
3477
3478
3479
3480
3481
3482
3483
3484
3485
3466
3487
34868
3489
3490
3491
3492
3493
3494
3495
3496
3497
3498
3499
3500
3501
3502
3503
3504
3505
3506
35017

415666
15670
©15674
815700
ei15704

€15710
¥15716
®15720

#15724

915726
615732
©15734

$15740

915742
215746
215750

915754
#15756
915762
915764

615770
915772

18eNQVeTS

pila7ot
912790
312701
B71043
106737

122737
po14@3
084767

pBO416

822700
p¥i4a3
po4767

pRB4LT

022701
8014983
Go4767

900420
521527
201493
we4767

popd2tl
BP5215

3p(1046)
18=N0V=T75

g1p701
812700
p127a1
871064
106737

122737
o81403
804767

Bpo0422

922709
ey403
304767

$#00423

022701
9014903
004767

po2424
921527
gol4e3
oR4aT67

900425
po5215

@4=AUG=77

00300

nvoVde
982525

000432
900000

900622

0925252
000606

000001

©¥09572

000302

©¥008556

24=AUG=77

82320

000000
052525
anpve2
©¥0P432
200000

0ep514

0925252
000500

000601

000464

¥90303

000450

Q0432

000432
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DIV INSTRUCTION TESTS

SPRB BB RR BN R R R RP R RSB HBRGRRRR SRR P BB R G R DB R R R R BN R DR L LR RBBBRRRB R R R RE

1TEST3302 D1V 0 52825 / =(3) = 25252 REM = § PS &
R T T T e L T L T T T L L L T T T e T e )

T8T3021 8COPE
MoV

10,%0 ;LOAD HIGH ORDER WITH @

Moy $52525,80+1 jLOAD LOW ORDER WITH 52525

DIV «(3),40 JDIVIDE BY =(3)

MFP3 @#PSHORD 18AVE P8

cMPB #0,@4PSHORD 718 PS 5 @

BEQ 2410

JBR PC, SHLT ;8EEN AN ERROR, GO TO TH HALT ROUTINE
;P8 15 WRONG

416

cHp #25252/%0 318 QUOTIENT 3 25252

BEQ 10

JSR PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
7QUOTIENT I8 WRONG

417

cMp #1,%0+1 318 REMAINDER = {

BEQ o410

JSR PC, $HLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
JWRONG REMAINDER

420

cMP (RS), #302

BEQ W40 ;IF IN WRONG SEQUENCE GO TO THE HLT

JSR PC, HLT ;BEEN AN ERROR, GO TO TH HALT ROUTINE
JTEST 1S IN WRONG SEQUENCE

421

INC (RS)

14399 PAGE 97

DIV INSTRUCTION TESTS

R L e R ittt ittt bt nd it a2 TI2 I AT 2 2R 2 2L L
3TEST1303 DIV 0 52525 / 2(4) = 25252 REM = P =
AR T R e g S S AR A A T T AR 22 2 e 22 L L)

TST3931 SCOPE
MOV

40,%0 ;LOAD HIGH ORDER WITH ¢

MOV #52525,%0+1 ;LOAD LOW ORDER WITH §2525

DIV 204),%0 ;DIVIDE BY 2(4)

MFPS @#PSWORD ;SAVE PS

cHPB #0,@4PSWORD ;16 PS = 0

BEQ L4110

JBR PC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS5 IS WRONG

422

cHp $25252,%0 318 QUOTIENT = 25252

BEG 410

JSR PC, SHLT $SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

423

cmp $1,%0+1 18 REMAINDER = 1

BEQ ,+10

JSR PC, SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
7WRONG REMAINDER

424

cMP (RS), 4303

BEQ 2410 ;IF IN WRONG SEQUENCE GO TO THE HLT

J8R PC, SHLT 7SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST 1S IN WRONG SEQUENCE

425

INC (R5)




DFKACA MACYi1 3p(1046)
DFKACA;SRC

3508
3509
3519
35114
3512
3513
3514
3515
3516
3517
3548
3519
3520
3521
3522
3523
3524
3525
3526
3527
3528
3529
3530
3534
3532
3533
3534
3535
3536
3537
3538
3539
3540
3541

815774
@15776
916002
$16006
£16012

616016
916024
816926

016032

516034
916040
816042

016046

$16050
916054
216056

616062
016064
616070
616072

816076
916109

18eNOV=75

#1701
812700
612721
871074
186737

122737
801403
BP4T67

800426

922700
Bd14p3
004767

886427

822701
po1403
204767

00430
p21527
961403
p04767

600431
895215

DFKACA MACY11 38(1046)
DFKACA,SRC

3542
3543
3544
3545
3546

#16102
916194
9161190
816114
916116

516122
2161390
€16132

£16136

916140
816144
916146

816152

$16154
216160
916162

916166
216170
916174
$16176

916202
916204

18eNOVeTS

912791
912720
812701
871034
106737

122737
P1493
604767

000432

022700
Bo1403
004767

0oB433

022701
po1493
904767

po0434
921527
9914903
904767

pOR435
po5215

04=AUG=T77

00300

000000
952525
000000
200432
200000

200406

025252
000372

000001
000356

000304

000342

B4=2AUG=77

003100

000000
0952525

000432
P00000
000302

0925252
090266

#00001

0008252

900305

800236

800432

000432

14199 PAGE 9

8
DIV INSTRUCTION TESTS

Bl A a2 LT AT T T T e e e T T T T T )
DIV @ 52525 / @(4) = 25252 RgM = PS =
A T R e e Ty

JTESTs304

TST304:1 SCOPE
MoV

MOV
DIV
MFPS

CMPB
BEQ
JSR
426
CMP
BEQ
JSR
427
CMP
BEQ
JSR
430

BEQ
JSR

431
INC

143199 PAGE 99

#0,%0
#52525,%0+1
8(4),%0
@4PSWORD

#0,@4PSWORD

o410
PC,SHLT

#25252,%0
o +10
PC,8HLT
#1,%0¢1

2416
PC,8HLT

(R5),#304
o +10
PC, HLT

(R5)

DIV INSTRUCTION TESTS

sLOAD HIGH ORDER WITH @

sLOAD LOW ORDER WITH 52525

sDIVIDE BY @(4)

38AVE PS

;IS Ps = 0

38EEN AN ERROR, GO TO TH HALT ROUTINE
;P8 1S WRONG

;IS QUOTIENT = 25252

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

;15 REMAINDER = 1

;SEEN AN ERROR, GO TO TH HALT ROUTINE
3WRONG REMAINDER

;IF IN WRONG SEQUENCE GO TO THE HLT
3 SEEN AN ERROR, GO TO TH HALT ROUTINE
3TEST 1S IN WRONG SEQUENCE

FHERB SRS RB R BBR SR B RSN PR B RN R RS

3TEST3305

DIV 9 52525 / e(4)+ = 25252

PHEB SRR BB AR S PP E DRSS B BB N R R R RN DR B BB R SR BB R R DR BB DU HBR R BB B B BRSNS

TST3@58 SCOPE
Mov

MoV
DIV
MFPS

CMPB
BEQ
JSR
432
CMP
BEQ 7
JSR
433
CHP
BEQ
JSR
434

BEQ
JSR

435
INC

#0,%0
#52525,%0+1
8(4)+,%0
@#PSWORD

#0,@4PSWORD
W10
PC,8HLT

#25252,%0
2410
PC, $HLT

11,3041
10
PC, SHLT

(R5), 4305
,+10
PC, $HLT

(RS)

;LOAD HIGH ORDER WITH @
#LOAD LOW ORDER WiTH 52525
;DIVIDE BY 8(4)+

1SAVE PS

;15 PS = @
sSEEN AN ERROR, GO TO TH HALT ROUTINE
3PS IS WRONG

;15 QUOTIENT = 25252

$SEEN AN ERROR, GO TO TH HALT ROUTINE
;QUOTIENT IS WRONG

;15 REMAINDER =

sS8EEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

sIF IN WRONG SEQUENCE GO TO THE HLT
;SEEN AN ERROR, GO TO TH HALT ROUTINE
sTEST IS IN WRONG SEQUENCE

REM = 1 Ps =0
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DFKACA, SRC 18=N0V=75 p03100 DIV INSTRUCTION TESTS

3576 ,!li".i'blii‘&“ilhi*diiilili'*’h'i’ili&l!ﬂiﬁ!il*ii&iﬁllﬁ.ﬂDQQ&.QO’*Q
3577 1TEST1306 DIV ® 52525 / @e(4) = 25252 REM @ | PS = @
35786 RN R R R R R R R E R R R R BN RSN R SR E R R PRI R R BB BB RN RN R R R R DR RRR BB R BN RS
3579
3580 016206 19791 TST306% SCOPE
3581 w16210 12790 000000 MOV #0,%0 ;LOAD HIGH ORDER WITH @
3582 916214 12791 952525 MOV #52525,%0+1 sLOAD LOW ORDER WLTH 52525
3583 ©16220 71054 DIV 8=(4),%0 ;DIVIDE BY @=(4)
3584 916222 106737 000432 MFPS @4#PSWORD ;SAVE PS
3585
3586 @16226 122737 090000 000432 CMPB #0,@4#PSWORD jIS PSS = 0
3587 016234 091403 BEQ W+10
3588 16236 994767 000176 JSR BC,y SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3589 ;PS IS WRONG
3596 ¢#16242 pBO436 436
3591
3592 216244 922700 025252 cMP #25252,%0 ;IS QUOTIENT = 25252
3593 16250 pO1403 BEQ W10
3594 916252 PV4767 009162 JSR PC, SHLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
3595 jQUOTIENT IS WRONG
3596 16256 Q02437 437
3597

# 3598 916262 B22701 0QUAVR1 CMP ¥1,30+1 315 REMAINDER =
3599 @16264 Y1403 BEQ 2410
3600 16266 p@4767 Q00146 JSK PC, $HLT 3SEEN AN ERROR, GO TO TH HALT ROUTINE
3601 ;WRONG REMAINDER
3602 ©16272 PPO44R 440
3603 16274 921527 000306 cMP (RS), %306

L 3604 016300 #01403 BEQ o +10 ;IF IN WRONG SEQUENCE GO TO THE HLT
3605 ©16302 wvdT767 00132 JSR PC, §HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3606 ;TEST IS IN WRONG SEQUENCE
3607 616306 poRI4L 441
3608 16310 V5215 INC (RS5)
3609

DFKACA MACY11 39(1046) 04-AUG=77 14199 PAGE 101

DFKACA,SRC 18=N0Ve75 Q0300 DIV INSTRUCTION TESTS

3610 IR R T e R R I e AR T e R R R R I IS e e izl
3611
3612 +SBTTL END OF PASS ROUTINE
3613
3614 3#*INCREMENT THE PASS NUMBER ($PASS)
3615 }#TYPE "END PASS"
3616 s#IF THERES A MONITOR GO TO IT
3617 s#IF THERE ISN’T JUMP TO BEGIN
3618 ;#IF IT IS DESIRED TO HAVE A BELL INDICATE THE "END OF PASS"™ LOCATION
3619 3 #8ENDMG CAN BE CHANGED TO 7,
3620
3621 916312 SEOP:
3622 916312 p10701 SCOPE
3623 ¢16314 005267 162066 INC $PASS ;1 INCREMENT THE PASS NUMBER
3624 16320 pP42767 100000 162060 BIC #100000,8PASS 33DON’T ALLOW A NEG, NUMBER
3625 ©16326 205327 . DEC (PC)¢ ;1LOOP?
3626 B16330 pOVGAL SEOPCT: ,WORD 1
3627 616332 903015 BGT 8DOAGN s 1YES
3628 216334 12737 MOV (PC)+,8(PC)+ 3 tRESTORE COUNTER
3629 016336 pvaLD1 SENDCT: ,WORD 1
3630 ©16340 16330 $EOPCT
3631 ©16342 pOPOO4 016372 TYPE » 8ENDMG 33 TYPE "END PASS*

€ 3632 016346 $§GET42:
3633
3634 16346 13700 000042 MOV e*42,R0O 33GET MONITOR ADDRESS
3635 016352 901405 BEQ 8DOAGN 3 1BRANCH IF NO MONITOR
3636 ©16354 000005 RESET 3 1CLEAR THE WORLD
3637 ©16356 @472 SENDAD: JSR PC, (Ra) 33GO TO MONITOR
3638 916360 200240 NOP 3 1SAVE ROOM

» 3639 $16362 pB80240 NOP 33FOR
3640 216364 pP00242 NOP 3IACT1Y
3641 216366 S§DOAGN:
3642 016366 000137 000600 JMP @#BEGIN 3 sRETURN
3643 916372 p95015 047105 020104 SENDMG: ,ASCII <15><12>/END PASS/
3644 016400 040520 951523
3645 916404 317 n 990 SENULL! ,BYTE ®1,=1,0 3 INULL CHARACTER STRING
3646 P16419 +EVEN
3647
3648 916336 pRO409 ENDCT: 400
3649

) 3650

. 3651 JHIAA 1000 N B IR AT a2 *
3652
. 3653 +SBTTL POWER FAIL ROUTINE

. 4 3654
3655 016410 p12737 016420 000024 SPWRDN: MOV #8PWRUP, @424
3656 016416 pOBR0O HALT
3657
3650 P16420 P12706 000600 8PWRUPI MOV #BEGIN, SP $RESTORE THE SP
3659 216424 012737 016410 p00024 MOV #8PWRDN, 8424
3660 p16432 pOOGR4 000522 TYPE »POWER 3GO AND TYPE "POWER"

3661 ©16436 @80753 BR 8DOAGN
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DFKACA;8RC 18=NOV=75 90390 HALT ROUTINE
3662
3663 1A HALT ROUTINE
3664 [Rd eEsvwResaann
3665 1#
3666 e
3667 1A PROGRAM COMES HERE ON ENCOUNTERING ANY ERROR
3668 1e
3669
3670 16446 517637 00000 ©GOP402 EHLTI . MOV @(8P),@#8FATAL ;PLACE THE ERROR NUMBER AT LOCATION SFATAL
3674 @©16446 932777 020000 162026 BIT #20000, @BWR jHA8 THE OPERATOR ASKED TO SUPRESS ERROR TYPE OUTS
3672 16454 O104b BNE 68 )
3673 516456 popPeds 00514 TYPE »8CRLF 3GO AND TYPE A CR, LF, FOLLOWED BY 3 SPACES
3674 ©16462 910046 MOV RO,=(8P) $}SAVE Ro :
36735 @16464 112767 000002 161757 MOVB #2,8TPCNT jALLOW TYPE QUTS OF PC AND ERROR NUMBER
3676 016472 B166p2 000002 MOV 2(8P),Ro 3}BRING THE RETURN PC IN RO
3677 ©16476 162700 000204 8uB #4,R0
3678 p16502 112737 009096 000450 263 MOVB #6,08TYPCNT $ALLOW TYPE OUT OF 6 DIGITS
3679 916510 pUS046 CLR w(5P)
3680 616512 poL241 483 cLc
3681 ©16514 06100 ROL RO
3682 16516 pe6116 ROL (8P) 3BRING THE C BIT FROM Ro IN (SP)
3683 216520 952716 pAQV6D BI8 #60, (SP) 3PREPARE TO TYPE IT OUT
3684 ©16524 pP4767 000130 JSR PC, 8TPCHR $AND GO TO OUT PUT A CHARACTER %
3685 @16830 p0o5016 CLR (8pP)
3686 $16532 pB6100 ROL RQ
3687 916534 pP6116 ROL (SP)
3688 116536 BO6102 ROL R
3689 H16540 po6116 ROL (SP)
3690 916542 185307 161702 DECB TYPCNT sHAS ALL THE 8IX CHARACTERS BEEN TYPED ? £
3691 216546 0901361 BNE 48 3 IF NOT THEN REPEAT FROM 48
3692 ©16550 905726 T8T (SP)+ ;RESTORE STACK POINTER
3693 p16552 pl7602 000002 nov 82(SP),Ro $PREPARE TO OUT pUT THE ERROR NUMBER
3694 216536 2PP004 0RO516 TYPE 1 8CRLF+2 3GO AND TYPE 3 SPACES
3695 916562 185367 161663 DECB STPCNT 3IF BOTH PC AND ERROR NUMBER HAS NOT BEEN
3696 016566 901345 BNE 28 jREPORTED THEN REPEAT FROM 28
3697 ©16370 pl26pe MOV (SP)+,Re $RESTORE R@
3698 P16572 193767 161622 681 TSTB SENV ;IF WE ARE NOT UNDER APT, THEN GO TO
3699 ©16576 pY14p3 BEQ 8s 188
37090 @816600 235237 pOV400 INC BREMSGTY jOTHERWISE INFORM APT, ABOUT SEEING THE ERROR
3791 16604 pBOT77 BR . ;AND LOOP
3702 016606 @085777 161670 881 T8T @SWR y)Is IT REQUIRED TO HALT ON ERROR ?
3793 916612 130001 BPL 108 sIF NOT THEN GO TO 108
3704 216614 802000 HALT
3705 £16616 962716 Q09002 1083 ADD #2,(8P) ;ADJUST THE RETURN ADDRESS
3706 ©16622 29247 RTS PC 3AND RETURN
DFKACA MACY1! 3p8(1046) 04=AUG=77 14399 PAGE 103
DFKACA,SRC 18eN0Ve75 00100 ASCIZ TYPE OUT ROUTINE
3707
3798 IR TYPE OUT ROUTINE
3799 e R
3710 I
3711 [
32 124 THIS ROUTINE 1S USED TO TYPE ASCIZ MESSAGES
3713 1Ad
3714
3715 016624 p10046 §TYPE: MOV RO, =(SP) ;s SAVE RO
3716 916626 @17690 000002 MOV @2(SPY,R9 ;GET THE ADDRESS OF THE ASSCIZ STRING
3717 9816632 112046 282 MOVB (R@)+,=(SP) ;PUSH THE CHARACTER TO BE TYPED ONTU STACK
3718 816634 9Y1005 BNE 48 3BRANCH IF IT IS NOT THE TERMINATOR
3719 916636 9085726 TST (SP)+
3720 916640 912609 MOV (SP)+,R0 ;OTHERWISE RESTORE THE STACK AND RO
3721 @16642 662716 000002 383 ADD 42,(8pP) 3ADJUST THE RETURN PC
3722 016646 pPOGV2 RTL ;AND RETURN
3723
3724 016650 04767 000004 483 JSR PC,8TPCHR 3GO TO TYPE A CHARACTER
3725 916654 985726 TST (SP)+ ;RESTORE THE STACK POINTER
3726 816656 PYOT65 BR 28 ;AND RETURN TO 2§
3727
3728 (16660 132737 000040 000421 STPCHRS BITB #40,@1SENVM 3HAS THE CONSOLE OUTPUTS BEEN SUPPRESSED?
3729 916666 pO10R6 BNE 48 3IF SO THEN RETURN FROM THE SUBROUTINE VIA 4§
3730 016672 125777 161616 281 TSTB 88TPS 318 THE PRINTER AVAILABLE? ?
3731 216674 100375 BPL 28 3IF NOT THEN LOOP HERE
3732 016676 116677 00p002 161604 MOVB 2(SP),@8TPB 3OUT PUT THE CHARACTER
3733 916704 600207 483 RTS PC

3734 [LL LI +END
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DFKACA, 8RC 18=NOVw75 00100 BYMBOL TABLE
A s §16419 DISPRE 000174 TST163 004430 T8T247 012120 TTYOUT 000306
ABASE = po0QUA DUMMY = 9@poa0® T8T164 004272 T8T250 612212 TYPCNT 000450
ACDWy = @o000@ ENDCT 016336 T8T165 004530 T8T7281 012306 TYPE = pooeo4
ACDW2 = PP000D ENT176 005070 T8T166 004354 TST252 012402 SAPTHD 000430
ACPUOP= 900009 ENTS1 002462 TBT167 004604 T8T253 012474 6CPUOP Q00426
ADDWG = p290QA ERRNM = 000442 TET178 004642 T8T254 012566 SCRLF 000514
ADDHW{ = 230000 F & pOPa63 T8T171 004666 T8T255 012674 $DEVCT oo0410
ADDW{2s PPRVRA N = p00307 TET172 004714 T8T256 013002 $DOAGN 016366
ADDW] 1= $00000 NEGAT 022062 T8T173 004736 TST257 013144 SENDAD 216356
ADDWi22 502000 POWER 009322 TST174 004774 T8T260 913222 BENDCT 016336
ADDW1 33 202000 PSWORD 009432 T8T175 005030 T8T261 013330 SENDMG 916372
ADDW143 »p2R00 REGA1 203504 T5T176 005106 T8T262 @13442 BENULL 016404
ADDWi58 200009 REGY 001102 TST177 wveS5202 T8T263 013550 BENV 00420
ADDW?2 3 300000 REG2 001244 T8T200 005276 T8T264 013656 BENVM  po@421
ADDW3 = 820009 REG23 003706 T8T201 065376 T8T265 013764 SEQP 916312
ADDH4 3 pY0OQR@ REG3 021406 T8T202 005472 T8T266 014076 BEOPCT 916330
ADDWS = 500009 REG4 001546 TST203 005566 T8T267 014204 GETABL 000420
ADDW6 = pV00QQ REG45 004104 TST204 ©05666 T8T270 014312 SETEND 000430
ADDW] = 500000 REGS 001712 T8T205 @03762 TST271 @14424 SFATAL 000402
ADDWE 3 p0020D RESTRT 000222 T8T206 006106 T8T272 014532 8GET42 016346
ADDW9 = 220000 RITSH  po4312 TST207 006210 T8T273 014640 $HD = pppoe3
ADEVCT= 62009@ SCOPE = @1p701 T5T210 006312 TST274 014730 GHIBTS Q00430
# ADEVM & ©P0000 SCOPE1= 219701 T8T211 006414 TST275 015030 $HLT 216440
AENV B 900000 SCOPE3= 01p703 T8T212 ©06314 TST276 ©15136 SMAIL Q00400
AENVM 3 3p000n START 000740 TST213 006614 TST277 015244 $MBADR 000432
AFATAL= ppR0QY 8WR 000502 T5T214 906714 TST300 015352 S$MSGAD 000414
AMADR{z BPROYA SWREG  p0@176 T8T215 007016 TST301 015456 $MSGLG pop4l6
AMADR2® 980000 SWo9 = 001000 TST216 9237120 TST302 915562 SMSGTY 000400
B AMADR3= @pRRQd SWip = p@2000 T8T217 007220 T8T303 015666 $PASS 000406
AMADR4a $p002@ SWi1 = @go4000 151220 907320 TST304 015774 $PASTM 00R436
AMAMS 1z 500000 sW12 = plgeee TST221 07414 TST305 016102 $PWRDN 016410
AMAMS23 (00020 86 200452 T8T222 007510 T8T306 016206 $PWRUP 016420
AMAMS3= BQRR0Y 51 000454 T8T223 0207604 TST37 062110 $SETUP= poeg20
AMAMS43 HOv002 s10 000476 18T224 007704 T5T40 02144 ¢STUP = 177777
AMSGADz 2@veQ2 S11 900500 T8T225 010000 TST41 002160 $8VPC » 001000
AMSGLG= 392000 §2 080456 T5T226 010074 T8T42 002176 $SWR = 160000
AMSGTYz yoevew s3 000460 T5T227 010174 TST43 002232 $SWREG p00422
AMTYP{3 po00RA 54 000462 T8T230 910270 TST44 002264 S$TESTN 000404
AMTYP23 gu2000 85 000464 T8T231 910364 TST45 002316 $TN = ppo0R1
AMTYP32 (20000 56 000466 TST232 010460 TST46 02350 $TPB 200510
AMTYP4= pp00RD 57 Pvp470 T8T233 010569 T8T47 p02406 $TPCHR 016660
APASS © 420020 58 20472 157234 210654 TST50 202436 STPCNT 00451
APRIORs 520020 59 000474 TST235 010750 T8T51 002514 sTP8 000512
ASWREGs 239000 TEMPY 290434 TST236 011044 78752 002574 8TSTM 000434
ATESTNz aapooe TEMP2  p@@436 TET237 11144 TST53 002654 STYPE 016624
AUNIT = ppdovd TEMP3 000440 TST248 011240 TSTS54 002734 BUNIT  puo412
AUSWR 3 gadved TEMP4  pO0442 TST241 @11334 TS5TS5 903012 SUNITM 9P044D
AVECTi= 309009 TEMPS 000444 T5T242 011450 TSTS56 003070 BUSWR  oop424
AVECT2® 390009 TEMP6 000446 T5T243 011544 TSTS7 293146 . = 016706
BEGIN 930609 TST16@ 004346 TST244 011640 TST60 003226 8% = 009430
COUNT  ©2043A TST161 004374 TST245 011734 TS8T64 003306 '
DISFLA poo504 TST162 004412 TST246 012026 TST62 003364
. ABS, 1816726 200

DFKACA MACY1{ 3p(1246) 04=AUG=77 34109 PAGE 106
DFKACA,SRC 18=N0V=75 pR190 S5YMBOL TABLE

ERRORS DETECTEDs3 @

DFKACA,DFKACAZDFKACA,SRC/SOL
RUN=TIME: 10 11 ,2 SECONDS
RUNTIME RATIO: 21@/2239,5
CORE USED: 11K (21 PAGES)




